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Fs| W | K& | 28 #1E) () HEEW | HIEANESL | PR FEHFER FRAOH | REAO$H | RESET0D | E2E¥EE o)
1 [l | R 7] [ 4 WAL X JEZ 2 | SRR AT ek 1 =575 73 2 1 765. 0 765. 0
2 | ETT | Bl A I FH 4 WAL X EZ 2 | Rl EeR B i ek TR 1 1 765. 0 765. 0
3 | R | B I FH WA X JEES | TR LR B 5 K el A Bh=553h 3 3 2295. 0 2295. 0
4 [ ETT | Rl E AT H WAL X JEZ 2 | il ER PO el L 2 2 1530. 0 1530.0
5 |2 | B 7] [ 4 WAL X JEZ 2 | SRR PEH Jegkalk 1 S 1 1 765. 0 765. 0
6 | bR | B JA] FH 4 IRALAE X JE RS | IR ARAR YA B el =578 71 1 1 765.0 765. 0
7 | E | R A I FH WA X EES | TR 2 A ek 0 Bk 1 1 765. 0 765.0
8 | MiE | Bk & I FH 4 WALAXEE S | WKLk PRI Jeqelr W= 3 3 2295. 0 2295. 0
9 [T | i E I FH WAL X EE S | WKk EAie) el A TRy 1 1 765. 0 765.0
10 [ iR | R B 7] P A WAL X JEZ 2 | SR ER s ek 1 S 1 1 765. 0 765. 0
11 [l | R 7] [ 4 WALAE X JE RS | IRIARR iR Jegalk 1 g5 1 1 765. 0 765. 0
12 | AR | M I 4 WA X EES | iR LR LilSZ el A Gy 2 1 765.0 765.0
13 | ahETT | B B 7] FH WA X JEES | TR KT el A 52 1 1 765. 0 765.0
14 | pE | R B 7] FH 4 WA X EES | R IE LR KHE Jeqell I 4 4 3060. 0 3060. 0
15 | AT | BB JA] [ 4 WAL X JEZ 2 | SRR AR el 1 S 3 3 2295. 0 2295. 0
16 [ i | R E JA] FH 4R WAL X JEZ 2 | SR ER Kb ek 1 S 5 5 3825. 0 3825. 0
17 | E | R B 7] FH WA X EES | TR A Jeqenl TR 1 1 765. 0 765. 0
18 | AR | Bl B I FH 4 WAL XEZ 2 | iR KR ek TR 1 1 765. 0 765. 0
19 | abETT | B B 7] FH WA XEES | R LR 33 el A R 1 1 765.0 765.0
20 | AR | Rk JA] [ A TTHAXEZRS | SR ER P ek 1 S 4 4 3060. 0 3060. 0
21 | MR | Rk 7] [ 4 A EZR S | RIIRR (A= Jegkalk 1 g 2 2 1530. 0 1530. 0
22 | AT | R JA] FH 4R AL RS | IRTRAR TR el S 1 1 765.0 765. 0
23 | R | R I FH MHEAEXEES | RTIEAR T 58 el A R 1 1 765. 0 765.0
24 | AR | Fh R I FH 4 WHAXEERES | R ER BE g BRI 1 1 765. 0 765. 0
25 | MR | Rk JA] FH 4R WA XEZRS | SR ER PR el 1 S 3 3 2295. 0 2295. 0
26 | AT | Bk 7] [ A ALK RS | IRITRR BHEM el S 1 1 765.0 765. 0
27 | MR | R 7] [ 4 FHAEXEZRS | iR g ek 1 S 1 1 765. 0 765. 0
28 | AR | Fh R Ji] FH 4 WAL EZE S | WGk WO el P 1 1 765. 0 765.0
29 | R | B 7] FH WA XEES | R LR EZLAN el 1 R 3 3 2295. 0 2295. 0
30 | MR | Rk 7] [ 4 THAXEZRS | R ER WM ek 1 S 4 4 3060. 0 3060. 0
31 | )R | B A JA] [ 4 A X EZR 2 | SRR EAEAR ek 1 S 1 1 765. 0 765. 0
32 | MR | R JA] FH 4 FHAXEZRS | R ER W ERA ok 3] 4 4 3060. 0 3060. 0
33 | MR | B ] H 4 WA XEES | R IER A el 1 Gy 5 5 3825. 0 3825. 0
34 | AR | R R I FH WHAXEES | TR R PR Jeqenlk Bk 3 3 2295. 0 2295. 0
35 | NETH | R & I FH WAL X EZE S | WIKLR EAiMG el A Gy 1 1 765. 0 765.0




36 | AR | FhE I FH WHAXEES | R IER W Jeqell TR 2 2 1530.0 1530.0
37 | AR | R R I FH 4 WHAXEERES | R R W HHE Jeqelr I 1 1 765. 0 765. 0
38 | METH | R & I FH WA XEES | R LR EZtsl el A =555 1 1 765. 0 765.0
39 | MR | B 7] P A THAXEZRS | SRR R EL ek 1 =578 71 6 6 4590. 0 4590. 0
40 | AT | Rl 7] [ 4 A X EZR S | SRR Tt Jegalk 1 =578 73 2 2 1530. 0 1530. 0
41 | AR | B R I FH 4 WA XEES | RTIELR EF51 el 1 K2 1 1 765.0 765.0
42 | AR | Fh R 7] FH WA XEES | R LR 7 G el 1 =553 2 2 1530.0 1530.0
43 | LR | FR R 7] FH 4 WHAXEERES | R ER AR Jeqell By 1 1 765. 0 765. 0
44 | )R | B A JA] [ 4 A X EZ 2 | SRR WK ok 1 S 1 1 765. 0 765. 0
45 | MR | Rk JA] FH 4R ALK EZR S | IRIRR VFNAE ek 1 S 1 1 765. 0 765. 0
46 | R | B E i) H 4 WA XEES | R R A ek 0 =557 1 1 765. 0 765. 0
47 | AR | RR R Ji] FH 4 WHAXEERES | RTER 75 7K el 1 I 1 1 765. 0 765. 0
48 | niETH | R & 7] FH WA XEES | R LR % el A R 3 3 2295. 0 2295. 0
49 | AT | B JA] [ A AL RS | IRTRR Wl ° el [K] 2 4 3 2295. 0 2295. 0
50 | MR | RS 7] [ 4 X EZR S | RIRR kAT el S 5 5 3825. 0 3825. 0
51 | MR | BB JA] FH 4R FHAXEZRS | SR ER KEH el S 4 1 765.0 765. 0
52 | R | Ji] 4 MHEAEXEES | RTIEAR VL el 1 Bk 1 1 765.0 765.0
53 | AR | Fh R I FH 4 WHAXEERES | R ER KEE ek 0 Bk 1 1 765. 0 765. 0
54 | MR | Rk 7] FH 4R WA XEZRS | SR ER T el B 2 2 1530. 0 1530. 0
55 | IR | Rk 7] [ A ALK RS | IRITRR JEBRR) el =578 71 1 1 765.0 765. 0
56 | IR | Rl 7] [ 4 AL X ER S | RIIRR I ek 1 S 1 1 765. 0 765. 0
57 | AR | FR R I FH 4 P X EES | WER R Jeqelr P 3 3 2295. 0 2295. 0
58 | R | B I 4 A X EES | R iR el 1 Bh=553h 3 3 2295. 0 2295. 0
59 | MR | Rk JA] FH 4 AL X E RS | SRR WHE ek 1 oAt 1 1 765. 0 765. 0
60 | Wl)ETH [ B A JA] [ 4 AL X E 2 | SRR FAELS ek 1 =555 73 4 4 3060. 0 3060. 0
61 | MR | R 7] [ A AL X EZR S | R RR WwHES el 1 S 5 1 765. 0 765. 0
62 | MR | B E Ji] 4 A X EES | R IE LR WIKAR ek 0 P 1 1 765.0 765.0
63 | AR | R R T 4 A X EES | R A gl BRI 1 1 765. 0 765. 0
64 | nETH | R & I 4 A X EES | R Sk el A Bh=555h 2 2 1530. 0 1530. 0
65 | MR | Rk 7] P A AL X EZR S | SRR fISEES ek 1 S 1 1 765. 0 765. 0
66 | MR | Rl 7] [ 4 TR X ER S | IR 24 el S 1 1 765. 0 765. 0
67 | METH | R & I FH MRS | R LR YRSt el A By 1 1 765. 0 765.0
68 | T | i Ji] 4 WA X EES | R IE LR HH el A Bk 1 1 765.0 765.0
69 | AR | FhiE 7] FH 4 WX RS | WKL B2 Jeqell b 1 1 765. 0 765. 0
70 | ETT | R E JA] [ 4 TR X E R | SRR Y IG5k el =578 73 1 1 765. 0 765. 0
71| bR | B JA] FH 4R TR XEZRS | SRR R %) el 1 S 1 1 765. 0 765. 0
72 | MR | B A 7] FH WA X EES | AT LR E25Rk Jeqenlk IR 1 1 765. 0 765. 0
73 | MLET | B A Ji] FH 4 WX EES | R R WAF] Jeqell BRI 1 1 765. 0 765. 0
74 AT | R R 7] FH WA X EES | R LR W el A Bh=555h 4 4 3060. 0 3060. 0




75 [ alET | R B JA] 4 WA X EES | R WA ek 0 Bk 1 1 765.0 765.0
76 | ALET | B A I FH 4 WX EES | TR R ¥ I Jeqelr I 5 5 3825. 0 3825. 0
77 [ aET | R I FH WA XEES | R 2 el A TRy 4 4 3060. 0 3060. 0
78 | WET | B A 7] P A R X EZRS | R ER AN ek 1 S 1 1 765. 0 765. 0
79 | NbET | B E 7] [ 4 TR X E RS | SRR WM Jegalk 1 g5 2 2 1530. 0 1530. 0
80 | MiETH | i & I FH 4 MR XEES | R LR R el A Gy 1 1 765. 0 765.0
81 | AR | Rk & 7] FH WA X EES | R M el 1 TR 4 4 3060. 0 3060. 0
82 | AETH | Rk & 7] FH 4 WX RS | WKL WERIE Jeqell By 4 1 765. 0 765. 0
83 | W)ETH [ Fiv £ JA] [ 4 TR X E R | SRR WARE el 1 S 1 1 765. 0 765. 0
84 | MR | ki JA] FH 4R TR XEZRS | SRR R 3L ek 1 =578 71 4 4 3060. 0 3060. 0
85 | AETH | Rk & 7] FH WA X EES | T IE LR B el 1 IR 1 1 765. 0 765. 0
86 | NlE T [ Bl & I FH 4 WA XEZ S | R 2 LA el 0 FRIE 2 1 765. 0 765.0
87 | niETH | R & 7] FH WA X EES | R LR W AR el A Bh=555h 2 2 1530. 0 1530. 0
88 | MR | Rk JA] [ A TR X EZR S | R ER ERS ek 1 S 1 1 765. 0 765. 0
89 | W | Rk E 7] [ 4 AL X EZR S | RIIRR EE Jegkalk 1 S 4 3 2295. 0 2295. 0
90 | MR | Rk JA] FH 4R TR XEZRS | SRR FEER el 1 S 1 1 765.0 765. 0
91 | AWET | Rk & I FH WA X EES | R LR SRR el 1 =557 2 2 1530.0 1530.0
92 | AR | Rk & I FH 4 WX EES | TR R R Jeqenlk Bk 1 1 765. 0 765. 0
93 | MR | Rk 7] FH 4R TR X EZR S | SRR LB psi el =578 73 1 1 765. 0 765. 0
94 | AR | B 7] [ A TR X EZRS | R ER RIRE ek 1 =578 71 4 4 3060. 0 3060. 0
95 | MR | Rk 7] [ 4 MR X ERS | WRIBIR BB 2 ek 1 g5 1 1 765. 0 765. 0
96 | AR | Fh R Ji] FH 4 WX EES | TR R A Jeqelr W=l 1 1 765. 0 765.0
97 | MR | B E 7] 4 WA X EES | R IE LR RN, el 1 Bk 1 1 765.0 765.0
98 | MR | Rk JA] FH 4 TR X EZR S | RER HEEK ek 1 S 1 1 765. 0 765. 0
99 | W)ETH [ B E JA] [ 4 WE A X EZR S | RHARR i X el S 4 4 3060. 0 3060. 0
100 | b | B & 7] [ A IRFAE X RS | IRTEARAR BURE R el S 3 3 2295. 0 2295. 0
101 | ALETT | B & Ji] 4 WX EES | R PR Jeqelk TR 1 1 765. 0 765. 0
102 | AT | B & T 4 WX EES | TR R MR ek 0 I 1 1 765. 0 765. 0
103 | AT | BT I 4 WA X EES | WKL L% ol A PIh 1 1 765. 0 765.0
104 | WET | B & 7] P A W XEZRS | W ER EA K2 ek 1 S 2 2 1530. 0 1530.0
105 | 2T | B & 7] [ 4 WX EZ S | SR EAR w44 )| Jegalk 1 S 1 1 765. 0 765. 0
106 | T | B & I H 4 WX EES | R IELR w30k el A R 1 1 765.0 765.0
107 | AL | K & I 4 WX EES | T IE LR L vin el A PR 3 3 2295. 0 2295. 0
108 | ML | B B T 4 WX EES | R R RBER Jeqell b 3 3 2295. 0 2295. 0
109 | iETT | Rl & JA] [ 4 WX EZR S | SRR TKEYR ok 1 S 1 1 765. 0 765. 0
110 | a2 | B & 7] [ A4 IRFAE X RS | IRTARAR Kk el HAth 1 1 765. 0 765. 0
111 | AiE | ki & 7] 4 WX EES | TR FEEL Jeqenlk TR 1 1 765. 0 765. 0
112 | AR | B B KIEH KEHXEZES | WHER E3i95 Jeqell BRI 2 2 1530.0 1530. 0
113 | AR | B & KB KEMIXER S [ WATIRAR T Fth el A R 1 1 765.0 765.0




114 | abETT | M B KB KEHXEZES | WATER wlile Jeqell TR 3 3 2295. 0 2295. 0
115 | abET | M B KIEH KEHXEZES | WAER it 4 ek 0 FRIR 1 1 765. 0 765. 0
116 | AR | Biw & KB KEBHXEES | WATERE /N el A =555 3 3 2295. 0 2295. 0
117 | R | Rl £ KB KIBFIXJEZS | WRIIR I el =578 71 2 2 1530. 0 1530.0
118 | W2 | Bhw & T 14 O EZR S | WRIIRR NS el =578 73 1 1 765. 0 765. 0
119 [T | M ] 148 WO XEES | R LR B el A Gy 1 1 765. 0 765.0
120 | AR | K B I 4 WA XEES | R LR ZER el 1 TR 1 1 765. 0 765. 0
121 | JLE | B & I 14 WO XEES | R LR X 5E Jeqell BRZ 58N 1 1 765. 0 765. 0
122 | ETT | & T 14 WX EZR S | R N el 1 S 1 1 765. 0 765. 0
123 | WE | B & b g WX EZR S | IRTRR FHE ek 1 S 1 1 765. 0 765. 0
124 | ALET | B & I 14 WX EES | R LR 5 g ek 0 Jihth 3 3 2295. 0 2295. 0
125 | AR | B B ] 4 WO XEZRS | Wi EeE e SR el 0 b 4 4 3060. 0 3060. 0
126 | AT | MR I 14 WX EES | R R el A Bh=555h 8 8 6120. 0 6120. 0
127 | ETT | R £ T 14 WX EZRS | R ER AR ek 1 S 1 1 765. 0 765. 0
128 | 2T | B & T 14 WX EZR S | WRIRR P Sl el g 1 1 765. 0 765. 0
129 | WE | B & ] 145 WM XEZRS | SRR R Kdfh el S 2 2 1530. 0 1530.0
130 | ALET | B & I WO XEES | R IE R Rk el 1 IR 5 5 3825. 0 3825. 0
131 | ALE | B & I 48 WO XEERES | iR LR KF ek 0 Bk 1 1 765. 0 765. 0
132 | IR | K& T 145 WX EZRS | SR ER KA el TR 1 1 765. 0 765. 0
133 | WbET | B & 7] 14 O RS | IRTRAR KL ek 1 S 1 1 765.0 765. 0
134 | ETT | £ B A AL ER S | RIIR yu ok el =578 73 2 2 1530. 0 1530. 0
135 | I | B & B BHMXERES [ WA EEZD el PIs 3 3 2295. 0 2295. 0
136 | il | B & B 4 A XEES | R LR Il gk el 1 Bh=553h 1 1 765.0 765.0
137 | ETT | Rl £ B H B XEZRS | RER P el BhR= 57871 6 6 4590. 0 4590. 0
138 | iETT | Rl & B A A X EZR 2 | SRR BRIR ek 1 =555 73 3 3 2295. 0 2295. 0
139 | WETT | £ B A AL RS | IRTRR WZE] ok 3] 1 1 765. 0 765. 0
140 | abETT | B & B FH A X EES | R IELR |73 Jeqelk PR 4 4 3060. 0 3060. 0
141 | JbE | B & B FH A X EES | TR ik ak Jeqenlk =N 2 2 1530.0 1530.0
142 | AT | R B 4 A XEES | R LR b i el A BRI 5 5 3825. 0 3825. 0
143 | JETT | Rl £ B AR ALK RS | IRIRR e el =578 71 1 1 765. 0 765. 0
144 | ETT | R E B A A X ER S | IR e ok 1 =578 73 3 3 2295. 0 2295. 0
145 | WbE | KW & B 4 A X EES | RiTELR Mg el A By 1 1 765.0 765.0
146 | AT | B R B FH A X EES | R LR AL el A PR 3 3 2295. 0 2295. 0
147 | WbE | B & B FH B XEERES | R ER 7k E Jeqell BRZ 58 1 1 765. 0 765. 0
148 | T | & i EYHXEZS | WATRR O el HAh 3 3 2295. 0 2295. 0
149 | JETT | Rl £ i PR XEZRS | WA R B3 5 el S 1 1 765. 0 765. 0
150 | AR | B B ot IPHXERES | WATER RN Jeqenlk i 3 3 2295. 0 2295. 0
151 | abET | B & Eatink FPHXERES [ WA AR ek HAh 1 1 765. 0 765. 0
152 | iR | B & [ FPHXEES | WATER SR Y el A Bh=555h 1 1 765.0 765.0




153 | AT | B B St TA! IPHXERES | WAER - HE ek 0 i 1 1 765.0 765.0
154 | AR | B B ot IPHXERES | WER T Jeqelr i 3 3 2295. 0 2295. 0
155 | alET | B & [ a! FPHXEES | WRATER P iESe el A =555 1 1 765.0 765.0
156 | T | Rl £ i Yy X ERS | WA EHCE el =578 71 5 5 3825. 0 3825. 0
157 | ETT | Rl £ IRIR A IRIEA X RS | WA IR PRy ok 1 g5 3 3 2295. 0 2295. 0
158 | IR | B & IR WA X RS | W IGLR VEx el A =530 1 1 765.0 765.0
159 | AT | B B WRR A X EES | TR XU % el 1 R 1 1 765.0 765.0
160 | alET | B B IR PEA X EES | TR R ek 0 By 1 1 765. 0 765. 0
161 | ETT | & JRYUE RIiHX WG LR WL el 1 =558 73 3 3 2295. 0 2295. 0
162 | WbE | B & ARIUE RIiHEX Wl EAR WK ek 1 S 3 3 2295. 0 2295. 0
163 | HET | B & Ry ARYiLIX WG AR ERe) Jeqenl IR 3 3 2295. 0 2295. 0
164 | T | Bl & I FH 4 WHAXEZRS | iR ] el 0 FRIE 1 1 765. 0 765.0
165 | AR | & 7] 4 A X EES | T IELR X el A Bh=555h 2 2 1530. 0 1530. 0
166 | =TT | Rl £ JA] [ A WAL X EZR S | SR EAR RN ek 1 S 1 1 765. 0 765. 0
167 | W2 | K& 7] [ 4 TR X E R | SRR B Jegkalk 1 S 1 1 765. 0 765. 0
168 | Wi | B & ] 145 WM XEZRS | SRR R R B ok el HoAth 1 1 765.0 765. 0
169 | AT | B B WRIR REA X EES | TR XiJ3 ol A TR 2 2 1530.0 1530.0
170 | ALET | B B I FH 4 WA X EES | RAMELR Fr/bdE ek 0 Bk 5 5 2640. 0 2640. 0
171 | IR | K& 7] FH 4R IRALAE X RS | MR PES el B 2 2 1056. 0 1056. 0
172 | MR | B & 7] [ A IRALAE X JE RS | RMHRAR XIFHPK ok 1 3] 1 1 528.0 528. 0
173 | W2 | B & 7] [ 4 WAL X JEZR 2 | RAHER EA ] ek 1 oAt 4 4 2112.0 2112.0
174 | WLE | B & Ji] FH 4 WAL EES | ARG AR g P 1 1 528. 0 528.0
175 | AT | B B 7] 4 WA X EES | RAMELR R ol A Bk 1 1 528.0 528.0
176 | JETT | Rl £ JA] FH 4 AL RS | MR (= ok 1 BhR= 57871 3 3 1584. 0 1584.0
177 | R | R E JA] [ 4 A X EZR S | KRR A ek 1 HAh 3 3 1584. 0 1584. 0
178 | IR | B & JA] FH 4 THAXEZRS | RAEER Fish] ok S 3 3 1584. 0 1584.0
179 | WLET | B & I FH WHAXEES | RAMER EZAYS Al PR 8 8 4224. 0 4224. 0
180 | M | B B I FH WHAXEERES | RAMELR EALY gl a =N 6 5 2640. 0 2640. 0
181 | T | B & ] 4 WA XEES | RAMELR 2 KK el A TRy 2 2 1612.0 1612. 0
182 | WiET | B & 7] P A THAXEZRS | RAER Eovicl Aok 1 B 4 4 2112.0 2112.0
183 | 2T | Bhiw & 7] [ 4 A X EZRS | KRR WVEVE Jegalk 1 S 1 1 528. 0 528. 0
184 | R | M & I FH WA XEES | RAMELR /& ol Bk 1 1 528.0 528.0
185 | M | K & 7] FH WA XEES | RAELR WA el A =553 4 4 2112.0 2112.0
186 | ML | Bk B 7] FH 4 WHAXEERES | RAMER Vre Jeqell I 3 3 1584. 0 1584.0
187 | iETT | Rl & JA] [ 4 A RS | MR A5 ok 1 S 7 7 3696. 0 3696. 0
188 | bET | B & JA] FH 4R ALK RS | MR B Ik ok B 1 1 528.0 528. 0
189 | ML | ki B 7] 4 A X EES | RAMELR R Jeqenlk i 5 5 2640. 0 2640. 0
190 | AL | B B I 4 A X EES | RAMELR PA Kl a =55 3 3 1584. 0 1584. 0
191 | AR | Bw & 7] 4 A X EES | RAMELR BURAY el A R 5 5 2640. 0 2640. 0




192 | MLET | ki & 7] 4 A X EES | RAMELR B4 Al IR 4 4 2112.0 2112.0
193 | MLE | B & T 4 A X EES | RAMELR IR Jeqelr I 1 1 528. 0 528. 0
194 | AT | TR 7] 4 A X EES | RAMELR g R ol A i 1 1 528.0 528.0
195 | WbET | B & 7] P A TR XEZRS | RAER WL ok HAth 2 1 528.0 528. 0
196 | W2 | K& 7] [ 4 TR X E RS | RAHER R Jegalk 1 S 5 5 2640. 0 2640. 0
197 [ AT | MR I FH 4 WA X EES | ARG EANAS ol R 2 2 1056. 0 1056. 0
198 | ML | K & 7] FH WX EES | RAMELR WK & Al =553 1 1 806. 0 806. 0
199 | ME | ki & 7] FH 4 WX EES | RAMER wHis Jeqell By 1 1 528. 0 528. 0
200 | Al | BB JA] [ 4 TR X EZR S | KRR ZEW ok 1 HAh 1 1 528. 0 528. 0
201 [ iR | BB JA] FH 4R TR XERS | RAER WK ok 1 =578 71 3 3 1584. 0 1584. 0
202 | iR | B B 7] FH WX EES | RAMELR Ees] Al TR 1 1 806. 0 806. 0
203 | R | B B Ji] FH 4 WX EES | RAMELR PN Jeqelr BRI 1 1 528. 0 528. 0
204 | IR | B 7] FH WX EES | RAMELR FEALE ol Bk 1 1 528.0 528.0
205 | T | BT B JA] [ A TR AL X RS | AR KM ok oAt 3 3 1584. 0 1584. 0
206 [ R | BT 7] [ 4 WX EZR S | RAHER 1 T Jegkalk 1 S 1 1 528. 0 528. 0
207 [ R | R R JA] FH 4R W XERS | RAER A golb | Rl UHF SRR 6 6 3168.0 3168. 0
208 | R | B B 7] 4 WX EES | RAMELR X Al =557 1 1 528. 0 528. 0
209 | iR | BB I 4 WX EES | RAMELR Tk Al W= 7 7 3696. 0 3696. 0
210 [ R | B E 7] FH 4R W XERS | RAER kit gk 1 =578 73 4 4 2112.0 2112.0
211 [ R | BB 7] [ A W XERS | RAEER Il Bify B ok 1 3] 1 1 528.0 528. 0
212 [T | R 7] [ 4 WA X E RS | MR LAt ok 1 =578 73 2 1 528. 0 528. 0
213 | JET | B B I 4 WhinES LAEAR R H g P 6 6 3168. 0 3168. 0
214 | R | B B I 4 WM& RAHELR EAES ol A TR 4 4 3224. 0 3224. 0
215 | AT | BB JA] FH 4 YN ZES LAELR EiE) ok 1 S 1 1 528.0 528. 0
216 | AT | BhTE JA] FH 4R WM ZES REHELR w2k ok 1 S 1 1 528. 0 528. 0
217 [ | R E JA] FH 4 YN ZES LAEAR EE i ok HAh 1 1 528.0 528. 0
218 | MR | B B Ji] 4 I RAHELR ENEA Al =555 2 2 1056. 0 1056. 0
219 | R | BB T 4 YWHiNZES LATEAR WS gl I 5 5 2640. 0 2640. 0
220 | IR | B & I 4 WM& RAHELR EZEED ol A Bk 1 1 528.0 528.0
221 [ R | BB 7] P A WHNZES LAEAR W Aok 1 B 7 7 3696. 0 3696. 0
222 [ R | R 7] FH 4R YN ZES LAELR AR ok 1 S 1 1 528. 0 528. 0
223 | MR | B B I H 4 WM& RAHELR BRI ol Atk 1 1 806. 0 806. 0
224 | R | B B I 4 I FATEAR BN ol A Gy 1 1 528.0 528.0
225 | JET | B B T 4 YHiNZES FAEAR EZZNM gl a By 1 1 528. 0 528. 0
226 | T | Bl B 7] 4 iM% RAHELR FIRER Rl a At 2 2 1056. 0 1056. 0
227 [ iR | R E JA] FH 4R YHiNZES LAEAR BURE ok S 1 1 528.0 528. 0
228 | JETT | B B 7] 4 WHiNZES AL AR K H Al i 2 1 528. 0 528. 0
229 | R | B B I 4 YWHiNZES LATEAR AT g BRI 6 1 528. 0 528. 0
230 | IR | B & 7] 4 WM& RAHELR PER Al Bh=555h 3 3 1584. 0 1584. 0




231 | R | B 7] 4 I e AL AR R Al =555 2 2 1056. 0 1056. 0
232 | JET | B B T 4 YHiNZES LAEAR AR gl a W= 5 5 2640. 0 2640. 0
233 | IR | B 7] 4 WM& RAHELR WBHR ol A Bk 1 1 528.0 528.0
234 [ R | BB 7] P A YN ZES LAEAR WkEE ok =578 71 4 4 2112.0 2112.0
235 [ R | BT 7] [ 4 PN ZES LAELR R ok 1 =578 73 1 1 528. 0 528. 0
236 | IR | B T H 4 WM& RAHELR Al ol R 1 1 528.0 528.0
237 | R | B B I 4 WM& RATEAR wAG ST ol A =557 3 3 1584. 0 1584. 0
238 | R | B B T 4 YHiNZES FAEAR JigE Al BRZ 58N 3 3 2418.0 2418. 0
239 | W | BhvTE JA] [ 4 YN ZES RFHLLR ROk ok 1 S 2 2 1056. 0 1056. 0
240 [ iR | R B JA] FH 4R WHNZES LAEAR R ok 1 S 1 1 528.0 528. 0
241 | T | B B 7] 4 WHiNZES AL AR k57 Al BRZ 58 3 3 1584. 0 1584. 0
242 | R | B B I 4 BANES LATEAR 2l g HAh 4 4 2112.0 2112.0
243 | IR | B & 7] 4 BANES RAHELR EANSE ol TR 6 6 3168. 0 3168. 0
244 | AT | BT B JA] [ A BEANES LAEAR WG Ak Bh= 57571 1 1 528.0 528. 0
245 [ R | BT 7] [ 4 BEANES LAELR W5 AT ok 1 S 3 3 1584. 0 1584. 0
246 [ R | R E JA] FH 4R BEAENES LAELR W ok HoAth 6 6 3168.0 3168. 0
247 | R | B B 7] 4 BANES RATEAR W75 58 Al =557 7 7 3696. 0 3696. 0
248 | JE T | B B I 4 BANES RAEAR Il =k gl IR 5 5 2640. 0 2640. 0
249 [ R | R E 7] FH 4R BEANZES LAELR REIE gk 1 TR 1 1 528. 0 528. 0
250 [ iR | BB 7] [ A MM ES LAELR BEZE ok 1 =578 71 3 3 1584. 0 1584. 0
251 [T | BT 7] [ 4 P RS LAELR FLAE R ok 1 =578 73 4 2 1056. 0 1056. 0
252 | JET | B B I FH 4 N ES LAEAR LA I g Bk 1 1 528. 0 528.0
253 | R | B B I 4 EONES RAHELR FLAE ol A i 1 1 806. 0 806. 0
254 | Wl | BB JA] FH 4 MM RS LAELR FLEE R ok 1 S 5 5 4030. 0 4030. 0
255 | T | BB JA] [ 4 MM ES REHELR TR ok 1 S 3 3 1584. 0 1584. 0
256 [ R | R E T FH A MM ES LAEAR LA ok =578 71 4 4 2112.0 2112.0
257 | T | B B Ji] 4 s ES RAHELR FLAZE Al i BRZ 581 1 1 806. 0 806. 0
258 | R | B B I FH N ES LATEAR LA gl a =N 7 7 3696. 0 3696. 0
259 | IR | B & I 4 N ES RAHELR JLEEE ol A BRI 6 6 3168. 0 3168. 0
260 [ R | R B 7] P A MM RS LAEAR FLIKHR Aok 1 S 4 1 528.0 528. 0
261 [T | T 7] [ 4 MM ES LAELR FLER ok 1 =578 73 5 5 2640. 0 2640. 0
262 | IR | B I H 4 N ES RAHELR LR ol R 7 7 3696. 0 3696. 0
263 | R | B I 4 s ES FATEAR FLEER el =553 4 4 2112.0 2112.0
264 | niET | BB V] FH £EL MRS AR AR FLEERY Ak [ b 3 2 1056. 0 1056. 0
265 | T | BhvTE JA] [ 4 MM ES RFHELR KT ok 1 S 1 1 528. 0 528. 0
266 | R | R E JA] FH 4R MM ES LAEAR 751 ok HAth 1 1 528.0 528. 0
267 | R | B B 7] 4 N ES AL AR KL FF Al BRZ 581 1 1 528. 0 528. 0
268 | T | B B Ji] FH 4 AN ES LATEAR BEI gl 0 W= 1 1 528. 0 528. 0
269 | IR | B & 7] FH RN ES RAHELR A4S ol A Bk 4 1 528.0 528.0




270 | T | B B I FH TR o RAHELR %Pk Al i 1 1 528. 0 528. 0
271 | R | B B I FH 4 RN TS LAEAR WA ER g i 1 1 528. 0 528. 0
272 | IR | B & I FH RN ES RAHELR EAsR ol A Bk 2 1 528.0 528.0
273 [ iR | R B 7] P A AN LAEAR WhE ok S 3 3 1584. 0 1584. 0
274 [ R | R E 7] FH 4R RN Z 2 LAELR WIH ok 1 S 1 1 528. 0 528. 0
275 | R | B B I FH 4 RN ES RAHELR FURER ol Bk 4 4 2112.0 2112.0
276 | R | B B 7] FH RN ES RATEAR SRR Al =553 3 3 1584. 0 1584.0
277 | R | BB 7] FH 4 RN Z S FAEAR W HEE gl By 3 3 1584. 0 1584. 0
278 | T | KRB JA] FH 4R TMARMZ 2 RFHLLR AR ok 1 S 2 2 1056. 0 1056. 0
279 [ | R E JA] FH 4R ﬂ}FHéA LAEAR EH ok 1 S 6 6 3168.0 3168. 0
280 | T | B B 7] FH RS AL AR A Al IR 3 3 1584. 0 1584. 0
281 | iR | B B Ji] FH 4 RN T LATEAR WER g I 1 1 528. 0 528. 0
282 | IR | B & 7] FH «VF NES RAHELR 2 & ol R 3 3 1584. 0 1584. 0
283 | Wl | BT B JA] [ A FIANZES LAEAR WK b ok S 6 6 3168.0 3168. 0
284 | T | BB AT HH AR Z 2 LAELR Es ok 1 S 6 6 3168. 0 3168. 0
285 [ R | R B JA] FH 4R FIANZES LAELR EAIERE) ok S 1 1 528.0 528. 0
286 | JMIETT | B B I FH JVFﬁéA RAHELR AR Al =557 1 1 806. 0 806. 0
287 | JET | B B I FH 4 RN TS RAEAR e[ gl IR 7 7 3696. 0 3696. 0
288 [ R | B E 7] FH 4R ﬂ}HJéA LAELR ik gk 1 B 1 1 528. 0 528. 0
289 [ iR | R E 7] [ A FIANZES LAELR FE%E ok 1 =578 71 5 5 2640. 0 2640. 0
290 [ iR | B 7] [ 4 TMARMNZ 2 LAELR IV ok 1 =578 73 2 2 1612.0 1612.0
291 | R | K B I 4 AN ES RAHEAR R Kl a =55 3 3 1584. 0 1584. 0
292 | R | B B I FH RN ES RAHELR Ty ol A HAh 3 3 1584. 0 1584. 0
293 | Wl | BB JA] FH 4 TIANZES LAELR S ok 1 S 2 2 1056. 0 1056. 0
294 | R | Bl B 7] 48 WAENZS RAHELR Fi8 45 ol a BRpE 4 4 2112.0 2112.0
295 [ R | R B JA] FH 4 FIANZES LAEAR kB ok S 1 1 528.0 528. 0
296 | JETT | B B I FH RN ES RAHELR JE AT Al TR 1 1 528. 0 528. 0
297 | R | B B I FH WA ES LATEAR AR gl I 4 1 528. 0 528. 0
298 | R | B B I FH RN ES RAHELR JEANT) ol A R 4 4 2112.0 2112.0
299 [ iR | R B 7] P A ENZES LAEAR RS Aok 1 =578 71 3 3 1584. 0 1584. 0
300 [ R | BT 7] [ 4 TENZES LAELR IR ok 1 HAh 5 5 2640. 0 2640. 0
301 | IR | B I FH LN ZES RAHELR i Al =53 5 5 2640. 0 2640. 0
302 | iR | BB 7] FH FAANZES RAHELR W ol A TR 2 1 528. 0 528. 0
303 | R | BB 7] FH 4 TENES FAEAR Wb gl a b 3 3 1584. 0 1584.0
304 | T | BB AT H B ENZES RFHELR Il i ok 1 S 1 1 528. 0 528. 0
305 | JE T | BB AT FENZES LAEAR AL ok S 2 2 1056. 0 1056. 0
306 | T | B B 7] FH TENZES AL AR AL BE Al IR 1 1 528. 0 528. 0
307 | R | BB Ji] FH 4 TENES LATEAR AL %% g BRI 3 1 806. 0 806. 0
308 | R | B & 7] FH AN ES RAHELR IS ol A HAh 1 1 806. 0 806. 0




309 | R | BB JA] 4 FENTES RAHELR [i¥e)53 Al TRy 1 1 528.0 528.0
310 | iR | B B I FH 4 TENES LAEAR I 4 R g FRIR 1 1 528. 0 528. 0
311 | IR | B & I FH AN ES RAHELR g Wt 4 ol A Bk 1 1 528.0 528.0
312 [ iR | R B AT B FENZES LAEAR D18 ok S 4 4 2112.0 2112.0
313 [ | B AT HH R ENZES LAELR T 4 ok 1 =578 73 3 3 1584. 0 1584. 0
314 [ R | R B T H 4 HIMES RAHELR A ol PR 4 4 2112.0 2112.0
315 | T | B B I 4 HiMES RAHELR AR ol A =557 3 3 1584. 0 1584. 0
316 | AT | B B Vi) FH 8L HINZES FAEAR i el HoAth 3 3 1584. 0 1584. 0
317 | T | Bl B I FH 48 HiM %2 RAHELR B Rl BRpE 1 1 528. 0 528.0
318 [ iR | R B AT HINZES LAEAR BT 4k ok 1 S 1 1 528.0 528. 0
319 | R | B B 7] 4 HiMES AL AR 575 Al IR 4 4 2112.0 2112.0
320 | iR | BB Ji] FH 4 EINN S LATEAR R g BRI 1 1 528. 0 528. 0
321 | IR | B & 7] FH EIESS RAHELR B kg ol TR 6 6 3168. 0 3168. 0
322 | W | BB JA] FH 4 ENES LAEAR BA3 ok Bh= 57571 3 3 1584. 0 1584. 0
323 [ R | 7] [ 4 FIINZES LAELR ERLDN ok 1 S 4 4 2112.0 2112.0
324 [ R | R E JA] FH 4R EINZES LAELR Ry ok =578 71 3 3 1584. 0 1584. 0
325 | R | B B I FH EIESS RATEAR Z i ] ol A IR 3 3 1584. 0 1584.0
326 | R | BB I FH 4 EINES RAEAR LA gl Bk 3 3 1584.0 1584.0
327 [T | R 7] FH 4R EINES LAELR EEAL gk 1 HAh 4 4 3224. 0 3224. 0
328 | iR | R 7] [ A ENES LAELR BURS ok 1 S 2 2 1056. 0 1056. 0
329 [T | R E 7] FH 4R FIINES LAELR K ok 1 g5 6 5 2640. 0 2640. 0
330 | MR | Kk B i) 4 EESS LAEAR T T Kl a =55 2 2 1056. 0 1056. 0
331 | MR | B B I FH EIESS AT AR g ol A TR 3 1 528.0 528.0
332 | W | BB JA] FH 4 KN ES LAELR EAEas ok 1 BhR= 57871 4 4 2112.0 2112.0
333 | T | K& JA] [ 4 KN ZES REHELR Y ok 1 =555 73 3 3 1584. 0 1584. 0
334 [ iR | R E JA] FH 4 KN ZES LAEAR WE ok =578 71 4 4 2112.0 2112.0
335 | R | B B I FH ENES RAHELR R Al PR 1 1 528. 0 528. 0
336 | R | BB I FH B S LATEAR R = gl I 2 2 1056. 0 1056. 0
337 | IR | B & I FH BN RAHELR LU ol A R 2 2 1056. 0 1056. 0
338 [ iR | R B 7] P A AN 2 LAEAR EES Aok 1 S 1 1 528.0 528. 0
339 [ | 7] FH 4R bR &2 LAELR D EMN ok 1 S 3 3 1584. 0 1584. 0
340 | IR | B I FH BN RAHELR TR ol R 1 1 528.0 528.0
341 | R | B B 7] FH BT RAHELR B g ol A PR 4 4 2112.0 2112.0
342 | R | BB 7] FH 4 B S FAEAR TR iE gl a By 1 1 528. 0 528. 0
343 | W | KRB JA] [ 4 bR &2 RFHELR % 2 ok 1 HAh 1 1 806. 0 806. 0
344 [ MR | R JA] FH 4R AN 2 LAEAR BRI ok S 3 3 1584. 0 1584. 0
345 | R | B B 7] FH AR Z AL AR IR Al TR 2 2 1056. 0 1056. 0
346 | JET | BB Ji] FH 4 B S LATEAR P REE g BRI 1 1 528. 0 528. 0
347 | IR | B & 7] FH B NS RAHELR T R Al Bh=555h 3 3 1584. 0 1584. 0




348 | T | B B I FH AR Z RAHELR B S Al i BRZ 581 3 3 1584. 0 1584. 0
349 | JE | B B I FH 4 B LAEAR THN g I 2 2 1612.0 1612.0
350 | IR | B & I FH BN RAHELR Lk ol A HAh 6 6 3168. 0 3168. 0
351 [ iR | R B JA] FH 4 AN 2 LAEAR ERSEN ok S 3 3 1584. 0 1584. 0
352 [ R | B 7] FH 4R bR %2 LAELR PHAL ok 1 S 1 1 806. 0 806. 0
353 | T | B & I FH 4 BN RAHELR 2 1 b Al =530 6 5 2640. 0 2640. 0
354 | R | B 7] FH BT RATEAR B KR ol A PR 5 5 2640. 0 2640. 0
355 | R | B B 7] FH 4 B S FAEAR Pk gl By 1 1 528. 0 528. 0
356 | BT | KRV E JA] FH 4R Bl S RFHLLR PRIk ok 1 HAh 1 1 806. 0 806. 0
357 [ iR | R B JA] FH 4R AN 2 LAEAR DR ok 1 S 1 1 528.0 528. 0
358 | R | B B 7] FH AR T AL AR 2 Jeqenl i 3 3 1584. 0 1584. 0
359 | R | B B Ji] FH 4 B S LATEAR R g b 1 1 806. 0 806. 0
360 | IR | B B 7] 4 EENES RAHELR 2R ol R 4 4 2112.0 2112.0
361 | Al | BB JA] [ A EENES LAEAR FREk3% ok oAt 1 1 806. 0 806. 0
362 [ R | T 7] [ 4 EENES LAELR Rk i ok 1 S 5 5 2640. 0 2640. 0
363 [ R | R E JA] FH 4R EENES LAELR 2 [ P ok S 4 4 2112.0 2112.0
364 | MR | B B 7] 4 EEMNES ARAHEAR HEH I ol A =557 4 4 2112.0 2112.0
365 | IR | BB I FH 4 EENES RAEAR IS gl IR 7 7 3696. 0 3696. 0
366 [ R | R E 7] FH 4R EENES LAELR el gk 1 IR 1 1 528. 0 528. 0
367 [ R | R 7] [ A EENES LAELR R ok 1 3] 1 1 528.0 528. 0
368 [ R | B 7] [ 4 EENES LAELR g ok 1 g5 1 1 528. 0 528. 0
369 | R | B B Ji] FH 4 EENES LAEAR | g HAh 7 7 3696. 0 3696. 0
370 | R | B I 4 EEMNES RAHELR TR Al Bh=553h 2 2 1612.0 1612.0
371 | AT | BB JA] FH 4 EENES LAELR wiE bk ek 1 oAt 4 4 2112.0 2112.0
372 | WA | KRB JA] [ 4 EENES REHELR B ok 1 HAh 1 1 528. 0 528. 0
373 [ iR | R JA] FH 4 EENES LAEAR EARHE ok =578 71 5 5 2640. 0 2640. 0
374 | R | BB Ji] 4 EENES RAHELR B2y Al PR 8 8 4224. 0 4224. 0
375 | R | BB I FH EENES LATEAR Eand gl I 4 4 2112.0 2112.0
376 | R | B B I 4 EEMNES RAHELR i) Al Bh=555h 4 4 2112.0 2112.0
377 [ iR | R B 7] P A EENES LAEAR T Aok 1 B 2 2 1056. 0 1056. 0
378 [ | B 7] [ 4 EENES LAELR L2 ok 1 S 1 1 528. 0 528. 0
379 | R | B I H 4 EEMNES RAHELR Lok ol Bk 1 1 528.0 528.0
380 | iR | B B I 4 EEMNES FATEAR T m ol A TR 1 1 528. 0 528. 0
381 | iR | B B 7] FH 4 EENES FAEAR TR gl a I 6 6 3168. 0 3168. 0
382 | T | BT E JA] FH 4R EENES RFHELR Ptk ok 1 S 1 1 528. 0 528. 0
383 [ MR | B E JA] FH 4R EENES LAEAR Bty ok =578 71 7 7 3696. 0 3696. 0
384 | T | B B 7] 4 EEMNES AL AR Tt R Al i 1 1 528. 0 528. 0
385 | R | B B Ji] FH 4 EENES LATEAR PR g I 1 1 528. 0 528. 0
386 | R | B & 7] 4 EEMNES RAHELR AN ol A HAh 6 6 3168. 0 3168. 0




387 | JET | BB 7] 4 EEMNES AL AR BRIy Al i 1 1 528. 0 528. 0
388 | R | B B I FH 4 EENES LAEAR LR Jeqelr I 2 2 1056. 0 1056. 0
389 | R | B & 7] 4 EEMNES RAHELR 2 R ol A HAh 8 8 4224. 0 4224. 0
390 [ iR | R B JA] FH 4 EENES LAEAR P HIE ok =578 71 6 6 3168.0 3168. 0
391 [T | BT 7] [ 4 EENES LAELR PHiM ok 1 =578 73 5 5 2640. 0 2640. 0
392 | IR | B T H 4 EEMNES RAHELR 3 R ol HAh 5 5 2640. 0 2640. 0
393 | R | B B I 4 EEMNES RATEAR T ol A PR 4 4 3224. 0 3224. 0
394 | R | BB 7] FH 4 EEMNES FAEAR B gl By 7 7 3696. 0 3696. 0
395 | T | KR E JA] FH 4R EENES RFHLLR Ik ok 1 S 1 1 528. 0 528. 0
396 [ R | R E JA] FH 4R EENES LAEAR PEMN ok 1 =578 71 5 5 2640. 0 2640. 0
397 | JiET | B B 7] 4 EEMNES AL AR [z Al TR 1 1 528. 0 528. 0
398 | R | B Ji] FH 4 EENES LATEAR HFEH g I 9 1 528. 0 528. 0
399 | IR | B & 7] 4 EEMNES RAHELR g ol HAth 5 5 2640. 0 2640. 0
400 | T | Rl £ JA] [ A U LAEAR [ 5 XK Ak S 6 6 3168.0 3168. 0
401 | WET | BEwE 7] FH 4R UIEAN S LAELR MR ok 1 g 1 1 528. 0 528. 0
402 | WET | B E JA] FH 4R U LAELR R B ok =578 71 3 3 1584. 0 1584. 0
403 | AR | BB 7] 4 M &S ARAHEAR R4 Ep ol A R 2 2 1056. 0 1056. 0
404 | IET | B E I 4 fieMES RAHELR RS gl Bk 1 1 528. 0 528. 0
405 | WET | B & 7] FH 4R AN LAELR FRER gk 1 TR 1 1 528. 0 528. 0
406 | WET | B E 7] [ A NS LAELR PR AN ok 1 S 1 1 528.0 528. 0
407 | WET | B E 7] [ 4 AN LAELR PR R 45 Ak g5 6 5 2640. 0 2640. 0
408 | JET | B B Ji] FH 4 fieMES LAEAR PRin s g Bk 1 1 528. 0 528.0
409 | AETT | B B I 4 e EE RAHELR R ol A Bk 2 1 528.0 528.0
410 | T | Bl £ JA] FH 4 U LAELR R 5 2R ok 1 S 4 3 1584. 0 1584.0
411 | T | Bl E JA] FH 4R NS REHELR Frfidx ok 1 HAh 1 1 806. 0 806. 0
412 | IET | B & JA] FH 4 U LAEAR LA ok =578 71 4 4 2112.0 2112.0
413 | WET | R B Ji] 4 i EE RAHELR YR i Al TR 2 1 528. 0 528. 0
414 | WET | BB I FH MBS LATEAR MR gl BRI 6 6 3168. 0 3168. 0
415 | AT | BT I 4 e ES RAHELR i3 ol A R 5 5 2640. 0 2640. 0
416 | WET | BB 7] P A UEAN S LAEAR Friierd Aok 1 S 3 3 1584. 0 1584. 0
417 | IET | B E 7] [ 4 NS LAELR Rk M ok 1 S 4 1 528. 0 528. 0
418 | AR | B B i) 4 fiEMES RAHELR [k i ol =552 0 6 6 3168. 0 3168. 0
419 | AhETT | BB I 4 e RAHELR Rk E ol A Gy 1 1 806. 0 806. 0
420 | IET | R A T 4 MBS FAEAR YRR G gl a I 1 1 528. 0 528. 0
421 | T | Bl E JA] [ 4 AN RFHELR DM ok 1 =578 73 4 4 2112.0 2112.0
422 | IET | B E JA] FH 4R NS LAEAR D ok =578 71 1 1 528.0 528. 0
423 | WET | R B 7] 4 iz AL AR PEE Al IR 7 7 3696. 0 3696. 0
424 | WET | BB Ji] FH 4 fieMES LATEAR EES gl 0 W= 4 1 528. 0 528. 0
425 | AR | TR 7] 4 fiEMES RAHELR A Al Bh=555h 1 1 528.0 528.0




426 | JETT | B E 7] 4 e RAHELR [T At Al =555 4 4 2112.0 2112.0
427 | WET | R E I FH 4 fieMES LAEAR T g FRIR 1 1 528. 0 528. 0
428 | AR | BT 7] 4 fEMES RAHELR £S5 ol A R 6 6 3168. 0 3168. 0
429 | IET | BB 7] P A PN ZS LAEAR Bt B ok =578 71 3 3 1584. 0 1584. 0
430 | WET | B E 7] FH 4R LN LAELR MriEig ok 1 =578 73 3 1 528. 0 528. 0
431 | AR | MR T H 4 KBS RAHELR it Al =530 3 3 1584. 0 1584. 0
432 | WET | K B I 4 KM TS RAHELR R aR A Al =553 3 3 1584. 0 1584.0
433 | MET | R A T 4 HIFMES FAEAR R Jk Al BRZ 58N 4 4 2112.0 2112.0
434 | Wi | Rl E JA] [ 4 PN ZES RFHLLR SEES ok 1 =558 73 4 4 2112.0 2112.0
435 | IET | B 7] [ A BN ZES LAEAR FRAL 51 ok 1 S 7 7 3696. 0 3696. 0
436 | WETT | R B 7] 4 KM TS RAHELR [ S A g BRZ 58 6 4 2112.0 2112.0
437 | WET | R B Ji] FH 4 HIM B LATEAR o5 KA gl 0 W= 2 2 1056. 0 1056. 0
438 | IR | TR 7] 4 KBS RAHELR ik iz Al Bh=555h 1 1 806. 0 806. 0
439 | T | Rl £ JA] [ A PN ES LAEAR PREkE ok Bh= 57571 4 4 2112.0 2112.0
440 | IETT | BEwE 7] [ 4 LN ZES LAELR Rk 5 ok 1 g 4 4 2112.0 2112.0
441 | IET | B JA] FH 4R BN ZES LAELR Fr/h2E ok =578 71 5 5 2640. 0 2640. 0
442 | WET | R B 7] 4 HIH TS RATEAR R 5 ik ol A TR 1 1 528. 0 528. 0
443 | WET | B B I 4 N TS RAEAR Y gl IR 5 5 2640. 0 2640. 0
444 | IET | B E 7] FH 4R BN ZE LAELR B4 gk 1 B 4 2 1056. 0 1056. 0
445 | IET | BB JA] FH 4 BN ZES LAELR BAHAE ok 1 =578 71 4 4 2112.0 2112.0
446 | WET | B E 7] FH 4R BN S LAELR LA BH ok 1 S 3 3 1584. 0 1584. 0
447 | IET | BB I FH 4 HIM B LAEAR BIiH ol 0 W=l 5 5 2640. 0 2640. 0
448 | JETT | B B I 4 KBS RAHELR B ol A I 1 1 528.0 528.0
449 | T | Bl £ JA] FH 4 BN ZES LAELR XIRKAL ok 1 S 1 1 528.0 528. 0
450 | T | Rl £ JA] [ 4 BN REHELR gl ok 1 =555 73 4 4 2112.0 2112.0
451 | IET | B 7] [ A BN ZES LAEAR eSS ok S 1 1 528.0 528. 0
452 | WET | R B Ji] 4 KM TS LATE AR B Al PR 1 1 528. 0 528. 0
453 | WET | B B T 4 HPM B LATEAR gk gl a =N 7 7 3696. 0 3696. 0
454 | WETH | BT I 4 HIPM B RAHELR K Al Bh=555h 1 1 528.0 528.0
455 | IET | B B JA] FH 4 BN ZES LAEAR [ Aok 1 =578 71 1 1 528.0 528. 0
456 | WET | B E 7] [ 4 YOMNZES LAELR R S ok 1 S 1 1 528. 0 528. 0
457 | WETH | MR I FH IOk FL RAHELR [z At ol Bk 1 1 528.0 528.0
458 | ETH | K B 7] FH YA T2 RAHELR [ ol A TR 5 5 2640. 0 2640. 0
459 | MET | B B 7] FH 4 YONES FAEAR FZHk gl a I 1 1 528. 0 528. 0
460 | T | Bl £ JA] [ 4 YIOMNZES RFHELR BLLRIE ok 1 =578 73 7 7 3696. 0 3696. 0
461 | WET | B E 7] [ A4 S LAEAR ERL ok =578 71 1 1 528.0 528. 0
462 | WETT | R B 7] FH YA T2 RAHELR N Al IR 5 5 2640. 0 2640. 0
463 | AT | B B Tl H 4 YONES LATEAR s Kl a =55 7 7 3696. 0 3696. 0
464 | AR | TR 7] FH YA T2 RAHELR - ER ol A R 1 1 528.0 528.0




465 | WETT | R B I FH YOk Zes RAHELR TRA Al i BRZ 581 1 1 528. 0 528. 0
466 | WETT | B E I FH 4 YONES LAEAR gkl g I 1 1 528. 0 528. 0
467 | MR | TR I FH YOk Zes RAHELR fISea] ol A R 7 7 3696. 0 3696. 0
468 | WET | B B 7] P A YIOM S LAEAR KR ok BIR 2 2 1056. 0 1056. 0
469 | IET | B E 7] [ 4 YOMNZES LAELR N ok 1 S 5 5 2640. 0 2640. 0
470 | AR | MR ] 4 IO ES RAHELR KPR ol =552 5 5 2640. 0 2640. 0
471 | WET | R B 7] FH YA T2 RATEAR [V NE ol A i 1 1 806. 0 806. 0
472 | WET | B E 7] FH 4 IOk FTe FAEAR TRk gl By 2 1 528. 0 528. 0
473 | iR | Rl E JA] [ 4 YIOMNZES RFHLLR G ok 1 S 1 1 528. 0 528. 0
474 | IET | B E 7] [ A YIOM S LAEAR Kk ok 1 S 1 1 528.0 528. 0
475 | WET | R B 7] FH YOk Zer RAHELR KNE Al TR 1 1 528. 0 528. 0
476 | WET | B E Ji] FH 4 IOk F2 LATEAR EiSGiNE g P 2 2 1056. 0 1056. 0
477 | WET | R 7] FH YA T2 RAHELR I SIESPS ol Bk 1 1 528.0 528.0
478 | T | Rl £ JA] [ A YOS LAEAR G ok B 7 7 3696. 0 3696. 0
479 | IET | B E 7] [ 4 PR 2 LAELR SR ok 1 S 1 1 528. 0 528. 0
480 | WET | B B JA] FH 4R PN 252 LAELR PRl ok HoAth 1 1 528.0 528. 0
481 | WET | R & I FH RRIESS RATEAR BHAE ol A i 1 1 528. 0 528. 0
482 | MET | B B I FH 4 RS RAEAR g gl Bk 5 5 2640. 0 2640. 0
483 | WET | R & 7] FH 4R PR 52 LAELR T gk 1 =578 73 4 4 2112.0 2112.0
484 | WET | BB 7] [ A PN 252 LAELR BER ok 1 3] 4 4 2112.0 2112.0
485 | WET | B E 7] [ 4 PN 2 LAELR AN ok 1 g5 1 1 528. 0 528. 0
486 | NET | B B Ji] FH 4 RS LAEAR HPNEFE g P 1 1 806. 0 806. 0
487 | WETT | K B I FH BRI ESS RAHELR AR ol A TR 10 9 7254. 0 7254.0
488 | T | Rl £ JA] FH 4 PN 252 LAELR RAOR ok 1 S 1 1 528.0 528. 0
489 | T | Bl & JA] [ 4 PR 2 REHELR A ok 1 S 2 2 1056. 0 1056. 0
490 | WET | B E 7] [ A PN 52 LAEAR Zitkie ok S 1 1 528.0 528. 0
491 | WET | R B I FH DRI ESS RAHELR et Al PR 5 5 2640. 0 2640. 0
492 | WET | B & I FH RS LATEAR K gl I 5 5 2640. 0 2640. 0
493 | AR | i I FH BRI ESS RAHELR L5y ol A Bk 1 1 528.0 528.0
494 | IET | BB 7] P A PN 252 LAEAR B Aok 1 =578 71 3 3 1584. 0 1584. 0
495 | WET | B E AT HH R PR 252 LAELR Rk ok 1 =578 73 5 5 2640. 0 2640. 0
496 | WET | B A I FH DRSS RAHELR 2l E ol Bk 4 4 2112.0 2112.0
497 | WETT | ki & 7] FH BRI ESS RAHELR BN ol A i 2 2 1056. 0 1056. 0
498 | WET | B B 7] FH 4 RS FAEAR BIK T gl a By 1 1 528. 0 528. 0
499 | T | Bl £ JA] [ 4 PR 2 RFHELR S ok 1 S 2 2 1056. 0 1056. 0
500 [ iR | R E 7] [ A4 PN 252 LAEAR BEF ok HAth 8 8 4224.0 4224. 0
501 | iR | B B 7] FH RRIESS RAHELR BT Al TR 6 6 3168. 0 3168. 0
502 | R | B Ji] FH 4 RS LATEAR P g [ 2 6 6 3168. 0 3168. 0
503 | R | B & 7] FH BRI ESS RAHELR A Al Bh=555h 3 3 1584. 0 1584. 0




504 | R | B B I FH RRIESS RAHELR RN Al i BRZ 581 5 5 2640. 0 2640. 0
505 | JiE T | B B I FH 4 KIEMES LAEAR K g FRIR 4 3 1584.0 1584.0
506 | IR | B B I FH KEMES RAHELR LS ol A Bk 4 4 2112.0 2112.0
507 [ iR | R B 7] P A KENZES LAEAR FRUEA ok S 4 4 2112.0 2112.0
508 [ il | Bk 7] [ 4 KENZES LAELR FRFRYE ok 1 g5 4 1 528. 0 528. 0
509 | T | B I FH 4 KEMNES RAHELR kK ol HAh 1 1 806. 0 806. 0
510 | iR | i B 7] FH KIEMES RATEAR kil ol A TR 1 1 528. 0 528. 0
511 | iR | B B 7] FH 4 KIEMNES FAEAR RN gl By 1 1 528. 0 528. 0
512 | BT | BT E JA] [ 4 KENZES RFHLLR T ok 1 S 3 3 1584. 0 1584. 0
513 [ | B E 7] [ A KENZES LAEAR KA ok 1 S 1 1 528.0 528. 0
514 | iR | B B 7] FH KIEMES AL AR kbl Al [ 2 7 7 3696. 0 3696. 0
515 | R | Kk B pEEE::! KIEMES LATEAR Kl Kl a =55 7 7 3696. 0 3696. 0
516 | IR | B & 7] FH KEMNES RAHELR gkl HE ol i 1 1 528.0 528.0
517 | Wl | BB JA] [ A KENZES LAEAR AU ok S 8 8 4224.0 4224. 0
518 [l [ Bl 7] [ 4 PO Ze 4 LAELR PR E ok 1 =578 73 2 2 1612.0 1612.0
519 [l | R E JA] FH 4R Yk Zes LAELR g ok S 1 1 528.0 528. 0
520 | T | i B 7] 4 W Ee RAHELR R Al =557 1 1 806. 0 806. 0
521 | iR | B B I 4 W Es RAEAR Lk gl Bk 1 1 528. 0 528. 0
522 [ R | R 7] FH 4R U LAELR Vel gk 1 B 7 1 528. 0 528. 0
523 | R | R E JA] FH 4 Yk Zes LAELR ARG ok 1 S 1 1 528.0 528. 0
524 [T | R E 7] [ 4 b Zes LAELR S ok 1 S 5 1 528. 0 528. 0
525 | R | ] B I 4 W Es LAEAR Wk ol 0 W=l 5 5 2640. 0 2640. 0
526 | R | B B I 4 W Es AT AR EALS ol A R 3 3 1584. 0 1584. 0
527 | Wl | BT B JA] FH 4 b Zes LAELR AT ok 1 S 5 5 2640. 0 2640. 0
528 | BT | BT & JA] [ 4 MY R Z e REHELR 3238 ok 1 S 7 7 3696. 0 3696. 0
529 [T | R E JA] FH 4 Yk Zes LAEAR T H ok S 3 3 1584. 0 1584.0
530 | T | B B Ji] 4 W Es RAHELR = Al PR 1 1 528. 0 528. 0
531 | R | B B T 4 LS LATEAR TKANAE gl I 1 1 528. 0 528. 0
532 | IR | B & I 4 EENES RAHELR Y38 Ik ol A Bk 1 1 528.0 528.0
533 [T | R B 7] P A EENES LAEAR BZ b Aok 1 =578 71 2 2 1056. 0 1056. 0
534 [T | i 7] [ 4 EENES LAELR S ] ok 1 S 7 1 528. 0 528. 0
535 | T | B & I H 4 EENES RAHELR X A% ol Bk 1 1 528.0 528.0
536 | IR | B I 4 EEMNES RAHELR XX ol A TR 8 8 4224. 0 4224. 0
537 | R | BB T 4 EENES FAEAR X gl a By 1 1 528. 0 528. 0
538 | Wl | BT E JA] [ 4 EENZES RFHELR X E ok 1 S 1 1 806. 0 806. 0
539 [T | R E JA] FH 4R EENES LAEAR X ok HAth 2 2 1056. 0 1056. 0
540 | T | B B 7] 4 EENTES AL AR ETN Al TR 4 4 2112.0 2112.0
541 | R | B B I 4 EEMNES LATEAR X 2 0 g BRI 5 5 2640. 0 2640. 0
542 | IR | B & 7] 4 EEMNES RAHELR X Al Bh=555h 3 3 1584. 0 1584. 0




543 | JE T | B B 7] 4 EENTES RAHELR X B Al IR 5 5 2640. 0 2640. 0
544 | R | B B T 4 EENES LAEAR X1 & g I 4 4 2112.0 2112.0
545 | IR | B B i) 4 EEMNES RAHELR WHEE ol A =552 5 5 2640. 0 2640. 0
546 | IR | R B JA] FH 4 EENES LAEAR EZ/5ES ok S 1 1 528.0 528. 0
547 [ R | R 7] FH 4R EENZES LAELR N ok 1 g5 6 6 3168. 0 3168. 0
548 | R | B B T H 4 EEMNES RAEAR wHHA ol Bk 4 4 2112.0 2112.0
549 | T | B B I 4 EEMNES RAHELR WA ol A TR 4 4 2112.0 2112.0
550 | IR | B B T 4 EENES FAEAR WG Al BRZ 58N 4 4 2112.0 2112.0
551 | Wl | BT & JA] [ 4 EENZES RFHLLR AR gk ok 1 S 1 1 528. 0 528. 0
552 | T | BT B KB KEHXERS | RPER WIEE ok 1 S 4 2 1056. 0 1056. 0
553 | MR | B B KIS LRSS AL AR a7 Al IR 1 1 806. 0 806. 0
554 | IR | B B KIEH CERESS RAHEAR i Kl a =55 2 2 1056. 0 1056. 0
555 | T | B & KB LERESS RAHELR Y 7K ol TRy 1 1 806. 0 806. 0
556 | Wl T | BT B KB EENEES LAEAR R ok Bh= 57571 2 2 1056. 0 1056. 0
557 | BT | BT & KB MR 2 LAELR o] ) ok 1 S 3 3 1584. 0 1584. 0
558 |yl T | BT B KB FNZE LAELR WL el =578 71 9 9 4752.0 4752.0
559 | MR | B B KB MRNZES RATEAR YRt Al =557 8 8 4224. 0 4224. 0
560 | MR | B B KIEH MRNZES RAEAR YO BRIk gl IR 2 2 1056. 0 1056. 0
561 | Al | BB KB FAN 2 LAELR Ju/b B gk 1 IR 3 3 1584. 0 1584. 0
562 |yl | BB IR B EENEES LAELR Yol E ok 1 S 1 1 528.0 528. 0
563 | Al | BT E KB BN 2 LAELR Pl EpEn ok 1 =578 73 1 1 528. 0 528. 0
564 | R | B B KIEH MRNZES LAEAR A g P 5 4 2112.0 2112.0
565 | IR | B B KB RS AT AR Y ol A I 2 2 1056. 0 1056. 0
566 | BT | BB KB MRNZE LAELR YR ok 1 B 1 1 528.0 528. 0
567 | BT | BhvTE KB RN 2 REHELR Jo R ok 1 S 4 4 2112.0 2112.0
568 | i | BT B KB EENEES LAEAR Y X ok 3] 3 3 1584. 0 1584.0
569 | R | B B KB LRSS RAHELR SR Kl Al TR 1 1 528. 0 528. 0
570 | MR | B B KIEH MRNZES LATEAR Ju PRI gl a =N 3 3 1584. 0 1584.0
571 | IR | B & KB e ESS RAHELR JOAERR ol A BRI 3 1 528.0 528.0
572 | W | BT B IR B RN LAEAR YO Aok 1 S 1 1 528.0 528. 0
573 | Wl | BT E KB MM 2 LAELR Y ok 1 =578 73 2 2 1056. 0 1056. 0
574 | IR | B & KB LERGESS RAHELR By ol Bk 2 1 528.0 528.0
575 | R | B B KB RS RAHELR XA ol A PR 2 2 1056. 0 1056. 0
576 | MR | B B KIEH MRNZES FAEAR XA gl a I 4 4 2112.0 2112.0
577 | BT | BT & KB RN 2 RFHELR W ok 1 =578 73 3 3 1584. 0 1584. 0
578 | Wl T | BT B KB RN LAEAR ERKE ok B 1 1 528.0 528. 0
579 | MR | B B KB MRS AL AR S Al IR 4 4 2112.0 2112.0
580 | MR | B B KIEH MRS LATEAR JuEk gl 0 W= 5 5 2640. 0 2640. 0
581 | R | B & KB MRS RAHELR VAR ol A TRy 1 1 806. 0 806. 0




582 | MR | il B KB MRS RAHELR 4R K Al i BRZ 581 5 5 2640. 0 2640. 0
583 | MR | B B KIEH MRS LAEAR YA g I 4 4 2112.0 2112.0
584 | R | B & KB MRS RAHELR YR ol A Bk 2 2 1612.0 1612.0
585 | Wl | vl B KB MNZES LAEAR AR ok S 3 3 1584. 0 1584. 0
586 | Wl | BT & KB MM ZES LAELR JuEELE ok 1 =578 73 1 1 528. 0 528. 0
587 | IR | B B KB MRS RAHELR FEAES)S ol R 4 4 2112.0 2112.0
588 | T | il B KB LTS RATEAR Y R ol A TR 5 5 2640. 0 2640. 0
589 | MR | B & KIEH MRS FAEAR YA Jeqell BRZ 58N 1 1 528. 0 528. 0
590 | AT | BT & KB RN RFHLLR 65/ ok 1 S 6 4 2112.0 2112.0
591 | Al | BT & KB MENZES LAEAR O R ok 1 S 1 1 528.0 528. 0
592 | MR | B B KIS MRS AL AR PR Al TR 1 1 528. 0 528. 0
593 | MR | B B KIEH MiENZES LATEAR WEIT gl 0 W= 6 6 3168. 0 3168. 0
594 | IR | B & KB LTS RAHELR YA ol R 1 1 528.0 528.0
595 | Wl | BT B KB MENZES LAEAR YN ok S 1 1 528.0 528. 0
596 | BT | BT & KB MM ZES LAELR Y EH YL ok 1 g 4 4 2112.0 2112.0
597 | T | BT B KB MM ZES LAELR JEBHF ok B 7 7 3696. 0 3696. 0
598 | T | Bl B KB MRS RATEAR S ol A TR 3 3 1584. 0 1584.0
599 | MR | B B KIEH MRS RAEAR JuRfE gl IR 6 6 3168. 0 3168. 0
600 | AT | BT B KB MM ZES LAELR YRS gk 1 =578 73 1 1 528. 0 528. 0
601 |yl | Bvr B IR B MENZES LAELR YR ok 1 =578 71 8 8 4224.0 4224. 0
602 | BT | BhvTE KB MM ZES LAELR JOARIT ok 1 =578 73 3 3 1584. 0 1584. 0
603 | MR | B B KIEH MRS RAHEAR PR Kl a =55 5 5 2640. 0 2640. 0
604 | R | B B KIEHE N ZES AR Ju TR Ak E BRZ 58 1 1 806. 0 806. 0
605 | Al T | BT B KB MM ZES LAELR Yotk s ok 1 S 3 1 528.0 528. 0
606 | BT | BT & KB AN REHELR JuZEH ok 1 S 1 1 806. 0 806. 0
607 | Al | BT B IR B MENZES LAEAR ik ok =578 71 3 3 1584. 0 1584.0
608 | T | B B KB MRS LATE AR P Al i BRZ 581 4 4 2112.0 2112.0
609 | MR | B & KIEH MRS LATEAR MED gl a =N 3 3 1584. 0 1584.0
610 | R | B B KIEH PierES RAHELR B ol A =552 6 6 3168. 0 3168. 0
611 | T | BT & IR B PN ZEs LAEAR e A Aok 1 =578 71 4 4 2112.0 2112.0
612 | Wl | BhvTE KB PN ZEs LAELR [ ok 1 S 4 4 2112.0 2112.0
613 | IR | B & KB P ES RAHELR o5 2% ik ol Bk 1 1 528.0 528.0
614 | Nl | B B KB PierES RAHELR i)\ — el =553 1 1 528. 0 528. 0
615 | MR | B & KIEH P ES FAEAR JuIE gl a I 3 3 1584. 0 1584.0
616 | WlETT | BhvTE KB PN ZEs RFHELR JoEER ok 1 S 3 1 528. 0 528. 0
617 | AT | BB KB PN ZEs LAEAR Pexglll ok =578 71 2 2 1056. 0 1056. 0
618 | T | Bl B KB PierEs RAHELR YRR Al BRZ 581 2 1 528. 0 528. 0
619 | MR | B & KIEH PierEs LATEAR kTR gl 0 W= 2 2 1056. 0 1056. 0
620 | IR | B & KB PierES RAHELR Yok ol A R 5 5 2640. 0 2640. 0




621 | JlETT | B B KB PierES RAHELR YUY Al TR 1 1 528. 0 528.0
622 | R | BB KIEH PierEs LAEAR xSl gl a W= 1 1 528. 0 528. 0
623 | R | B B KB P ES RAHELR YRR Al =555 4 4 2112.0 2112.0
624 | Wl | BT B KB PN ZEs LAEAR YR ok S 5 1 528.0 528. 0
625 | WiETT | BhvTE KB PN ZEs LAELR PR apili ok 1 g5 4 4 2112.0 2112.0
626 | IR | B & KB PierES RAHELR Yo ol BRI 3 1 528.0 528.0
627 | R | B B KB Pier &S RAHELR B ol A TR 1 1 528. 0 528. 0
628 | MR | B & KIEH PirES FAEAR JLEA gl By 3 3 2418.0 2418. 0
629 | BT | BhvTE KB PN ZEs RFHLLR PENGELYN ok 1 S 3 3 1584. 0 1584. 0
630 | AT | BT B KB PN ZEs LAEAR YN ok 1 S 1 1 528.0 528. 0
631 | MR | B B KIS PierEs AL AR 0 Al TR 1 1 528. 0 528. 0
632 | NlET | B B KIEH PN ES LATEAR RN gl 0 W= 1 1 528. 0 528. 0
633 | IR | B & KB P ES RAHELR YRR ol R 3 3 1584. 0 1584. 0
634 | Wl | BT B KB PN ZEs LAEAR Y675 E ok Bh= 57571 5 5 2640. 0 2640. 0
635 | W | BT & KB PN ZEs LAELR PRl ok 1 =578 73 4 4 2112.0 2112.0
636 | AT | BT B KB PN ZEs LAELR D% ok S 1 1 528.0 528. 0
637 | MR | B B KB PierES RAHELR B ol A IR 3 3 1584. 0 1584.0
638 | MR | B & KIEH PirES RAEAR Juims gl Bk 1 1 528. 0 528. 0
639 | Wl | BB KB PN ZEs LAELR JEPRFK gk 1 IR 1 1 806. 0 806. 0
640 | T | BT B IR B PN ZEs LAELR Yo g H ok 1 =578 71 5 5 2640. 0 2640. 0
641 | Wl | BT E KB PN ZES LAELR PENIELL ok 1 =578 73 1 1 528. 0 528. 0
642 | R | B B KIEH PirEs LAEAR L] ol 0 W=l 5 5 2640. 0 2640. 0
643 | R | B B KB PierES AT AR W AR Al Bh=553h 4 4 2112.0 2112.0
644 | Wl | BT B KB PN ZEs LAELR EUNS ok 1 BhR= 57871 2 2 1056. 0 1056. 0
645 | W | BhTE KB PN ZEs REHELR wAith ok 1 =555 73 1 1 528. 0 528. 0
646 | T | BT B KB PN ZEs LAEAR RN ok S 1 1 528.0 528. 0
647 | R | B B KB PierEs RAHELR A Al i BRZ 581 2 2 1612.0 1612.0
648 | MR | B B KIEH PierEs LATEAR EE gl I 3 3 2418.0 2418. 0
649 | IR | B & KB PierES RAHELR B ol A R 6 6 3168. 0 3168. 0
650 | AT | BT B IR B PN ZEs LAEAR AR Aok 1 =578 71 1 1 528.0 528. 0
651 | BT | BhvTE KB PN ZEs LAELR WAL ok 1 S 5 5 2640. 0 2640. 0
652 | R | B B KB PN ES RAHELR W Al =53 4 4 2112.0 2112.0
653 | Nl | B B KB PierES FATEAR B el =553 1 1 528. 0 528. 0
654 | MR | B B KIEH P ES FAEAR IR gl a I 1 1 528. 0 528. 0
655 | BT | BT & KB PN ZEs RFHELR W ok 1 S 1 1 528. 0 528. 0
656 | Wl T | BT B KB PN ZEs LAEAR WY ok S 1 1 528.0 528. 0
657 | Nl | B B KB PierEs AL AR WK Al TR 2 2 1612.0 1612.0
658 | MR | B & KIEH PierEs LATEAR IR AR g P 2 2 1056. 0 1056. 0
659 | IR | B & KB PierES RAHELR i Al Bh=555h 1 1 528.0 528.0




660 | R | B B KB PierES RAHELR /S Al IR 2 2 1056. 0 1056. 0
661 | MR | B & KIEH PierEs LAEAR /M g FRIR 1 1 528. 0 528. 0
662 | IR | B & KB P ES RAHELR ESEN Al =555 1 1 806. 0 806. 0
663 | Wl T | BB KB PN ZEs LAEAR WERE ok S 4 4 2112.0 2112.0
664 | WlJE T | BEvTE KB PN ZEs LAELR BRI ok 1 S 4 4 2112.0 2112.0
665 | R | B & KB PierES RAHELR EAR Al =530 1 1 528.0 528.0
666 | MR | B B KB Pier &S RATEAR 301 ol A PR 1 1 528. 0 528. 0
667 | MR | B & KIEH PirES FAEAR EiNA gl I 1 1 528. 0 528. 0
668 | WliJE T | BT & KB PN ZEs RFHLLR WK ok 1 S 4 2 1056. 0 1056. 0
669 | Wl | BB KB PN ZEs LAEAR i ok 1 S 2 2 1612.0 1612.0
670 | MR | B B KIS PierEs AL AR B H K Al IR 2 2 1056. 0 1056. 0
671 | MR | B B KIEH M Es LATEAR g i Kl a =55 3 3 1584. 0 1584. 0
672 | R | B B KB P ES RAHELR R Al Bh=555h 4 4 2112.0 2112.0
673 | WlJE T | BT E KB PN ZEs LAEAR WAk ok Bh= 57571 2 2 1056. 0 1056. 0
674 | AR | BETE KB PN ZEs LAELR Wl ok 1 g 2 2 1056. 0 1056. 0
675 | T | BT B KB PN ZEs LAELR wER ok S 3 3 1584. 0 1584. 0
676 | MR | B B KB PierES RATEAR A ol A TR 1 1 528. 0 528. 0
677 | MR | Kk B KIEH PirES RAHELR % gl =55 5 5 2640. 0 2640. 0
678 | T | BT E KB PN ZEs LAELR i/ gk 1 =578 73 4 4 2112.0 2112.0
679 | Wl | BT B IR B PN ZEs LAELR RME ok 1 S 3 3 1584. 0 1584. 0
680 | Wl | BT & KB PN ZES LAELR RE ok 1 =578 73 2 2 1056. 0 1056. 0
681 | MR | B & KIEH PirEs LAEAR A H i ol 0 W=l 1 1 806. 0 806. 0
682 | MR | B B KB PierES AT AR R3S ol A I 4 4 2112.0 2112.0
683 | WliJE T | BT E KB PN ZEs LAELR b ok 1 S 2 2 1056. 0 1056. 0
684 | BT | BT & KB PN ZEs REHELR Jasaiivea ok 1 =555 73 1 1 528. 0 528. 0
685 |yl T | BT B KB PN ZEs LAEAR R EAN ok =578 71 5 5 2640. 0 2640. 0
686 | R | B B KB PierEs RAHELR Ev Al i BRZ 581 3 3 1584. 0 1584. 0
687 | MR | B & KIBH BN ES RAHELR RSERS gl a =550 1 1 528.0 528.0
688 | R | B & KB M &S RAHELR 58 ST ol A BRI 6 6 3168. 0 3168. 0
689 | Wl T | BT B IR B BN LAEAR K R Aok 1 =578 71 6 6 3168.0 3168. 0
690 | T | BT & KB BN LAELR B IKAE ok 1 S 2 2 1612.0 1612.0
691 | IR | B & KB BN ES RAHELR FHAE Al =53 1 1 528.0 528.0
692 | MR | B B KB MRS RAHELR XU el =553 1 1 528. 0 528. 0
693 | MR | B & KIEH BN ES FAEAR XN Al BRZ 58 1 1 528. 0 528. 0
694 | W | BT E KB BN RFHELR PERE ok 1 =578 73 7 7 3696. 0 3696. 0
695 | T | BT B IR B BN LAEAR PHEx ok =578 71 1 1 806. 0 806. 0
696 | R | B B KB BN ES AL AR EAs) Al BRZ 581 3 3 1584. 0 1584. 0
697 | MR | B B KIEH BENZES LATEAR EAE g I 1 1 528. 0 528. 0
698 | R | B & KB BN &S RAHELR 0 ol A Bk 1 1 528.0 528.0




699 | MR | B B KB BEMES AL AR WA Al i BRZ 581 4 4 2112.0 2112.0
700 | R | B A KIEH BN ES LAEAR W% g FRIR 5 5 4030. 0 4030. 0
701 | IR | B KB BEn &S RAHELR YA ol A =552 6 6 3168. 0 3168. 0
702 [ R | R B KIEH BN LAEAR D1 ok S 4 4 2112.0 2112.0
703 | Wl | BT E KB BN LAELR Lie ok 1 S 4 4 2112.0 2112.0
704 | IR | B KB BN ES RAHELR RIRAR ol BRI 3 3 1584. 0 1584. 0
705 | R | B KB BN &S RAHELR RARIR Al =553 5 5 2640. 0 2640. 0
706 | MR | B A KIEH BENES FAEAR RER Al BRZ 58N 4 3 1584. 0 1584. 0
707 | AT | BEATE KB BN RFHLLR K& ok 1 =558 73 1 1 528. 0 528. 0
708 | Al | BT B IR B BN LAEAR R ek 1 =578 71 4 4 2112.0 2112.0
709 | JlETT | B B KIS BN TS RAHELR A Al IR 2 2 1056. 0 1056. 0
710 | R | BB KIEH BENZES LATEAR REE g By 5 5 2640. 0 2640. 0
711 | IR | B KB BN &S RAHELR AN Al Bh=555h 1 1 528.0 528.0
712 | Wl | BB KB BN LAEAR RATIE ok S 5 5 2640. 0 2640. 0
713 | AT | KRR KB BN LAELR REML ok 1 S 5 5 2640. 0 2640. 0
714 | AT | BB KB BN LAELR A E ok =578 71 1 1 528.0 528. 0
715 | R | B B KB BN &S RATEAR ENIIE;] ol A TR 4 1 528. 0 528. 0
716 | R | B A KIEH BENZES RAEAR EIIIE] Al W= 2 2 1056. 0 1056. 0
717 | AT | BB KB BNz LAELR Rtk gk 1 TR 3 3 1584. 0 1584. 0
718 | R | BB KIEH BN LAELR RNk ok 1 S 1 1 806. 0 806. 0
719 | AT | BT E KB BN LAELR & ok 1 S 4 4 2112.0 2112.0
720 | R | B A KIEH BN &S LAEAR RN ol 0 W=l 1 1 528. 0 528.0
721 | R | B R KB BN &S RAHELR RV ol A R 6 6 3168. 0 3168. 0
722 | W | BB KB BN LAELR RETT ok 1 BhR= 57871 5 5 2640. 0 2640. 0
723 | W | BT E KB BN REHELR REFE ok 1 S 3 3 2418.0 2418. 0
724 | AT | BT B KB BN LAEAR RIE ] ok =578 71 1 1 528.0 528. 0
725 | R | B R KB MRS RAHELR RGN Al TR 1 1 528. 0 528. 0
726 | R | B R KIBH BN ES RAHELR X Rl A =550 2 2 1056. 0 1056. 0
727 | IR | B KB M &S RAHELR KWAH ol A R 5 5 2640. 0 2640. 0
728 | R | BB KIEH BN LAEAR ARAF Aok 1 =578 71 3 3 1584. 0 1584. 0
729 | W | BT E KB BN LAELR AR ok 1 =578 73 1 1 528. 0 528. 0
730 [ R | B B KB BN ES RAHELR RAEA ol =552 0 3 3 2418. 0 2418. 0
731 | R | B R KB MRS FATEAR ESupl ol A TR 3 1 528. 0 528. 0
732 | AR | B B IKJEHE BENZES FAEAR R b BRI 2 2 1056. 0 1056. 0
733 | W | KRR KB BN RFHELR REIL ok 1 S 1 1 528. 0 528. 0
734 | AT | BB KB BN LAEAR REEG ok S 1 1 528.0 528. 0
735 | Wl | B KB BN ES RAHELR N Al IR 4 4 2112.0 2112.0
736 | MR | B A KIEH BENZES LATEAR REFH gl 0 W= 3 3 1584. 0 1584. 0
737 | IR | B KB BN &S RAHELR R ol A R 3 3 1584. 0 1584. 0




738 | MR | B A KB BEMES RAHELR RIG 55 Al i BRZ 581 1 1 528. 0 528. 0
739 | R | B A KIEH BENZES LAEAR RIKEE gl a W= 3 3 1584.0 1584.0
740 | IR | B KB BEn &S RAHELR R ol A HAh 3 2 1612.0 1612.0
741 | AT | BB KB BN LAEAR 84 FELR el =578 71 4 4 2112.0 2112.0
742 | AT | BT E KB BN LAELR i ok 1 g5 1 1 528. 0 528. 0
743 | IR | B KB BN ES RAHELR JEAT 3 Al =530 2 2 1056. 0 1056. 0
744 | R | B R KB N ES RAHELR DG ol A TR 1 1 528. 0 528. 0
745 | R | B A KIEH HHENES FAEAR XIE R Al BRZ 58N 1 1 806. 0 806. 0
746 | W | BETE KB NS RFHLLR Y ok 1 S 1 1 528. 0 528. 0
747 | AT | BB KB WM LAEAR A ok 1 S 1 1 806. 0 806. 0
748 | MR | B B KIS N ES RAHELR B Al IR 2 2 1056. 0 1056. 0
749 | R | B A KIEH MBS LATEAR i g By 2 2 1612.0 1612.0
750 | R | B B KIEH MBS RAHELR iR ol =552 4 4 2112.0 2112.0
751 | Wl | BB KB TN RS LAEAR Ropnid ok Bh= 57571 1 1 528.0 528. 0
752 | W | KRB KB N RS LAELR wmE ok 1 g 4 2 1612.0 1612.0
753 | W | BT B KB YN RS LAELR A ok =578 71 3 3 2418.0 2418. 0
754 | R | BB KB TS RATEAR B i ol A IR 1 1 528. 0 528. 0
755 | IR | B B KIEH N ES RAHELR ki gl Bk 1 1 528. 0 528. 0
756 | W | BB KB N RS LAELR LM gk 1 =578 73 2 2 1056. 0 1056. 0
757 | AT | BB IR B YN RS LAELR P HEK ok 1 =578 71 1 1 528.0 528. 0
758 | R | BB KB N ES LAELR B ok 1 =578 73 2 2 1056. 0 1056. 0
759 | MR | B A KIEH N ES LAEAR Ttk ol 0 W=l 1 1 528. 0 528.0
760 | JlET | B R KB s E S AT AR T ol A Bk 1 1 528.0 528.0
761 | Wl | BB KIEH N RS LAELR E2/IA ok 1 S 6 6 3168.0 3168. 0
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1025 | 2T | B & KB PN ZES LAELR 3k ok 1 =578 73 6 6 3168. 0 3168. 0
1026 | ylJET | Bl £ KB DNz LAELR PRE ok =578 71 2 2 1056. 0 1056. 0
1027 | i | Bl & KB TN ES RATEAR T Al =557 1 1 528. 0 528. 0
1028 | i | Bl & KIEH TN ES RAEAR IR Jeqenlk W= 6 6 3168. 0 3168. 0
1029 | 2T | B £ KB BNz LAELR g g gk 1 =578 73 7 7 3696. 0 3696. 0
1030 |yl | Ry B IR B R Z e LAELR LSy ok 1 =578 71 8 8 4224.0 4224. 0
1031 | A& | Rl & KIEH PRI Z LAELR FLF5 N ok 1 =578 73 5 5 2640. 0 2640. 0
1032 [ T | B & KIEH N RAHEAR S ol 0 Bk 3 3 1584. 0 1584. 0
1033 | i | B & KB N RAHELR WK ol A Bk 1 1 528.0 528.0
1034 | )2 | B £ KB RN Z S LAELR WL ok 1 S 8 8 4224.0 4224. 0
1035 | )& T | Rl & K PRI Z REHELR BRI ok 1 S 1 1 528. 0 528. 0
1036 | yl)E T | Bl £ KB RN LAEAR WK ok 3] 1 1 528.0 528. 0
1037 | i | B & KB R RAHELR WEK Al i BRZ 581 2 2 1056. 0 1056. 0
1038 | AR | Rkl B KIEH RN LATEAR PUAEE gl I 3 3 1584. 0 1584.0
1039 | AT | Bl B KB R RAHELR 30 ol A R 4 4 2112.0 2112.0
1040 | =T | R & IR B RN LAEAR WX Aok 1 =578 71 4 4 2112.0 2112.0
1041 | A& T | Rl & KIEH PRI Z LAELR EN ok 1 S 7 7 3696. 0 3696. 0
1042 | AT | Rl & KIEH PRI ES RAHELR EAiM ol R 1 1 528.0 528.0
1043 | i | B KB R FATEAR Egies] ol A =557 5 5 2640. 0 2640. 0
1044 | R | Bl & KIEH N FAEAR Eii gl a I 6 6 3168. 0 3168. 0
1045 | 2T | Bl & KIEH RN Z RFHELR o2 iU ok 1 =578 73 4 4 2112.0 2112.0
1046 | yl)E T | BT £ KB RN LAEAR 2R ok S 3 3 1584. 0 1584. 0
1047 | AR | Rk B KIEH N AL AR QL] Al BRZ 581 5 5 2640. 0 2640. 0
1048 | i | Bl & KIEH PRI R LATEAR KkE g P 2 2 1056. 0 1056. 0
1049 | AT | Rl B ] 14 Bl ETS RAHELR WraEAE Al Bh=555h 1 1 528.0 528.0




1050 | AT | Rl B I 14 SRS RAHELR 2 g Al TR 4 4 2112.0 2112.0
1051 | AT | Rl & I 4 SRS LAEAR I g I 1 1 528. 0 528. 0
1052 | AR | Bl B I 148 SRS RAHELR B K ol A Bk 2 2 1056. 0 1056. 0
1053 | W | Rl & T 14 SN ZE LAEAR P EAF ok S 4 4 2112.0 2112.0
1054 | IR | Rl 2 T 14 SN2 LAELR DT ok 1 B 6 6 3168. 0 3168. 0
1055 | JETH | Rl & ] 14 SRS RAHELR PR ol HAh 6 6 3168. 0 3168. 0
1056 | AT | Rk B I 4 SN RATEAR B a3 Al PR 1 1 528. 0 528. 0
1057 | AT | Rl & I 14 SRS FAEAR 5 Al BRZ 58N 3 3 1584. 0 1584. 0
1058 | ylJE T | Bl & T 14 SN2 RFHLLR YR E ok 1 S 1 1 528. 0 528. 0
1059 | AT | Rk B I 14 SN ZE2 LAEAR PRk ok 1 S 2 1 528.0 528. 0
1060 | AT | Rk B I 4 SN AL AR LR Al IR 4 4 2112.0 2112.0
1061 | AT | Rl & I 148 SRS LATEAR P& g BRI 1 1 528. 0 528. 0
1062 | AR | Rl B I BlIRGERS RATEAR B Al R 4 4 2112.0 2112.0
1063 | yl)E T | bl £ T 14 SIINZES LAEAR DR ok Bh= 57571 5 5 2640. 0 2640. 0
1064 | W= | Fl 2 T 14 SN ZE 2 LAELR 7540 ok 1 =578 73 1 1 528. 0 528. 0
1065 | IR | Rk B ] 145 SIINZE LAELR PR Ak H S 3 1 528.0 528. 0
1066 | AT | Rk B I SN RATEAR W5 Al IR 4 4 2112.0 2112.0
1067 | AT | Rl & ] 4 SIINZES RAEAR F R gl IR 2 2 1056. 0 1056. 0
1068 | ilE T | Fir B T 145 SN Z2 LAELR T gk 1 TR 1 1 528. 0 528. 0
1069 | AR | Rk 7] 14 SIINZE LAELR B ok 1 S 2 2 1056. 0 1056. 0
1070 | AT | Rl & I 14 SN2 LAELR T&n ok 1 =578 73 3 3 1584. 0 1584. 0
1071 | AT | Rl & I 145 SIIINZES LAEAR Tk g P 2 2 1056. 0 1056. 0
1072 | i | B & ] 14 Bl ESS RAHELR TRk ol A TR 3 1 528.0 528.0
1073 | )2 | Bl £ T 14 SN ZE2 LAELR REA ok 1 S 2 2 1056. 0 1056. 0
1074 | W2 | B £ I 14 SN ZE2 REHELR AR Ak S 2 2 1056. 0 1056. 0
1075 | AT | Rk B I 14 SIINZES LAEAR BB Ak HAh 5 5 2640. 0 2640. 0
1076 | AT | Rk B I 14 SN TS RAHELR ES S Al TR 1 1 528. 0 528. 0
1077 | AT | Rl & I 14 SRS LATEAR R gl i 3 3 1584. 0 1584.0
1078 | AT | Rl B I 148 SR ESS RAHELR Lif2 ol A R 2 2 1056. 0 1056. 0
1079 | AT | Rk & T 14 SIIINZE LAEAR BN Aok 1 =578 71 4 4 2112.0 2112.0
1080 | yilETH | Flir & T 14 SN2 LAELR KB ok 1 HAh 1 1 528. 0 528. 0
1081 | JETH | Bl B ] 14 S &R RAHELR TRRKE ol R 3 3 1584. 0 1584. 0
1082 | AT | Rl B I 4 SN ZTES RAHELR 7K 2 el i 4 2 1056. 0 1056. 0
1083 | T | Byl B Vi) 1 £E FIIN TS FAEAR i Ak BRI 1 1 528.0 528.0
1084 | )& [ B £ T 14 TN RFHELR PRI ok 1 HAh 5 5 2640. 0 2640. 0
1085 | T | Rk & T 14 FIN T LAEAR R 2 7K Ak H S 2 2 1056. 0 1056. 0
1086 | AT | Rk B I 4 FiMEL AL AR ES Al TR 1 1 528. 0 528. 0
1087 | AT | Rl & I 148 FIIN TS LATEAR XK g BRI 3 1 528. 0 528. 0
1088 | T | Flivl B ] 14 FiM B RAHELR X1 el ik Al Bh=555h 3 3 1584. 0 1584. 0




1089 | AT | Rkl B I 14 FM B RAHELR XA Al i 5 5 2640. 0 2640. 0
1090 | T | Byl B Vi) 18 NS LAEAR ISP Ak HAh 6 6 3168.0 3168.0
1091 | AR | Bl B I 4 FIN T2 RAHELR SRS ol A R 4 4 2112.0 2112.0
1092 | AT | Rk & T 14 FIN LAEAR EXie ok HAth 8 8 4224.0 4224. 0
1093 | 2T | Rl 2 T 14 TN LAELR YRR ok 1 HAh 6 6 3168. 0 3168. 0
1094 | AETH | Bl & ] 148 FNES RAHELR BN ol Bk 1 1 528.0 528.0
1095 | AT | Rk B I 4 FIN T2 RAHELR iR ol A TR 4 4 2112.0 2112.0
1096 | AT | Rl & I 14 FMEL FAEAR FEAEf gl By 1 1 528. 0 528. 0
1097 | )2 | B & T 14 TN RFHLLR XYt ok 1 S 1 1 528. 0 528. 0
1098 | iR | Rk & I 14 FIN T LAEAR IRt ok 1 S 3 3 2418.0 2418. 0
1099 | AT | Rk & I 4 FiM B AL AR Tt /U Al IR 3 3 1584. 0 1584. 0
1100 | AT | Rl & I 148 FIIN TS LATEAR Ak g I 1 1 528. 0 528. 0
1101 | abETH | Bk B I 14 ER RAHELR EHKE ol R 6 4 2112.0 2112.0
1102 | )2 | b & g ERINE LAEAR DS ok oAt 2 2 1056. 0 1056. 0
1103 | AT | Fl 2 T 14 BRI LAELR W ok 1 HAh 4 4 2112.0 2112.0
1104 | AT | kw5 ] 145 FIN T LAELR W ok HoAth 4 4 2112.0 2112.0
1105 | AT | Rk & I FIN T2 RATEAR W ol A IR 1 1 528. 0 528. 0
1106 | AT | Rl & I 48 FMES RAEAR WK B gl IR 1 1 528. 0 528. 0
1107 | AT | Rk 5 T 145 FIIN T2 LAELR WALk gk 1 HAh 8 7 3696. 0 3696. 0
1108 | W& | Rk & 7] 14 FIN T LAELR 7500 ok 1 =578 71 3 3 1584. 0 1584. 0
1109 | AT | Fl & T 14 TN T LAELR TN ok 1 oAt 2 2 1056. 0 1056. 0
1110 [ T | Bl & ] 14 FiM &L LAEAR Pt Kl a i 2 2 1056. 0 1056. 0
1111 | i | B ] 14 ERIN S RAHELR RE#k ol A Bk 1 1 528.0 528.0
1112 | a2 | b & T 14 FIN LAELR B ok 1 S 2 2 1056. 0 1056. 0
1113 | )2 | B & I 14 TN REHELR B Ak S 1 1 528. 0 528. 0
1114 | AT | R 5 7] 14 FIN T LAEAR AR ok S 2 1 528.0 528. 0
1115 | abET | Rl & I 14 FM B RAHELR R Al PR 5 5 2640. 0 2640. 0
1116 | abET | Rl & I 14 FiM &S LATEAR FFERL gl a =N 4 4 2112.0 2112.0
1117 | AR | Bl B ] 14 FiM B RAHELR ESieis ol A HAh 5 5 2640. 0 2640. 0
1118 | Wi | Rk & T 14 FIN LAEAR REIL Aok 1 S 1 1 528.0 528. 0
1119 | AT | Rl I 40 ERIN LAELR Wi ok 1 =578 73 5 5 2640. 0 2640. 0
1120 | AR | Bk & ] 148 FMEE RAHELR ERGES ol R 2 2 1056. 0 1056. 0
1121 | abET | Rk & I 4 FIN T2 FATEAR A ol A PR 3 3 1584. 0 1584.0
1122 | W | B B Vi) 1 £E FIIN TS FAEAR EEN Ak [ b 2 2 1056. 0 1056. 0
1123 | W2 | b & T 14 TN RFHELR 54 0k ok 1 S 8 8 4224. 0 4224. 0
1124 | AT | R 5 T 14 FIN T LAEAR HORKZE ok HAth 6 6 3168.0 3168. 0
1125 | abET | Rl & I 4 FiMEL AL AR R Al IR 3 3 1584. 0 1584. 0
1126 | AR | Rl & I 148 FIIN TS LATEAR TRER bR g BRI 4 4 2112.0 2112.0
1127 | AT | Rk B ] 14 FiM B RAHELR TR Al Bh=555h 1 1 528.0 528.0




1128 | AT | Rk & I 14 FM B RAHELR JAE Al i BRZ 581 3 3 1584. 0 1584. 0
1129 | abET | Rl & I 4 FNES LAEAR Rk g I 3 1 528. 0 528. 0
1130 | AT | Bl B I 148 DN ETS RAHELR ) ol A HAh 7 7 3696. 0 3696. 0
1131 | Wi | Rk & I 14 B A 252 LAEAR ZEIk ok S 2 2 1056. 0 1056. 0
1132 | a2 | Rl I 40 WA 252 LAELR B ok 1 HAh 2 2 1056. 0 1056. 0
1133 | AR | Bl & ] 14 DN eSS RAHELR et ol Bk 1 1 528.0 528.0
1134 | abET | Rk & I 14 LI ETS RAHELR R Al =557 4 4 2112.0 2112.0
1135 | T | B B Vi) 1 £E P A Z 2 AR AR psas il Ak [ ba) 3 3 1584. 0 1584. 0
1136 | )2 | B & T 14 B A 252 RFHLLR Bk i ok 1 S 1 1 528. 0 528. 0
1137 | W2 | k& b g B A 252 LAEAR Wi ok 1 S 6 6 3168.0 3168. 0
1138 | AT | Rkl & I 1 DI ETS AL AR KR Al IR 2 2 1056. 0 1056. 0
1139 | AT | Rl & ] 4 WA Z 2 LATEAR BRI g By 6 6 3168. 0 3168. 0
1140 | AT | Rl B I 148 LN ETS RAHELR Rk ol R 1 1 528. 0 528.0
1141 | W) | R & I 114 WA 252 LAEAR (ESioas ok S 6 6 3168.0 3168. 0
1142 | A= | Rl I 4 B A 22 LAELR HEZE Ak S 3 3 1584. 0 1584. 0
1143 | W2 | BB g B A 252 LAELR TR ok S 1 1 528.0 528. 0
1144 | JbET | Rk & I 14 LI ETS RAHELR NS Al =557 1 1 528. 0 528. 0
1145 | JbET | Rl & I 48 XMz RAEAR LIEEUS gl Bk 1 1 528. 0 528. 0
1146 | AT | Rl 5 I 4 MIINZE2 LAELR bl gk 1 IR 2 2 1612. 0 1612.0
1147 | Wi | R g MIINZE2 LAELR LikiiPin ok 1 S 3 3 1584. 0 1584. 0
1148 | AT | Fl & P mEs MM ZE2 LAELR W= ok 1 =578 73 1 1 528. 0 528. 0
1149 | AT | Rl & I 145 XM Z S LAEAR A g P 2 2 1612.0 1612.0
1150 | qliEis | B & I 148 IR ETS RAHELR g ol A =552 6 6 3168. 0 3168. 0
1151 [T | B & ] 14 MM %S RIHEAR LR il a =550 5 5 2640. 0 2640. 0
1152 | v | B & ] 148 MM ZE RAHELR i Py ol a At 1 1 528.0 528.0
1153 | W2 | Rk & g MIINZE2 LAEAR WARE ok S 3 3 1584. 0 1584.0
1154 | JbETH | Rl & I 14 XM 2 RAHELR RE K Al TR 1 1 528. 0 528. 0
1155 | aET | Rl & I 14 XM Z LATEAR RS gl I 1 1 528. 0 528. 0
1156 | AT | Rl B ] 14 IR ETS RAHELR R ol A R 4 4 3224. 0 3224. 0
1157 | AT | Rk & T 14 MIINZE2 LAEAR RSB Ak S 3 3 1584. 0 1584. 0
1158 | & | Rl & I 40 MINZE2 LAELR 75 ok 1 =578 73 4 4 2112.0 2112.0
1159 | AR | Rl & ] 14 B INES RAHELR ZRER ol BRI 3 3 1584. 0 1584. 0
1160 | AT | Rk & I 4 EANGESS RAHELR DS el PR 6 6 3168. 0 3168. 0
1161 | AL | R & ] 4 B IINES FAEAR 2R gl a By 1 1 528. 0 528. 0
1162 | W2 | b & T 14 B INES RFHELR FIRTS Ak S 2 2 1056. 0 1056. 0
1163 | A& | Rk & b g B INES LAEAR B ok HAth 1 1 528.0 528. 0
1164 | AL | Rl & I 148 EANEESS AL AR ERS Al TR 1 1 528. 0 528. 0
1165 | AR | Rl & ] 4 B INES LATEAR Zt B g I 1 1 528. 0 528. 0
1166 | AR | Fl B I 148 B INES RAHELR AN ol A HAh 3 3 1584. 0 1584. 0




1167 | AR | Rl & I 115 EANEESS RAHELR 2K EE Al i BRZ 581 5 5 4030. 0 4030. 0
1168 | AR | Rl & ] 14 B INES LAEAR 2K R g FRIR 1 1 528. 0 528. 0
1169 | JET | Fl B I 148 B INES RAHELR Ak 4 ol A Bk 1 1 528.0 528.0
1170 | AT | Rk & T 14 B INES LAEAR FHE ok S 1 1 528.0 528. 0
1171 | AT | Rl I 148 EAEESS LAELR ZEHR ok 1 g5 1 1 528. 0 528. 0
1172 | AR | Bl & ] 14 B INES RAHELR Tk ol R 3 3 1584. 0 1584. 0
1173 | AT | Rk & I 14 EANEESS ARAHEAR BiK % ol A R 4 4 2112.0 2112.0
1174 | AL | Rl & ] 14 B IINES FAEAR LiliiEa gl I 1 1 528. 0 528. 0
1175 | )2 | B & I 14 EAEESS RFHLLR KRR ok 1 S 1 1 528. 0 528. 0
1176 | AT | Rk 5 I 14 B IFNES LAEAR gk ok 1 S 1 1 528.0 528. 0
1177 | AT | Rk & I 1148 EANEESS AL AR gl Jeqenl IR 6 6 3168. 0 3168. 0
1178 | AT | Rl & ] 4 KM E LATEAR R g BRI 1 1 806. 0 806. 0
1179 | AT | Rl B I 148 KM &L RAHELR T ol R 5 5 2640. 0 2640. 0
1180 |yl | vl & I 14 S LAEAR REE ok oAt 4 4 2112.0 2112.0
1181 | T | Rl & P mEs KN 22 LAELR BB ok 1 g 1 1 528. 0 528. 0
1182 | W | Rk & ] 145 KN ZE2 LAELR s ok S 3 1 528.0 528. 0
1183 | AT | Rkl & I 14 KM &L ARAHEAR B & ol A R 3 3 1584. 0 1584. 0
1184 | AR | Rl & ] 4 e RAEAR i ol PIF 1 1 528. 0 528. 0
1185 |yl [ Bl & g KN T2 LAELR W gk 1 TR 2 1 806. 0 806. 0
1186 | IR | Rk & g KN LAELR L imaiis ok 1 S 2 1 528.0 528. 0
1187 | & | Rl & T 14 KN T2 LAELR i HI ok 1 =578 73 4 4 2112.0 2112.0
1188 | AT | Rl & ] 14 KM ES LAEAR k&R g Bk 2 2 1056. 0 1056. 0
1189 | AT | Rkl & I 148 S RAHELR TRRIE ol A TR 2 2 1056. 0 1056. 0
1190 | )2 | b & T 14 KN ZE2 LAELR TRARER ok 1 S 1 1 528.0 528. 0
1191 | )T | B & I 14 KN 2 REHELR kAE ok 1 S 2 2 1056. 0 1056. 0
1192 | A& | Rl & g KN ZE2 LAEAR SR ok S 3 3 1584. 0 1584.0
1193 | AT | Rk & I 14 S RAHELR TkKEE Al TR 1 1 528. 0 528. 0
1194 | iR | By £ ] 4 KM ES RAHELR kA gl a =550 5 4 2112.0 2112.0
1195 | JETH | Bl B I 148 KM &E L RAHELR kKR ol A Bk 2 2 1612.0 1612.0
1196 | AT | Rl & I 14 N LAEAR ik K Aok 1 S 6 6 3168.0 3168. 0
1197 | W2 | Rl 2 T 14 KN 2 LAELR RIRIE Jegalk 1 HAh 3 3 1584. 0 1584. 0
1198 | AT | Rl & ] 14 KM & RAHELR AT Al =53 2 2 1056. 0 1056. 0
1199 | AT | Rk & I 14 KM &L RAHELR kA4 ol A PR 5 5 2640. 0 2640. 0
1200 | AT | Rl & ] 4 KM ES FAEAR KT gl a By 3 3 1584. 0 1584.0
1201 | )2 | B & T 14 BAEN T RFHELR AR ok 1 S 1 1 528. 0 528. 0
1202 | AT | Rk 5 T 14 BAEN S LAEAR 255 ok S 1 1 528.0 528. 0
1203 | AT | Rk B I 148 BrEm &S AL AR B Al i 6 6 3168. 0 3168. 0
1204 | 2T | BB Vi) 1 £EL NS LATEAR 2R Ak [ bA) 2 2 1056. 0 1056. 0
1205 | AT | Rl B I 148 M E S RAHELR R ol A TR 8 8 4224. 0 4224. 0




1206 | AT | Rk B I 14 HrEm &S AL AR ES S Al TR 1 1 528. 0 528. 0
1207 | AT | Rl & I 146 BB LAEAR R g i 6 6 3168. 0 3168. 0
1208 | AT | Bl B I 148 M & RAHELR T ol A Bk 1 1 528.0 528.0
1209 | AT | Rk & T 14 BAEN TS LAEAR K ok S 5 5 2640. 0 2640. 0
1210 | AT | Rl 2 T 14 BAEN T LAELR Kk ok 1 HAh 1 1 528. 0 528. 0
1211 | JbETH | Bl & ] 14 BN B RAHELR k& ol R 7 7 3696. 0 3696. 0
1212 | AT | Rk & I 14 BrEm & RAHELR Eun ol A TR 1 1 528. 0 528. 0
1213 | AT | Rl & I 16 M E S FAEAR IR gl By 1 1 528. 0 528. 0
1214 | W2 | B & T 14 BEN T RFHLLR THE ok 1 S 1 1 528. 0 528. 0
1215 | AT | k& I 14 BAEN S LAEAR B eI ok 1 S 5 5 2640. 0 2640. 0
1216 | AT | Rl & I 1148 BriEm &S AL AR R Al IR 2 1 528. 0 528. 0
1217 | AT | Rl & ] 4 BN B LATEAR W R g BRI 1 1 528. 0 528. 0
1218 | AT | Bl B I 148 MBS RAHELR IR ol Bk 1 1 528.0 528.0
1219 | W2 | R £ T 14 AEN TS LAEAR B 5 % ok S 5 5 2640. 0 2640. 0
1220 | AT | Rl 5 T 14 BEN LAELR K HEF ok 1 g 4 4 2112.0 2112.0
1221 | AT | kB ] 145 EN S LAELR R ok S 1 1 528.0 528. 0
1222 | AT | Rk B I 14 HrEm & RAHELR Jetes ol A IR 5 5 2640. 0 2640. 0
1223 | AT | Rl & I 1148 NS RAHELR R EHIR gl i 1 1 528. 0 528. 0
1224 | AT | Rk T 145 BAEN T LAELR KA gk 1 TR 1 1 528. 0 528. 0
1225 | W | k5 I 114 RN LAELR X E #R ok 1 HAth 5 5 2640. 0 2640. 0
1226 | AR | Fl & I 14 LRNZES LAELR EES ok 1 =578 73 3 3 1584. 0 1584. 0
1227 | AT | Rk B ] 14 THENZES LAEAR R g Bk 3 3 1584.0 1584. 0
1228 | AT | R B I 14 RN RAHELR 2R ol A TR 2 2 1056. 0 1056. 0
1229 | W2 | b & T 14 RN LAELR ZEIKIR ok 1 S 4 4 2112.0 2112.0
1230 | )2 | B & I 14 THMNZES REHELR AR ok 1 S 6 6 3168. 0 3168. 0
1231 | AT | Rk B 7] 14 TN ZES LAEAR ESSE ok S 1 1 806. 0 806. 0
1232 | JbETH | Rk & I 14 RN RAHELR HHF Al i 4 4 2112.0 2112.0
1233 | AT | Rl & I 14 THENZES LATEAR W% gl I 1 1 528. 0 528. 0
1234 | AT | Bl B ] 14 TEMNES RAHELR LiENT ol A HAh 3 3 1584. 0 1584. 0
1235 | W | Rk & I 14 RN LAEAR EimE Aok 1 B 4 4 2112.0 2112.0
1236 | W2 | Rl I 14 THEMNZES LAELR (el Ak S 1 1 528. 0 528. 0
1237 | AR | Bl & ] 148 TEMNES RAHELR HFHEHk ol Bk 1 1 528.0 528.0
1238 | AT | Rk B I 4 TN RAHELR i[5 44 ol A PR 1 1 528. 0 528. 0
1239 | AT | Rl & I 14 THENZES FAEAR AL gl a By 1 1 528. 0 528. 0
1240 | W)= | B £ I 14 RN TS RFHELR LIPS ok 1 HAh 6 6 3168. 0 3168. 0
1241 | Wb | R 5 T 14 TN ZES LAEAR =X ok =578 71 5 3 1584. 0 1584. 0
1242 | JbETH | Rk B I 11 RN RAHELR R g Hhth 3 3 1584. 0 1584. 0
1243 | T | By £ T 14 THENZES RAHELR A, Kl a b 3 3 1584. 0 1584. 0
1244 | AT | Rl B ] 14 TEMNES RAHELR LREPA ol A HAh 7 7 3696. 0 3696. 0




1245 | JLETH | Rk B I 14 TEMNES RAHELR AR TR Al i BRZ 581 7 7 3696. 0 3696. 0
1246 | AT | Rl & ] 4 THENZES LAEAR 7K g I 6 6 3168. 0 3168. 0
1247 | AR | Bl B ] 14 TEMNES RAHELR LR ol A TR 3 3 1584. 0 1584. 0
1248 | W | Rk & I 14 TN ZES LAEAR RS ok S 2 2 1056. 0 1056. 0
1249 | AR | Rl I 148 LR LAELR TRk ok 1 HAh 3 3 1584. 0 1584. 0
1250 | JETH | Bl B ] 148 TEMNES RAHELR KEBE ol Gy 1 1 806. 0 806. 0
1251 | JET | Rk & I 14 TEMNES RAHELR KEB ol A =557 1 1 528.0 528.0
1252 | T | B B T4 THENZES FAEAR N Ak BRI 3 3 1584. 0 1584. 0
1253 | W2 | B & I 14 RN RFHLLR ETE ok 1 S 1 1 528. 0 528. 0
1254 | AT | kB I 14 RN ES LAEAR B ok 1 =578 71 6 6 3168.0 3168. 0
1255 | JETH | Rk B I 4 A RS AL AR E i Al BRZ 58 5 4 2112.0 2112.0
1256 | T | B & ] 4 A RS LATEAR Tk ol =55 1 1 528. 0 528.0
1257 | AT | Bl B I RN RAHELR HEE Al Bh=555h 4 4 2112.0 2112.0
1258 | W& | Fhivr £ T 14 RN ES LAEAR KTk ok S 1 1 528.0 528. 0
1259 | W2 | Rl 2 T 14 RN RS LAELR KT ok 1 g 1 1 528. 0 528. 0
1260 | W2 | Rk B ] 145 RN ES LAELR KR ok S 1 1 528.0 528. 0
1261 | AT | Rk & I 14 RN ARAHEAR G SLS ol A =557 1 1 528. 0 528.0
1262 | WET | B B b ug:s MRS RAEAR R IR Ak HAh 6 6 3168.0 3168.0
1263 | W2 | Flr 5 T 145 RN RS LAELR RE gk 1 HAh 5 5 2640. 0 2640. 0
1264 | AR | Rl 7] 14 RN RS LAELR RBLT ok 1 S 2 2 1056. 0 1056. 0
1265 | IR | Fl 2 T 14 RN ES LAELR KT ok 1 g5 5 5 2640. 0 2640. 0
1266 | AT | Rl & I 145 R RS LAEAR R g Bk 1 1 528. 0 528.0
1267 | AT | Rl & I 14 RN RAHELR JAEH Al Bh=553h 9 9 4752. 0 4752. 0
1268 | yl)E T | bl £ T 14 RN RS LAELR KK ok 1 S 1 1 528.0 528. 0
1269 | 2T | B £ I 14 RN RS REHELR EFKE ok 1 =555 73 2 2 1056. 0 1056. 0
1270 | AT | Rk B 7] 14 RN ES LAEAR Kb ok S 1 1 528.0 528. 0
1271 | AT | Rk & I 14 N RAHELR KEE g HAth 3 3 1584. 0 1584. 0
1272 | AT | Rl & ] 14 A RS RAHELR RAR Al itk 3 3 1584. 0 1584. 0
1273 | AR | Bl B ] 14 RS RAHELR K BEH ol A BRI 5 5 2640. 0 2640. 0
1274 | AT | BB T 14 RN RS LAEAR KBelE Aok 1 HAth 7 7 3696. 0 3696. 0
1275 | W2 | Rl T 14 RN RS LAELR RIREE ok 1 S 5 5 2640. 0 2640. 0
1276 | JETH | Bl B ] 148 A RS RAHELR RIRE Al =53 1 1 528.0 528.0
1277 | Wb | BB A 1 N FATEAR A5 b E HAh 5 5 2640. 0 2640. 0
1278 | JiE T | Bl £ T 14 A RS RAHELR b Al itk 2 2 1056. 0 1056. 0
1279 | W)= | B £ T 14 RN RS RFHELR KA ok 1 S 1 1 528. 0 528. 0
1280 | W | Rk & T 14 RN ES LAEAR KRR ok S 6 6 4836. 0 4836. 0
1281 | AT | Rk B I 4 A RS AL AR i Al IR 5 5 2640. 0 2640. 0
1282 | AT | Rl & I 148 A RS LATEAR KES Kl a BRI 1 1 528. 0 528.0
1283 | AT | Rl B ] 14 RN RAHELR KR ol A HAh 3 3 1584. 0 1584. 0




1284 | AT | Rk & I 14 N RAHELR R Al TR 1 1 528. 0 528. 0
1285 | AT | Flii] & I 4 A RS LAEAR JMim g i 1 1 528. 0 528. 0
1286 | T | Bl B ] 14 RS RAHELR KR ol A R 1 1 528.0 528.0
1287 | WiETH | Rk & T 14 RN RS LAEAR K5E ok S 6 6 3168.0 3168. 0
1288 | ilJETH | Fli & T 14 RN RS LAELR KB Ak =578 73 4 4 2112.0 2112.0
1289 | AETH | Rl & ] 148 A RS RAHELR KB ol HAh 3 3 1584. 0 1584. 0
1290 | AT | Rkl B I 4 RN RAHELR  NES ol A TR 2 2 1056. 0 1056. 0
1291 | 2T | B & I 16 RN RS FAEAR KRR ANk BRZ 58N 4 4 2112.0 2112.0
1292 | W2 | B & T 14 RN RS RFHLLR KB ok 1 S 1 1 528. 0 528. 0
1293 | A& | Rl & b g RN ES LAEAR k&Y ok 1 =578 71 4 4 2112.0 2112.0
1294 | AT | Rk B I 4 A RS RAHELR KhZE Al TR 1 1 806. 0 806. 0
1295 | AT | Rl & ] 4 BN LATEAR FER g b 1 1 528. 0 528. 0
1296 | AT | Bl B I 148 SRS RAHELR HT ol R 1 1 528.0 528.0
1297 | W2 | R £ I 14 YIRS LAEAR R ok S 3 3 1584. 0 1584. 0
1298 | & | Fl & I 14 SN S LAELR ESLS ok 1 S 5 5 2640. 0 2640. 0
1299 | AT | Rk B I 14 G LAELR 22N ok HoAth 4 4 2112.0 2112.0
1300 | AT | Rkl B I 14 B RAHELR B Al =557 3 3 1584. 0 1584.0
1301 | AT | Rl & ] 4 N ES RAEAR X E & gl IR 3 3 1584.0 1584.0
1302 | IR | Rk 5 T 145 G LAELR LA gk 1 B 1 1 528. 0 528. 0
1303 | AT | Rk B g G LAELR Wit ok 1 HAth 3 3 1584. 0 1584. 0
1304 | AT | Rl I 14 SN S LAELR Rk ok 1 S 3 1 528. 0 528. 0
1305 | AT | Rl B ] 14 BN LAEAR HER g P 1 1 528. 0 528.0
1306 | AT | Rl B I 148 SRS RAHELR ES2 ol A TR 4 4 2112.0 2112.0
1307 | )T | Bl £ T 14 G LAELR R ok 1 S 1 1 528.0 528. 0
1308 | W& | Fhivr & I 14 SN S REHELR LREVi] ok 1 S 1 1 528. 0 528. 0
1309 | Wi | Rk B 7] 14 IS LAEAR e ok S 3 3 1584. 0 1584.0
1310 | AT | Rl & I 14 SRS RAHELR - 2 Al PR 6 6 3168. 0 3168. 0
1311 | AT | Rl & ] 14 SN RS LATEAR - [E A gl I 3 3 1584. 0 1584.0
1312 | AT | Bl B I 148 SRS RAHELR LReLd Al Bh=555h 5 5 2640. 0 2640. 0
1313 | Wi | Rk & I 14 YIRS LAEAR ik Aok 1 HAth 4 4 2112.0 2112.0
1314 | AT | Rl 5 I 14 SN S LAELR AT ok 1 S 3 3 1584. 0 1584. 0
1315 | AR | Rl & ] 14 SRS RAHELR LR ol R 4 3 1584. 0 1584. 0
1316 | AT | Rk & I 14 SRS FATEAR ST ol A TR 1 1 528. 0 528. 0
1317 | AT | Rl & ] 4 BN FAEAR LN Al BRZ 58 3 3 1584. 0 1584.0
1318 | )& | B & I 14 SN S RFHELR LEES ok 1 S 2 2 1056. 0 1056. 0
1319 | AT | Rk & T 14 G LAEAR L ok S 1 1 528.0 528. 0
1320 | AT | Rk B I 148 SRS AL AR Rl Al IR 5 5 2640. 0 2640. 0
1321 | AT | Rk & ] 4 BN LATEAR A g P 3 3 1584. 0 1584. 0
1322 | AT | Rl B I 148 SRS RAHELR A 5% ol A R 4 4 2112.0 2112.0




1323 | AT | Rk B I 14 SRS RAHELR AR Al IR 3 3 1584. 0 1584. 0
1324 | AT | Rl & I 146 BN LAEAR KBk g I 1 1 528. 0 528. 0
1325 | AT | Rl B I 148 SRS RAHELR EURS ol A R 2 2 1056. 0 1056. 0
1326 | IR | Rl & I 14 YIRS LAEAR KEST ok HAth 4 4 2112.0 2112.0
1327 | W2 | Rl I 148 SN S LAELR KB ok 1 S 1 1 528. 0 528. 0
1328 | AR | Rl B ] 148 R N RAHELR Y ol Bk 4 2 1056. 0 1056. 0
1329 | AT | Rk & I 4 RN eSS RATEAR K BH /> Fe ol A TR 1 1 528. 0 528. 0
1330 | AT | Rl & I 14 E NS FAEAR KK BH /N gl i 2 2 1056. 0 1056. 0
1331 | )= | B & T 14 R RFHLLR KK ok 1 S 3 3 1584. 0 1584. 0
1332 | W) | Bl B b g TP 22 LAEAR T Ak H S 2 2 1056. 0 1056. 0
1333 | T | Bl B V] 1 #E T T AL AR et golv [ =2 ba) 4 4 2112.0 2112.0
1334 | AT | Rl & I 148 E NS LATEAR i g P 5 5 2640. 0 2640. 0
1335 | AT | Bl B I 14 R NS RAHELR TRaRI% Al Bh=555h 3 3 1584. 0 1584. 0
1336 | W2 | bl £ T 14 TP 22 LAEAR A ok S 1 1 528.0 528. 0
1337 | 2T | Rl 2 T 14 A Z 2 LAELR AR ok 1 g 6 6 3168. 0 3168. 0
1338 | W | Rk & ] 145 PN 22 LAELR A ok S 4 4 2112.0 2112.0
1339 | AT | Rk & I R NS RAHELR ik Al =557 4 4 2112.0 2112.0
1340 | AT | Rl & I 48 E NS RAEAR A gl Bk 8 8 4224.0 4224.0
1341 | AT | Rl T 145 TOEN 2 LAELR R RE gk 1 HAh 4 4 2112.0 2112.0
1342 | AT | Rk 7] 14 RN ZE 2 LAELR HI i ok 1 =578 71 1 1 528.0 528. 0
1343 | AT | Fl 5 T 14 R LAELR AR ok 1 oAt 8 8 4224. 0 4224. 0
1344 | JbET | Rl & I 145 E NS LAEAR b 1k g Bk 2 2 1056. 0 1056. 0
1345 | i | B & ] 14 R NS RAHELR ezhig ol A Bk 1 1 528.0 528.0
1346 | 2T | B £ T 14 TOEN 22 LAELR KEIE ok 1 S 2 2 1056. 0 1056. 0
1347 | W2 | B £ I 14 R REHELR KRR ok 1 S 3 1 528. 0 528. 0
1348 | )& | By £ g LENES LAEAR Btk ok S 2 2 1056. 0 1056. 0
1349 | AT | Rk & I 14 ZEMNES RAHELR YR Al TR 1 1 528. 0 528. 0
1350 | AT | Rl B I 14 LENES LATEAR ERELIS gl i 1 1 528. 0 528. 0
1351 | AR | Bl B ] 14 =EMNES RAHELR Zr Al Bh=555h 1 1 528.0 528.0
1352 | Wi | Rk & T 14 LFEMNES LAEAR OBk Aok 1 S 2 2 1056. 0 1056. 0
1353 | IR | Rl 2 T 14 LENES LAELR BRI ok 1 S 1 1 528. 0 528. 0
1354 | i | i) & T 14 =ENES RAHELR T N ol Bk 1 1 528.0 528.0
1355 | JET | Rl B I 4 ZEMNES FATEAR E AR ol A i 4 4 2112.0 2112.0
1356 | T | BT B Vi) 1 £E LENES FAEAR A Ak HAh 5 5 2640. 0 2640. 0
1357 | )2 | B & T 14 mENES RFHELR RABHF ok 1 S 6 6 3168. 0 3168. 0
1358 | iR | Rk & T 14 LFEMNES LAEAR UG ok S 4 4 2112.0 2112.0
1359 | AT | Rkl B I 4 ZEMNES AL AR KAk Al BRZ 581 3 3 1584. 0 1584. 0
1360 | AT | Rl & I 148 LENES LATEAR KHRK g P 3 3 1584. 0 1584. 0
1361 | AT | Rl B ] 14 =ENES RAHELR AT ol A Bk 1 1 528.0 528.0




1362 | AT | Rk & I 14 mEMNES RAHELR KRB Al TR 1 1 528. 0 528. 0
1363 | AT | Rl & I 4 LENES RAHELR ik g i 2 2 1056. 0 1056. 0
1364 | AT | Bl B ] 14 =EMNES RAHELR RH ol A TR 5 5 4030. 0 4030. 0
1365 | IR | Fli & T 14 LFEMNES LAEAR ZBE ok S 1 1 528.0 528. 0
1366 | W= | Fli 2 T 14 W ORZEE LAELR gy ok 1 HAh 4 4 2112.0 2112.0
1367 | AETH | Rl & ] 148 O RS RAHELR A ol Bk 1 1 528.0 528.0
1368 | AT | Fhi & I 4 IO RATEAR IR IS 7ok ol A i 2 2 1056. 0 1056. 0
1369 | AT | Rl & I 14 WO ZS FAEAR K B [ A2 gl I 2 2 1612.0 1612.0
1370 | 2T | B £ T 14 A OR S RFHLLR WK BH A Ak =558 73 3 3 1584. 0 1584. 0
1371 | AT | kB I 14 WIONZES LAEAR K BH A ZE ok 1 S 3 3 1584. 0 1584. 0
1372 | AT | Rk B I 4 IO AL AR R SE 122 A Al i 1 1 528. 0 528. 0
1373 | AT | Rl & I 148 WO ZS LATEAR WK AR AT g I 1 1 528. 0 528. 0
1374 | AT | Bl B I IO Z 2 RAHELR WK B =) ol R 4 4 2112.0 2112.0
1375 | W) | R £ T 14 WM ZS LAEAR e Ak S 2 2 1056. 0 1056. 0
1376 | W= | Rl 2 T 14 W OR 2 LAELR KK BH R Jegkalk 1 =578 73 2 2 1056. 0 1056. 0
1377 | AT | Rk ] 145 WONZES LAELR KK BH 85T ok S 2 2 1056. 0 1056. 0
1378 | AT | Rk B I IO RAHELR K 3 ol A IR 5 5 2640. 0 2640. 0
1379 | AT | Rl & I 48 WO ZS RAEAR K BH 7% 55 gl Bk 1 1 528. 0 528. 0
1380 | i T | R B T 145 WONZES LAELR R gk 1 TR 5 5 2640. 0 2640. 0
1381 | Wi | Rk & 7] 14 WIOMNZS LAELR LNEES ok 1 S 1 1 528.0 528. 0
1382 | IR | Fl & T 14 O Z 2 LAELR T ok 1 B 1 1 528. 0 528. 0
1383 | AT | Rl B I 145 AR ES LAEAR S B g Bk 1 1 528. 0 528.0
1384 | iy | Bkl & ] 14 IO RAHELR A5 ol A HAh 5 5 2640. 0 2640. 0
1385 | W& | Flivr £ T 14 IS LAELR AR ok 1 oAt 4 4 2112.0 2112.0
1386 | yl)E T | B & I 14 W OR S REHELR RIEL ok 1 HAh 2 2 1056. 0 1056. 0
1387 | IR | Rk B 7] 14 WONZES LAEAR RIRA ok S 1 1 528.0 528. 0
1388 | AT | Rl B I 14 IO RAHELR K4 g HAth 5 5 2640. 0 2640. 0
1389 | AT | Rk & I 14 IO ZS LATEAR KB gl BRI 5 5 2640. 0 2640. 0
1390 | AR | Bl B ] 14 b=MES RAHELR XA Bk ol A PIh 1 1 528. 0 528.0
1391 | W2 | R & g By S LAEAR P Ez Aok 1 HAth 4 4 2112.0 2112.0
1392 | A& | Bl & P mEs oM ZES LAELR WK BH A9 ok 1 S 4 4 2112.0 2112.0
1393 | 2T | bl & ] k=N ZES RAEAR TR A b BhRZ 58 3 3 1584. 0 1584. 0
1394 | AT | Rk B I 4 =N ZES FATEAR G ol A BRZ 58 5 5 2640. 0 2640. 0
1395 | AT | Rl & I 14 E=NZES FAEAR W R gl a By 1 1 528. 0 528. 0
1396 | )2 | B & AT 14 By S RFHELR it ok 1 S 1 1 528. 0 528. 0
1397 | )2 | B & b g By S LAEAR VF75 7 ok HAth 5 5 2640. 0 2640. 0
1398 | AT | Rkl B I 4 b=MES AL AR R3] Al IR 3 3 1584. 0 1584. 0
1399 | JliE v | Bl £ ] 4 B RAHEAR TRB Kl a b 5 5 2640. 0 2640. 0
1400 | T | Bl B A 1 =N RATEAR AR Ak BRZ 58 3 3 1584. 0 1584. 0




1401 | AT | Rk & I 14 k=N ZES RAHELR N Al i BRZ 581 5 5 2640. 0 2640. 0
1402 | AT | Rl & I 4 k=N ZES LAEAR K gl a W= 7 7 3696. 0 3696. 0
1403 | i | Bl & I 4 b=MES RAHELR KB ol A TRy 3 3 1584. 0 1584. 0
1404 | 2T | B & g By S LAEAR K= ok =578 71 1 1 528.0 528. 0
1405 | )& | B £ P mEs oM ZES LAELR R EER ok 1 g5 2 1 528. 0 528. 0
1406 | JETH | Bl & ] 14 b=MES RAHELR R R ol Bk 1 1 528.0 528.0
1407 | AT | Rk B I 4 k=N ZES RAHELR Kok ol A TR 1 1 528. 0 528. 0
1408 | ylE T | Flivr & Vi) 58 B |-y A AR Al Ak HAh 2 2 1612.0 1612.0
1409 | )= | B £ AT 14 By S RFHLLR KR ok 1 S 4 4 2112.0 2112.0
1410 | )T | B £ b g =Nz LAEAR KA, ok 1 S 2 2 1056. 0 1056. 0
1411 | abETH | Rl & I 1 k=N ZES RAHELR Pt Al IR 5 5 2640. 0 2640. 0
1412 | AT | Rl & I 148 b=MES LATEAR KER g P 5 5 2640. 0 2640. 0
1413 | AT | Rk B I 148 b=MES RAHELR 2% B ol i 2 2 1056. 0 1056. 0
1414 | JbE T | Rl & g By S LAEAR KiGT ok S 1 1 528.0 528. 0
1415 | 2T | B & P mEs By S LAELR KD ok 1 g 1 1 528. 0 528. 0
1416 | )2 | B £ g By S LAELR KNE ok S 1 1 528.0 528. 0
1417 | AT | Rk & I k=N ZES RAHELR K% ol A i 7 6 3168. 0 3168. 0
1418 | AT | Rl & I 48 k=N ZES RAEAR MR gl i 2 2 1056. 0 1056. 0
1419 | W)= | B £ g By S LAELR AN gk 1 HAh 1 1 528. 0 528. 0
1420 | AT | Rk B I 114 By S LAELR KEE ok 1 S 5 5 4030. 0 4030. 0
1421 | W2 | B & P mEs =N ZES LAELR KE ok 1 g5 2 2 1056. 0 1056. 0
1422 | AT | R B I 145 b=MES LAEAR HAIER g P 3 3 1584.0 1584. 0
1423 | i | B & ] 14 b=MES RAHELR R S Ik ol A PIh 5 5 2640. 0 2640. 0
1424 | W2 | B £ b mEs By S LAELR K ok 1 oAt 7 7 3696. 0 3696. 0
1425 | )& T | Rl & P mEs b ZES REHELR KTiE ok 1 S 1 1 528. 0 528. 0
1426 | AT | Rl 7] 14 bz LAEAR = ok HAh 1 1 528.0 528. 0
1427 | AT | Rk B I 14 B RAHELR ok Al PR 2 2 1056. 0 1056. 0
1428 | AT | Rl & I 14 e &S LATEAR B R B gl BRI 2 1 528. 0 528. 0
1429 | AR | Bk B ] 14 B RAHELR RIHTF ol A HAh 8 7 3696. 0 3696. 0
1430 | AT | Rk & T 14 bz LAEAR KEE Aok 1 =578 71 4 4 2112.0 2112.0
1431 | AT | Rl I 40 b e LAELR EN=10 Ak HAh 1 1 528. 0 528. 0
1432 | AT | Rl B T 14 B RAHELR RALE ol =552 0 6 6 3168. 0 3168. 0
1433 | AT | Rk & I 4 B RAHELR KR ol A PR 3 3 1584. 0 1584.0
1434 | AL | Fh & I 14 e &S FAEAR KER gl a I 5 4 2112.0 2112.0
1435 | W2 | B £ T 14 b e RFHELR R ok 1 S 1 1 528. 0 528. 0
1436 | W | k5 T 14 bz LAEAR KK ok HAth 3 3 1584. 0 1584. 0
1437 | AT | Rk B I 4 B RAHELR Rk Al TR 3 3 1584. 0 1584. 0
1438 | AT | Rk & I 148 B LATEAR K H g I 1 1 528. 0 528. 0
1439 | AT | Rl B ] 14 B RAHELR i ol A TR 3 1 528.0 528.0




1440 | AT | Rl & I 14 B RAHELR R Al i 5 5 2640. 0 2640. 0
1441 | JbET | Rl & I 4 e &S LAEAR e g FRIR 5 5 2640. 0 2640. 0
1442 | JETH | Bl B ] 14 e ES RAHELR KR ol A TR 3 3 1584. 0 1584. 0
1443 | AT | Rl T 14 bz LAEAR KA ok S 7 7 3696. 0 3696. 0
1444 | AT | Rl T 14 b e LAELR KA Ak g5 1 1 528. 0 528. 0
1445 | JETH | Bl & ] 148 B RAHELR KARE ol R 7 7 3696. 0 3696. 0
1446 | AR | Rk & I 4 B RAHELR A Al =553 1 1 528. 0 528. 0
1447 | AT | Rl & I 14 e &S FAEAR RARAE gl By 1 1 528. 0 528. 0
1448 | W2 | B £ T 14 b e RFHLLR AR ok 1 =558 73 4 4 2112.0 2112.0
1449 | AT | k5 I 14 bz LAEAR Sl ok 1 S 6 5 2640. 0 2640. 0
1450 | AT | Rk B I 4 B RAHELR ERLIN Al TR 1 1 528. 0 528. 0
1451 | AT | Rl & I 148 B LATEAR KGE gl 0 W= 3 3 1584. 0 1584. 0
1452 | AT | Rl B I 14 B RAHELR KT ol R 6 6 3168. 0 3168. 0
1453 | W2 | B £ T 14 b s LAEAR KNR Ak S 5 5 2640. 0 2640. 0
1454 | W2 | Rl 2 T 14 b e LAELR KK IR ok 1 g 5 5 2640. 0 2640. 0
1455 | W | Rk 5 ] 145 bz LAELR KB ok HoAth 11 8 4224.0 4224. 0
1456 | AT | Rk B I B RAHELR KT H ol A [A 2 7 6 3168. 0 3168. 0
1457 | AT | Rl & I 48 B RAEAR R gl IR 5 5 2640. 0 2640. 0
1458 | W2 | R 5 I 4 VIR &2 LAELR pEfAN gk 1 IR 7 7 3696. 0 3696. 0
1459 | AT | Rk B 7] 14 PEIR 22 LAELR KN ok 1 HAth 3 3 1584. 0 1584. 0
1460 | W2 | Fli & T 14 PEIN Z S LAELR KT ok 1 oAt 3 3 2418.0 2418. 0
1461 | AT | Rl & I 145 LRGN LAEAR KB g P 3 3 1584.0 1584. 0
1462 | i | B & ] 14 NN AT AR RA ol A R 3 3 1584. 0 1584. 0
1463 | 2T | Fhivr £ b mEs PEIIR 22 LAELR REKIE ok 1 S 3 3 1584. 0 1584.0
1464 | W2 | B £ I 14 PRI 22 REHELR KHEE ok 1 S 7 7 3696. 0 3696. 0
1465 | IR | Rl B 7] 14 PEIN 22 LAEAR KR ok S 3 3 1584. 0 1584.0
1466 | AT | Rk B I 14 I 22 RAHELR DU Al i BRZ 581 6 6 3168. 0 3168. 0
1467 | AT | Rl & I 14 RGN LATEAR JeAE gl gl BRI 6 6 3168. 0 3168. 0
1468 | IR | Bl B ] 14 LSS RAHELR SRR ol A Bk 1 1 528.0 528.0
1469 | AT | Rl & T 14 PEIR 22 LAEAR KRk Aok 1 S 1 1 528.0 528. 0
1470 | AT | Rl T 14 PO 22 LAELR PSR ok 1 S 1 1 528. 0 528. 0
1471 | JbETH | Bk B ] 148 NS RAHELR KA ol Bk 1 1 528.0 528.0
1472 | AT | Rk B I 4 RN RAHELR KL ol A PR 1 1 528. 0 528. 0
1473 | AT | Rl & I 14 TN 2 FAEAR A5 e Al BRZ 58 6 6 3168. 0 3168. 0
1474 | W2 | B £ T 14 PRI Z S RFHELR KB ok 1 S 1 1 528. 0 528. 0
1475 | AT | Rk T 14 PEIR 22 LAEAR KEH ok S 3 1 528.0 528. 0
1476 | AT | Rl B I 4 I 22 AL AR R Al TR 1 1 528. 0 528. 0
1477 | AT | Rl B I 148 LRGN LATEAR KETHIK g BRI 1 1 528. 0 528. 0
1478 | AT | Bl B ] 14 LSS RAHELR &N ol A Bk 1 1 528.0 528.0




1479 | AT | Rk & I 14 VI 22 RAHELR kTE Al i BRZ 581 8 7 3696. 0 3696. 0
1480 | AT | Rl B I 4 RGN LAEAR EIfiEAN g i 6 6 3168. 0 3168. 0
1481 [ W | il & I 148 HER B RAHELR AR ol A Bk 1 1 528.0 528.0
1482 | W | Rk & I 14 I Z 2 LAEAR KB ok S 1 1 528.0 528. 0
1483 | )& T | Bl & P mEs I 2 LAELR KR Jegalk 1 g5 1 1 528. 0 528. 0
1484 [T | Ml & ] 14 HEES RAHELR RN ol R 2 2 1056. 0 1056. 0
1485 | AT | Rl B I 14 HER RS RAHELR ENEEGs ol A R 6 6 3168. 0 3168. 0
1486 | AT | Rl B I 14 HIgNZE S FAEAR SRS gl i 1 1 528. 0 528. 0
1487 | 2T | B & I 14 I 2 RFHLLR AR ok 1 S 1 1 528. 0 528. 0
1488 | IR | Rk & AT 14 I 22 LAEAR KER ok 1 S 4 4 2112.0 2112.0
1489 | AT | Rk B I 4 I T2 AL AR JAH Al TR 3 1 528. 0 528. 0
1490 | i | Bl & ] 4 HEES LATEAR SRR Kl a b 2 2 1056. 0 1056. 0
1491 [T | il & I 14 HERES RAHELR KA el A Bk 1 1 528.0 528.0
1492 | W2 | b £ I 114 I Z 2 LAEAR EME ok S 2 2 1056. 0 1056. 0
1493 | W2 | Rl I 4 I 2 LAELR KIRIk ok 1 =578 73 1 1 806. 0 806. 0
1494 | AT | Rk g HIN Z 2 LAELR KAk ok HoAth 5 5 2640. 0 2640. 0
1495 | AT | Rk B I I 2 RAHELR KR ol A i 5 5 2640. 0 2640. 0
1496 | AT | Rl & I 48 HIINZE S RAEAR KMt gl Bk 2 2 1056. 0 1056. 0
1497 | AT | Rk B g I Z 2 LAELR KUk gk 1 =578 73 2 2 1056. 0 1056. 0
1498 | IR | Rk & I 114 I Z 2 LAELR AR ok 1 S 1 1 528.0 528. 0
1499 | AR | Fl & I 14 I 2 LAELR Kt i ok 1 S 1 1 528. 0 528. 0
1500 | i | Bl & ] 4 Mk 2 RAHEAR REIK ol =55 5 5 2640. 0 2640. 0
1501 | qili s | Bk & ] 14 HER B RAHELR R EE ol A R 3 3 1584. 0 1584. 0
1502 | yl)E T | bl £ b mEs I 2 LAELR KinE ok 1 S 6 6 3168.0 3168. 0
1503 | W& | B £ I 4 I 2 REHELR Kb ok 1 S 5 5 2640. 0 2640. 0
1504 | W | Rk B AT 14 I Z 2 LAEAR KEF Ak =578 71 1 1 528.0 528. 0
1505 | AT | Rl B I 14 I T2 RAHELR KA E Al TR 1 1 528. 0 528. 0
1506 | AT | Rl B I 14 HIENZE LATEAR KT gl i 1 1 806. 0 806. 0
1507 | AT | Bl B I 148 HERES RAHELR KM ol A BRI 5 5 2640. 0 2640. 0
1508 | iR | Rk & I 114 I Z 2 LAEAR ETHE Aok 1 S 5 5 2640. 0 2640. 0
1509 | 2T | Fl 2 I 40 I 2 LAELR KT ok 1 HAh 4 4 2112.0 2112.0
1510 [ AT | i & ] 148 HEES RAHELR KT ol ] 4 4 2112.0 2112.0
1511 | AT | Rk & ] 14 HERE S RAHELR Kt ol A Gy 3 1 528. 0 528.0
1512 | AT | Rl & I 14 e Es FAEAR WE L gl a By 4 4 2112.0 2112.0
1513 | 2T | b & T 14 e %2 RFHELR K= ok 1 S 1 1 528. 0 528. 0
1514 | AT | kB T 14 ez LAEAR KT ok S 2 2 1056. 0 1056. 0
1515 | JETH | Rl B I 4 e &Es RAHELR KEH Al BRZ 581 4 4 2112.0 2112.0
1516 | T | B & B B B RS RAHELR wWHE Kl a b 2 2 1056. 0 1056. 0
1517 | i | B & B B4 e RAHELR B ol A =557 6 6 3168. 0 3168. 0




1518 | AT | Fhi B B FH BN RAHELR Y E YL Al i BRZ 581 1 1 528. 0 528. 0
1519 | AR | Rk & B FH BN LAEAR 25 g g FRIR 1 1 806. 0 806. 0
1520 | AT | Bl B B 4 B RS RAHELR MK ol A TRy 2 1 806. 0 806. 0
1521 | 2T | R & BT HH A BN LAEAR AN, ok S 1 1 806. 0 806. 0
1522 | W2 | B £ BT A BN LAELR HRIK ok 1 =578 73 1 1 528. 0 528. 0
1523 | AR | Bl B B 4 B RS RAHELR XLk Al =530 1 1 528.0 528.0
1524 | AT | Rk B B FH B RS RAHELR XK E ol A TR 5 5 2640. 0 2640. 0
1525 | AR | Rk & B FH BN FAEAR Bl Al BRZ 58N 1 1 528. 0 528. 0
1526 | yl)E T | B £ BT A HHENZES RFHLLR 2iE2 ok 1 =558 73 7 7 3696. 0 3696. 0
1527 | W& | B B B AR BHNZES LAEAR SR ok 1 3] 6 1 528.0 528. 0
1528 | AT | Fhil B B FH AN T AL AR SR Al BRZ 58 1 1 806. 0 806. 0
1529 | AT | Rk B B BN LATEAR E}iES gl 0 W= 1 1 806. 0 806. 0
1530 | AT | Bl B B 4 e RAHELR B ol R 1 1 528.0 528.0
1531 | )T | bl £ BT A BN RS LAEAR ELiU ok B 4 4 2112.0 2112.0
1532 | 2T | B £ BT A BN LAELR EKA ok 1 =578 73 2 1 528. 0 528. 0
1533 | )T | Rl B B AR BN LAELR EpY ok B 3 3 1584. 0 1584. 0
1534 | AR | R B B FH B RS RATEAR 8753 ol A i 3 1 528. 0 528. 0
1535 | JETH | Rk B B FH BN RAEAR BEN Al W= 1 1 528. 0 528. 0
1536 | ylJE T | Bl £ B AR NS LAELR B gk 1 =578 73 6 6 3168. 0 3168. 0
1537 | )& | Ryl B BT A BN RS LAELR WV ok 1 S 5 5 2640. 0 2640. 0
1538 | W& | bl & BT A BHEN TS LAELR ERA ok 1 g5 4 1 528. 0 528. 0
1539 [ T | B & B B RS RAHELR FEE% Kl a =55 2 2 1612.0 1612.0
1540 | i | B & B 4 B RS ARAHEAR B8 7 4 ol A TRy 1 1 528.0 528.0
1541 | )2 | B & B H BN LAELR LILES ok 1 BhR= 57871 5 5 2640. 0 2640. 0
1542 | W2 | B £ BT A BN REHELR WZIE ok 1 =555 73 3 3 1584. 0 1584. 0
1543 | )& | Fhivr B B A BHNZES LAEAR WL ok 3] 2 2 1056. 0 1056. 0
1544 | AT | Rk B B FH BN RAHELR LR Al i BRZ 581 2 1 528. 0 528. 0
1545 | AR | Rk B B FH BN LATEAR R A gl BRI 1 1 528. 0 528. 0
1546 [ W | il & B 4 B RS RAHELR 2555 ol A R 2 2 1056. 0 1056. 0
1547 | 2T | R BT HH A BN RS LAEAR i HE Aok 1 =578 71 3 3 1584. 0 1584. 0
1548 | )& | B £ BT A BN LAELR AT ok 1 S 1 1 528. 0 528. 0
1549 | AR | Bl & B 4 MRS RAHELR A0 ol K2 1 1 528.0 528.0
1550 | T | R B B FH B RS RAHELR LS ol A TR 1 1 806. 0 806. 0
1551 | yilE T | Flivr B B BN FAEAR A5 Ak BRI 3 3 1584. 0 1584. 0
1552 | )& | B & BT A N ZES RFHELR el ok 1 S 4 4 2112.0 2112.0
1553 | W& | Bl B B A BHNZES LAEAR kR ok =578 71 4 4 2112.0 2112.0
1554 | AR | Rl B B FH BN AL AR 7K HE Al IR 5 5 2640. 0 2640. 0
1555 | IR | Rk B B BN LATEAR e g P 2 2 1612.0 1612.0
1556 | T | Rl B B FH AN TS RAHELR R Al Bh=555h 4 4 2112.0 2112.0




1557 | AT | Bk B B FH BN RAHELR A Al i BRZ 581 1 1 528. 0 528. 0
1558 | IR | Rk B B FH BN LAEAR LIRS gl a W= 2 1 528. 0 528. 0
1559 | AT | Rl B B 4 B RS RAHELR FHERYE Al =555 1 1 528.0 528.0
1560 | ylJE T | Rl BT HH A BN LAEAR kR ok =578 71 1 1 528.0 528. 0
1561 | yl)ET | Fivmr & BT A BN LAELR TRHE R ok 1 =578 73 1 1 528. 0 528. 0
1562 | JETH | Rl & B 4 B RS RAHELR KEL ol Bk 1 1 528.0 528.0
1563 | AT | Fki B B FH B RS RATEAR TRAEDH ol A PR 4 4 2112.0 2112.0
1564 | AR | Rk & B FH BN FAEAR TRAK gl By 2 2 1056. 0 1056. 0
1565 | ylJET | b £ BT A HHENZES RFHLLR kR ok 1 S 1 1 528. 0 528. 0
1566 | ylJE T | B £ B AR BHNZES LAEAR kS ok 1 =578 71 8 8 4224.0 4224. 0
1567 | AT | Fhi B B FH AN T AL AR I Al BRZ 58 2 2 1056. 0 1056. 0
1568 | IR | Fhi B B N LATEAR B g HAh 3 3 2418.0 2418. 0
1569 | T | Fli B B 4 e RAHELR E NN Al Bh=555h 1 1 806. 0 806. 0
1570 | 92T | Rl £ BT A BN RS LAEAR Klpde ok Bh= 57571 1 1 528.0 528. 0
1571 | )T | B & BT A BN LAELR KGiHE ok 1 S 3 3 1584. 0 1584. 0
1572 | )T | R B B AR BN LAELR KANE ok S 1 1 528.0 528. 0
1573 | AR | R B B FH B RS RAHELR KB Al =557 4 4 2112.0 2112.0
1574 | AR | Rk & B FH I 25 2 RAEAR O gl IR 1 1 528. 0 528. 0
1575 | )T | B £ B AR JRHA 252 LAELR XA gk 1 =578 73 2 2 1056. 0 1056. 0
1576 | ylJE T | Ry B B AR RN 22 LAELR X Ik ok 1 S 2 2 1056. 0 1056. 0
1577 | )R | B £ B A RIS LAELR ) ok 1 g5 1 1 528. 0 528. 0
1578 | T | B & B B R Z 2 RAHEAR X Kl a =55 4 4 2112.0 2112.0
1579 | AT | Rl B B FH JR AT Z o RAHELR XIBUHE Al Bh=553h 2 2 1056. 0 1056. 0
1580 | W& | Fliver £ B AR FRHOA 22 LAELR XA ok 1 oAt 5 5 2640. 0 2640. 0
1581 | W& | B & B A RIS & REHELR X fnAE ok 1 =555 73 7 7 3696. 0 3696. 0
1582 | ylJE T | vl B B A JRHIA 2 LAEAR X ok S 6 6 3168.0 3168. 0
1583 | AT | Rl B B FH JRHAY 25 2 RAHELR IR 5 Al i BRZ 581 4 4 2112.0 2112.0
1584 | JETH | Rk B B FH JRHAY 25 2 LATEAR XK gl a =N 1 1 528. 0 528. 0
1585 | T | Bl B B FH JRHAY 25 2 RAHELR XK R Al Bh=555h 2 1 528.0 528.0
1586 | W& | iyl & B AR JFRHA 22 LAEAR XEK Aok 1 S 1 1 528.0 528. 0
1587 | W& [ Bl & B A RIS & LAELR X ok 1 S 1 1 528. 0 528. 0
1588 | T | Bl B B FH I 25 2 RAHELR X ol R 3 3 2418. 0 2418. 0
1589 | T | Fi B B FH Jk A Z o RAHELR X SCAE ol A TR 1 1 528. 0 528. 0
1590 | AR | Rk B B FH I 25 2 FAEAR XE gl a I 7 7 3696. 0 3696. 0
1591 | )2 | B & BT A RN & RFHELR XER ok 1 S 1 1 806. 0 806. 0
1592 | )& | Bl & B A JFRHIA 2 & LAEAR IR B ok S 1 1 528.0 528. 0
1593 | AT | Rl B B FH JRHAY 25 2 AL AR X1)375 1% Al BRZ 581 1 1 528. 0 528. 0
1594 | i | il & B SR 2 RAHEAR BRSPS Kl a =55 2 2 1056. 0 1056. 0
1595 | T | Rl B B FH JRHAY 25 2 RAHELR X T 1% Al Bh=555h 3 2 1056. 0 1056. 0




1596 | AT | Fi B B FH JRHAY 25 2 RAHELR REE Al IR 5 5 2640. 0 2640. 0
1597 [ i | il & B H 4 JR A 2 RAHELR L 5 gl a =55 5 5 2640. 0 2640. 0
1598 | T | Rl B B FH JRHAY 25 2 RAHELR STk Al =555 2 2 1056. 0 1056. 0
1599 | W& | Rl & BT HH A HENES LAEAR 2 P ok S 1 1 806. 0 806. 0
1600 | 32T | B £ BT A TENES LAELR FAER ok 1 HAh 3 3 1584. 0 1584. 0
1601 | AETH | Rl & B FH HENES RAHELR YL % ol R 1 1 528.0 528.0
1602 | AT | Rk B B FH HENES RAHELR L papi ol A i 1 1 528. 0 528. 0
1603 | AETH | Rk & B FH HENES FAEAR BEAR gl By 1 1 528. 0 528. 0
1604 | 2T | B £ BT A TENES RFHLLR ILiER ok 1 =558 73 3 1 528. 0 528. 0
1605 | ylJET | BB BT A PENES LAEAR 4R ok 1 =578 71 4 4 2112.0 2112.0
1606 | T | Fi B B FH HENES AL AR 4K Al BRZ 58 3 1 528. 0 528. 0
1607 | AR | Rk B B HENES LATEAR E4E&E gl 0 W= 4 4 2112.0 2112.0
1608 | T | Fliv B B FH HENES RAHELR A Al Bh=555h 1 1 806. 0 806. 0
1609 | W2 | R £ BT A HENES LAEAR T H ok Bh= 57571 2 2 1056. 0 1056. 0
1610 | =T | B & BT A RN ES LAELR b ok 1 =578 73 6 6 3168. 0 3168. 0
1611 | )& | R & BT A HENES LAELR A ok =578 71 1 1 806. 0 806. 0
1612 | AR | Fh & B FH HENES RAHELR FEKF Al =557 6 6 3168. 0 3168. 0
1613 | AR | Rk & B FH HENES RAEAR iz e gl IR 8 8 4224.0 4224.0
1614 | W2 | B £ BT A TENES LAELR I gk 1 B 5 5 2640. 0 2640. 0
1615 | )& | R £ BT A PENES LAELR SRk ok 1 =578 71 2 2 1056. 0 1056. 0
1616 | 2T | B £ BT A TENES LAELR e ok 1 =578 73 1 1 528. 0 528. 0
1617 | T | B & B B HENES RAHELR R Kl a =55 2 1 528.0 528.0
1618 | AT | Fli B B FH HENES AT AR - E R ol A Bk 4 1 528.0 528.0
1619 | 2T | B £ B H HEMNES LAELR [ ok 1 BhR= 57871 2 2 1056. 0 1056. 0
1620 | 2T | b £ BT A TENES REHELR R ok 1 =555 73 1 1 528. 0 528. 0
1621 | )2 | B £ BT A PENES LAEAR e ok S 1 1 528.0 528. 0
1622 | AT | Fhi B B FH HENES RAHELR -3 Al i BRZ 581 4 3 1584. 0 1584. 0
1623 | AR | Fhi & B FH HENES LATEAR AR gl BRI 1 1 806. 0 806. 0
1624 | AR | Bl B B FH HENES RAHELR KR ol A R 4 4 2112.0 2112.0
1625 | 2T | B & BT HH A HENES LAEAR HEREE Aok 1 =578 71 3 3 1584. 0 1584. 0
1626 | 2T | B £ BT A TENES LAELR ke ok 1 S 1 1 528. 0 528. 0
1627 [ W | & B FH HENES RAHELR Al ol Bk 1 1 528.0 528.0
1628 | AT | Fki B B FH HENES RAHELR 2Rk el =553 1 1 528. 0 528. 0
1629 | R | B & B HENES FAEAR T Ak [ b 3 3 1584. 0 1584. 0
1630 | 2T | B £ BT A TENES RFHELR LIPS ok 1 =578 73 3 3 1584. 0 1584. 0
1631 | )& | B £ BT A PENES LAEAR LRSS ok =578 71 3 1 528.0 528. 0
1632 | AT | Fhi B B FH HENES AL AR R Al BRZ 581 5 5 2640. 0 2640. 0
1633 | AR | Rk & B HENES LATEAR Bk gl 0 W= 4 2 1056. 0 1056. 0
1634 | AR | Rl B B FH HENES RAHELR Sl ol A R 3 3 1584. 0 1584. 0




1635 | AT | Fi B B FH DA 22 RAHELR MRy % Al IR 1 1 528. 0 528. 0
1636 | JETH | Fhi B B FH HONZES LAEAR B g i 1 1 528. 0 528. 0
1637 | AT | Bl B B FH A 22 RAHELR A ol A Bk 1 1 528.0 528.0
1638 | W& T | Fliver & B AR HOb 22 LAEAR mEH ok BIR 6 6 3168.0 3168. 0
1639 | 2T | B & B A H.OM 2 LAELR HRKHE ok 1 g5 1 1 528. 0 528. 0
1640 | JETH | Rl & B FH HOR RS RAHELR HKHE Al =530 5 5 2640. 0 2640. 0
1641 | AT | Rk B B FH A 22 RATEAR i Al =553 3 3 1584. 0 1584.0
1642 | AR | Rk & B FH MO FAEAR BRI gl I 7 7 3696. 0 3696. 0
1643 | W2 | B & BT A HOM S RFHLLR HKE ok 1 =558 73 1 1 528. 0 528. 0
1644 | 12T | B £ B AR Ok 22 LAEAR BIF5 % ok 1 S 3 1 528.0 528. 0
1645 | AT | Fi B B FH DA 22 AL AR X Bk g 52 1 1 528. 0 528. 0
1646 | T | B & B B4 HORES LATEAR E2 N Kl a =55 3 3 1584. 0 1584. 0
1647 | AR | Rl B B HOA RS RAHELR P ol =552 7 6 3168. 0 3168. 0
1648 | )& | Fhivr £ B AR HOb 22 LAEAR S ok Bh= 57571 5 5 2640. 0 2640. 0
1649 | W2 | B £ B A H.OMES LAELR Fry i ok 1 g 1 1 528. 0 528. 0
1650 | ylJET | Bl B B AR Ok 22 LAELR A ok HoAth 4 4 2112.0 2112.0
1651 | AR | Fki B B FH DA 22 RAHELR e E Bk ol A IR 1 1 528. 0 528. 0
1652 | AT | Rl & B FH HONZES RAEAR FitE gl = 555 1 2 2 1612.0 1612.0
1653 | )& | B £ B AR HOR 2 LAELR iR gk 1 TR 1 1 528. 0 528. 0
1654 | )& | R B B AR HOR 22 LAELR S ok 1 =578 71 11 11 5808. 0 5808. 0
1655 | )& | B £ B A HOMHES LAELR Fbg ok 1 B 5 5 2640. 0 2640. 0
1656 | JETH | Fhi B B HOAN TS LAEAR A g Bk 1 1 528. 0 528.0
1657 | AT | Rl B B FH A 22 RAHELR e/ Al Bh=553h 1 1 528. 0 528.0
1658 | W& | Fliver £ B AR Ok 22 LAELR AT ok 1 BhR= 57871 5 5 2640. 0 2640. 0
1659 | 2T | B £ B A HOMES REHELR AL ok 1 =555 73 1 1 528. 0 528. 0
1660 | ylJE T | B £ B A HOb 22 LAEAR FKE ok =578 71 5 5 2640. 0 2640. 0
1661 | AT | Fki B B FH DA 22 RAHELR 95 Al TR 1 1 528. 0 528. 0
1662 | AR | Fhi B B FH HONZES LATEAR EEE gl I 1 1 528. 0 528. 0
1663 | AR | Fl B B FH HOA RS RAHELR FEJid ol A Bk 1 1 528.0 528.0
1664 | 2T | R B AR Ok 22 LAEAR e/ Aok 1 S 2 2 1056. 0 1056. 0
1665 | 2T | b £ B A H.OREE LAELR FEEH ok 1 =578 73 5 5 2640. 0 2640. 0
1666 | JETH | Rl B B FH AN ZES RAHELR FERi Ak Al =53 4 4 2112.0 2112.0
1667 | AR | Fhi B B FH DA 22 RAHELR AR ol A PR 1 1 528. 0 528. 0
1668 | IR | Fhi B B FH MO FAEAR & gl a I 6 6 3168. 0 3168. 0
1669 | 2T | b £ BT A HOM S RFHELR FERL ok 1 HAh 1 1 528. 0 528. 0
1670 | AE T | Rl & B HOA 2 LAEAR B Ak H HAth 2 2 1056. 0 1056. 0
1671 | AR | Rk B B FH DA 22 AL AR I 33 40 gl BRZ 581 3 3 1584. 0 1584. 0
1672 | AR | Rk B B HOAN TS LATEAR JRRS g P 5 5 2640. 0 2640. 0
1673 [ W | il & B FH A 22 RAHELR R Al Bh=555h 2 2 1056. 0 1056. 0




1674 | AT | Fhi B B FH DA 22 RAHELR - Al i BRZ 581 3 3 1584. 0 1584. 0
1675 | AR | Fhi B B FH HONZES LAEAR -4k g I 4 4 2112.0 2112.0
1676 | AT | Fl B B FH A 22 RAHELR HE L ol A R 1 1 528.0 528.0
1677 | W2 | R £ B AR HOb 22 LAEAR RN ok S 1 1 528.0 528. 0
1678 | )& [ Fiv & B A H.OM 2 LAELR 3R Ak g5 7 7 5642. 0 5642. 0
1679 | AETH | Rl & B FH HOAN S RAHELR R Al =530 3 3 1584. 0 1584. 0
1680 | T | Fi B B FH A 22 RAHELR IH- I 2 ol A PR 4 4 2112.0 2112.0
1681 | AR | Rk & B FH MO FAEAR i gl By 1 1 528. 0 528. 0
1682 | 2T | B £ BT A HOM S RFHLLR LR ok 1 =558 73 2 2 1056. 0 1056. 0
1683 | W& | Byl £ B AR Ok 22 LAEAR A ok 1 HAth 1 1 528.0 528. 0
1684 | AT | Fi B B FH DA 22 AL AR I R Al 52 1 1 528. 0 528. 0
1685 | T | Fhi B B HON TS LATEAR A ZE g BRI 1 1 528. 0 528. 0
1686 | iR T | Fli B B FH A 22 RAHELR A7 ol Bk 1 1 528.0 528.0
1687 | )& | Flivr £ B AR HOb 22 LAEAR AUk ok S 3 3 1584. 0 1584. 0
1688 | W& | Flivr £ B A MR 22 LAELR FHR ok 1 =578 73 1 1 528. 0 528. 0
1689 | W& | Byl £ B By 22 LAELR il ok S 1 1 528.0 528. 0
1690 | AR | Fi B B FH SIS RAHELR Fanlk Al =557 3 3 1584. 0 1584. 0
1691 [ i | B & B 4 BN ES RAHELR >4 gl =55 2 2 1056. 0 1056. 0
1692 | W2 | B £ B H MR &2 LAELR R R gk 1 =578 73 3 3 1584. 0 1584. 0
1693 | IR | Rk & B PR 22 LAELR L ok 1 =578 71 1 1 528.0 528. 0
1694 | W2 | B & BT A MR &2 LAELR HIJEZE ok 1 =578 73 4 4 2112.0 2112.0
1695 | T | Bl & B MBS LAEAR JE bk Kl a =55 1 1 528.0 528.0
1696 | AT | Fli B B 4 SN ES RAHELR E R ol A TR 2 2 1056. 0 1056. 0
1697 | W& | b £ B AR SWNES LAELR 4 Ak S 7 7 3696. 0 3696. 0
1698 | W& | Fhivr £ B A SN ES REHELR SR IE ok 1 S 4 4 2112.0 2112.0
1699 | W2 | B £ BT A SWNZES LAEAR ZRTNHE ok =578 71 2 2 1056. 0 1056. 0
1700 | AR | Rk B B FH MBS RAHELR HaRAE Al i 1 1 528. 0 528. 0
1701 | AR | Rkl B B FH ZHMNES LATEAR ElSewE gl a =N 1 1 528. 0 528. 0
1702 | AR | Bl B B 4 MBS RAHELR H IR Al Bh=555h 3 3 1584. 0 1584. 0
1703 | 2T | Rl B AR SWNZES LAEAR PANESEI Aok 1 =578 71 1 1 528.0 528. 0
1704 | W)= | B £ B A SWNZES LAELR PAN) ok 1 =578 73 4 4 2112.0 2112.0
1705 | JETH | Bl & B 4 SHMNES RAHELR IKE Al =53 3 3 1584. 0 1584. 0
1706 | AT | R B B FH MBS FATEAR NE L el =553 3 3 1584. 0 1584.0
1707 | AR | Rk B B FH MBS FAEAR X Al BRZ 58 1 1 528. 0 528. 0
1708 | )& T | Rl & B H B SWNZEE RFHELR X/ F ok 1 =578 73 1 1 528. 0 528. 0
1709 | )2 | Bl £ BT A SWNZES LAEAR 575t ok =578 71 1 1 528.0 528. 0
1710 | AR | Rk B B FH MBS AL AR A Al BRZ 581 1 1 528. 0 528. 0
1711 | AR | Rkl & B ZHMNES LATEAR i 2 ik gl 0 W= 2 2 1056. 0 1056. 0
1712 | AT | Rk & B B4 MBS RAHELR [ ol A =557 3 3 2418. 0 2418. 0




1713 | AT | Rk B B 4 SN ES RAHELR LZE Al IR 6 6 3168. 0 3168. 0
1714 [ al)E | Bl & B MBS RAHEAR K gl a =55 1 1 528.0 528.0
1715 | AR | Bl B B 4 MBS RAHELR i i Al =555 1 1 528.0 528.0
1716 | W2 | B & BT HH A SWNZES LAEAR 71w ok =578 71 4 1 528.0 528. 0
1717 | W) | B & BT A SWNZES LAELR i) ok 1 g5 6 1 528. 0 528. 0
1718 | JETH | Bl & B 4 SHMNES RAHELR ket ol Bk 1 1 528.0 528.0
1719 | AR | Rk B B FH MBS RAHELR kK Al =553 3 3 1584. 0 1584.0
1720 | JbETH | Rk & B MBS FAEAR iz W Al BRZ 58N 1 1 528. 0 528. 0
1721 | v | B £ B 4 SN EE RAHELR 218 Rl P 1 1 528. 0 528.0
1722 | W2 | B A BT A SWNZES LAEAR ek ok 1 S 6 6 3168.0 3168. 0
1723 | AR | R B B FH MBS AL AR - [ g BRZ 58 4 4 2112.0 2112.0
1724 [ )T | B & B ZHMNES LATEAR - [ Kl a =55 2 2 1056. 0 1056. 0
1725 | AT | Rl B B 4 SN ES RAHELR - ol Bk 4 4 3224. 0 3224. 0
1726 | )2 | B £ B AR S TS LAEAR [ g ok Bh= 57571 1 1 806. 0 806. 0
1727 | W2 | B £ B A SWMNES LAELR R ok 1 g 3 3 1584. 0 1584. 0
1728 | W& | BB B SWNZES LAELR I ok S 1 1 528.0 528. 0
1729 | AR | Rk B B FH MBS RAHELR I REHE ol A IR 3 3 1584. 0 1584.0
1730 | AR | Rkl B B FH MBS RAHELR B R Al W= 1 1 528. 0 528. 0
1731 | )T | BB B H SWNZEE LAELR LREREN gk 1 =578 73 1 1 806. 0 806. 0
1732 | W) | R B BT A SWNES LAELR HEE ok 1 =578 71 1 1 528.0 528. 0
1733 | W2 | B & BT A SWNES LAELR R ok 1 =578 73 2 2 1056. 0 1056. 0
1734 | JETH | Rk B B MBS LAEAR e g P 5 4 2112.0 2112.0
1735 | AT | Bl B B 4 SN ES AT AR AR A ol A Bk 1 1 806. 0 806. 0
1736 | )2 | Bl £ B AR SWNES LAELR i E ik ok 1 S 5 5 2640. 0 2640. 0
1737 | W) | B & BT A SWNZEE REHELR Sk ok 1 S 2 2 1056. 0 1056. 0
1738 | )& | Bl £ BT A SWNZES LAEAR - ok S 1 1 528.0 528. 0
1739 | AR | Rk B B FH MBS RAHELR 7555 Al i BRZ 581 1 1 528. 0 528. 0
1740 | JbETH | Rk B B FH ZHMNES LATEAR ik gl a =N 1 1 528. 0 528. 0
1741 | AR | Bl B B 4 MBS RAHELR A ol A R 7 7 3696. 0 3696. 0
1742 | AT | Rl B HE SWNZES LAEAR R Aok 1 =578 71 1 1 528.0 528. 0
1743 | W2 | B £ BT A SWNZES LAELR YR ok 1 HAh 8 8 4224. 0 4224. 0
1744 | R | B & B 4 SHMNES RAHELR LR ol =552 0 3 1 528.0 528.0
1745 | AT | Rk B B FH MBS RAHELR A 3, el =553 1 1 528. 0 528. 0
1746 | JETH | Rk & B FH MBS FAEAR A Al BRZ 58 1 1 528. 0 528. 0
1747 | W2 | B A BT A SN EE RFHELR 8 JLF ok 1 =578 73 5 5 2640. 0 2640. 0
1748 | W& | BB BT A SWNZES LAEAR TRk ok =578 71 1 1 528.0 528. 0
1749 | AR | Rk B B 4 MBS AL AR TR Al IR 7 7 3696. 0 3696. 0
1750 | i | Bl & B ZHMNES LATEAR TR Kl a =55 1 1 528.0 528.0
1751 | AT | Bl B B 4 MBS RAHELR TRIE ol A R 1 1 528.0 528.0




1752 | AT | Rk B B FH SN ES RAHELR k& fE Al TR 1 1 528. 0 528. 0
1753 | AR | Rk B B FH MBS LAEAR b gl a W= 1 1 528. 0 528. 0
1754 | AR | Bl B B 4 MBS RAHELR K ol A PIh 1 1 806. 0 806. 0
1755 | W& | Rl B BT HH A WhIH 2 LAEAR Fr T 2 ok S 1 1 528.0 528. 0
1756 | 2T | B £ BT A WA %2 LAELR Bt ok 1 =578 73 3 1 528. 0 528. 0
1757 | AR | Bl B B FH WM &S RAHELR [ B A% Al =530 4 4 2112.0 2112.0
1758 | i | B & 3B F 4 WM& RAHELR AR ol A Gy 1 1 528.0 528.0
1759 | AR | Rk & B FH WM ZES RAHELR HEE gl I 5 5 2640. 0 2640. 0
1760 | 2T | B £ B R WA Z RFHLLR b4 ok 1 =558 73 1 1 528. 0 528. 0
1761 | )2 | BB BT A WA 2 LAEAR AR ok 1 =578 71 3 3 1584. 0 1584. 0
1762 | AT | Fhi B B FH WA & AL AR G Al BRZ 58 1 1 528. 0 528. 0
1763 | AR | Rk B B WM& LATEAR FE#H g b 1 1 528. 0 528. 0
1764 | AR | Rl B B FH WM& RAHELR FEAEdk ol R 1 1 528.0 528.0
1765 | 2T | R £ BT A WYIH %2 LAEAR EER ok Bh= 57571 2 2 1056. 0 1056. 0
1766 | 2T | B £ BT A WA Z 2 LAELR FERE ok 1 =578 73 6 6 3168. 0 3168. 0
1767 | W2 | BB B WA 2 LAELR FEHA ok S 1 1 528.0 528. 0
1768 | i | B & 3B F 4 WM& RAHELR /bR ol A =557 5 5 2640. 0 2640. 0
1769 | AR | Rk B B FH WM& RAEAR R gl Bk 4 4 2112.0 2112.0
1770 | )T | BB B H WA 2 LAELR EaAE gk 1 =578 73 2 2 1056. 0 1056. 0
1771 | W) | R B BT A WA Z 2 LAELR B R ok 1 =578 71 4 4 3224.0 3224. 0
1772 | W)ET | B A BT A WA 2 LAELR Il 5 Ui ok 1 g5 3 1 528. 0 528. 0
1773 | AR | Rkl B B WM &S LAEAR % g Bk 6 6 3168. 0 3168. 0
1774 | AT | Rl B B FH WA &S AT AR Bk ol A Bk 1 1 528.0 528.0
1775 | W2 | BB B H WhIR %2 LAELR R ok 1 BhR= 57871 2 1 528.0 528. 0
1776 | W2 | B £ BT A WA Z 2 REHELR [ ok 1 =555 73 1 1 528. 0 528. 0
1777 | W2 | B A BT A WhIH &2 LAEAR R ok S 5 5 2640. 0 2640. 0
1778 | AT | Bl B B FH WM& RAHELR R Al TR 4 4 2112.0 2112.0
1779 | AR | Rk B B FH WM ZE S LATEAR B i gl I 7 7 3696. 0 3696. 0
1780 | AT | Bl B B FH WM& RAHELR LRES Al Bh=555h 1 1 528.0 528.0
1781 | W& | Ry & BT HH A WhIH Z 2 LAEAR ISR Aok 1 =578 71 3 3 1584. 0 1584. 0
1782 | W& | B £ BT A WA Z LAELR Ak ok 1 =578 73 3 3 1584. 0 1584. 0
1783 | AETH | Rl B B FH WM &S RAHELR e ol Bk 2 2 1056. 0 1056. 0
1784 | i | Bkl & B F 4 WM& RAHELR - 7 1 ol A =557 5 5 2640. 0 2640. 0
1785 | @™ | Bl & B WM ZES FAEAR RS Ak [ b 5 5 2640. 0 2640. 0
1786 | W& | B £ BT A AR TS | RPHRR LR ok 1 =578 73 6 6 3168. 0 3168. 0
1787 | )& | Byl B BT A WABENZS | RRRR GURER ok =578 71 1 1 528.0 528. 0
1788 | T | Finl B B FH WHEMNZES | RAMER i 4 Al TR 7 7 5642. 0 5642. 0
1789 | AETH | Rk B B WABENZS | RPRR Y55 % g P 4 3 1584. 0 1584. 0
1790 | AT | Rl B B FH WAHEMNZES | RAMER R 2 B ol A R 3 3 2418. 0 2418. 0




1791 | AR | Rk B B FH WHEMNZES | RAER /b Bk Al i BRZ 581 1 1 528. 0 528. 0
1792 | AR | Rk & B FH WHEMNZES | RAMER RE2 g FRIR 1 1 806. 0 806. 0
1793 | AT | Bl B B FH WHENZES | RAMER JitkE Al =555 2 2 1056. 0 1056. 0
1794 | W2 | B & BT HH A WABEMNZS | RRRR YO ok S 1 1 806. 0 806. 0
1795 | W)= | B & BT A WAREM TS | RFHRR X ZE Ik ok 1 =578 73 4 4 2112.0 2112.0
1796 | AETH | Bl B B FH WHENZES | RAMER Xk Al =530 4 4 2112.0 2112.0
1797 | AR | Rk B B FH WAHENZES | RAMER WEIG Al =553 5 5 2640. 0 2640. 0
1798 | AR | Rk & B FH WHENZES | RAMER it [l gl I 1 1 528. 0 528. 0
1799 | v | By & B 4 WHBENZS | RAMEE G gikE Rl BRpE 1 1 528.0 528.0
1800 |yl [ iyl & BT A WABEMNZZ | KRR Jiw o ok 1 3] 2 2 1056. 0 1056. 0
1801 | iR | Rl B B FH WHEMNZES | RAMER TS g BRZ 58 4 4 2112.0 2112.0
1802 | JETH | Rk B B WHBEMNZES | RAMER Tt g BRI 1 1 528. 0 528. 0
1803 | AT | Bl B B FH WAHENZES | RAMER BF Ik Al Bh=555h 5 5 2640. 0 2640. 0
1804 | T | Rkl & B 48 WHBEMNZS | RAMEE LB A =580 4 4 2112.0 2112.0
1805 | W& [ B & BT A WARENZS | RFHER i[5 ok 1 =578 73 4 4 2112.0 2112.0
1806 | ylJET | iyl B B WABENZS | KRR L ok =578 71 2 2 1056. 0 1056. 0
1807 | AR | Bl B B FH WHEMNZES | RAMER TR AR Al =557 4 4 2112.0 2112.0
1808 | T | Rkl B B FH eSS RAEAR Y gl Bk 5 5 2640. 0 2640. 0
1809 | ylJETh [ Fliver £ B H A Z 2 LAELR ZRFR gk 1 =578 73 4 4 2112.0 2112.0
1810 |yl | Ryl & B AR B 252 LAELR X% ok 1 =578 71 5 5 2640. 0 2640. 0
1811 | )T [ b & B A MR 2 LAELR XK HE ok 1 =578 73 1 1 806. 0 806. 0
1812 | JETH | Rk B B U ETS LAEAR XFL R ol 0 W=l 4 4 2112.0 2112.0
1813 | AT | Rl B B FH eSS RAHELR X FE % Al Bh=553h 2 2 1056. 0 1056. 0
1814 | )& | R & B AR B 252 LAELR pUFRR ok 1 B 1 1 528.0 528. 0
1815 | W& [ B & B A MR 222 REHELR XA ok 1 =555 73 1 1 806. 0 806. 0
1816 | ylJETH [ Byl £ B A A Z 2 LAEAR )t [F] ok =578 71 2 2 1056. 0 1056. 0
1817 | AT | Rl B B FH LU ESS RAHELR XIIC B Al i BRZ 581 6 6 3168. 0 3168. 0
1818 | W | Rk B B FH LU ETS LATEAR X2 & gl a =N 1 1 806. 0 806. 0
1819 [T | B & B 4 eSS RAHELR EES] ol A R 2 2 1056. 0 1056. 0
1820 | W& | Ryl & B AR B 252 LAEAR EEH Aok 1 =578 71 2 2 1056. 0 1056. 0
1821 | )& [ B & B A MR 252 LAELR i ok 1 S 1 1 528. 0 528. 0
1822 | JETH | Rl & B 4 eSS RAHELR R ol PR 2 1 806. 0 806. 0
1823 | AR | R B B FH LU ESS RAHELR A ol A TR 6 1 528. 0 528. 0
1824 | JETH | Rk & B eSS RAHELR L7 gl a By 1 1 528. 0 528. 0
1825 | )& [ b & BT A MR 252 RFHELR i KAF ok 1 S 1 1 528. 0 528. 0
1826 | ylJE T | Byl £ B A B 252 LAEAR kAR ok S 7 7 3696. 0 3696. 0
1827 | W | Rkl B B FH LU ERS AL AR 5 M Al IR 1 1 528. 0 528. 0
1828 | T | Rk B B B & LATEAR REELR gl 0 W= 4 4 2112.0 2112.0
1829 | AT | R B B 4 eSS RAHELR REH ol A Bk 1 1 528.0 528.0




1830 | T | Rl B B FH LU ERS RAHELR N Al i BRZ 581 1 1 528. 0 528. 0
1831 | AR | Rk B B FH LU ETS LAEAR RN gl a W= 2 2 1056. 0 1056. 0
1832 | AT | Bl B B 4 eSS RAHELR RAHE ol A Bk 1 1 528.0 528.0
1833 | W& | Ryl & B AR MR T2 LAEAR U ok S 1 1 528.0 528. 0
1834 | )& [ B & B A MR 252 LAELR RYHE ok 1 =578 73 6 6 3168. 0 3168. 0
1835 | T | Rl B B 4 eSS RAHELR RAM Al =530 1 1 806. 0 806. 0
1836 | AT | Fi B B FH LU ESS RATEAR Rk Al =553 2 2 1056. 0 1056. 0
1837 | AR | Rk & B FH eSS FAEAR R gl I 1 1 528. 0 528. 0
1838 | yl)E T [ Fhivr & BT A MBS 2 & RFHLLR KA ok 1 S 2 2 1612. 0 1612.0
1839 [ T | B & 3B FH 4 MiA &2 RFHEAR RN ol a BrpiR 6 6 3168. 0 3168. 0
1840 | AR | Rkl B B FH LU ERS AL AR AAHEE Al BRZ 58 1 1 806. 0 806. 0
1841 | AR | Rkl B B LU ETS LATEAR KB gl 0 W= 5 5 2640. 0 2640. 0
1842 | AT | Bl B B 4 eSS RAHELR ENEER ol Bk 1 1 528.0 528.0
1843 | )& [ Fhivr £ BT A B 222 LAEAR EAKE ok S 6 6 3168.0 3168. 0
1844 | =T [ B £ BT A BN 22 LAELR 55 ok 1 g 1 1 528. 0 528. 0
1845 | )& [ Byl £ B BN 22 LAELR FEERZE ok S 1 1 528.0 528. 0
1846 | AR | Fi B B FH N RAHELR X1 W ol A IR 3 3 1584. 0 1584.0
1847 | WETH | Rk B B FH B &S RAEAR X FIZE gl Bk 1 1 528. 0 528. 0
1848 | W& [ Bl £ B H BN 22 LAELR X #E gk 1 B 1 1 528. 0 528. 0
1849 | W& [ Byl & BT A BN 2 LAELR R AE ok 1 S 4 4 3224.0 3224. 0
1850 | yl)ETH | bl & BT A BN 22 LAELR e ok 1 S 1 1 528. 0 528. 0
1851 | IR | Rkl B B N LAEAR X B ol 0 W=l 1 1 806. 0 806. 0
1852 | T | Bl B B 4 N RAHELR XA ol A R 8 8 4224. 0 4224. 0
1853 | ylJE T [ Fliver & B H BN 22 LAELR It ok 1 BhR= 57871 4 4 2112.0 2112.0
1854 | W& [ BT & BT A BN 22 REHELR EAlR ok 1 S 5 5 2640. 0 2640. 0
1855 | W& [ vl B B A BN 22 LAEAR RG T ok S 1 1 528.0 528. 0
1856 | T | Fivl B B FH B &S LATE AR HFR Al PR 5 5 2640. 0 2640. 0
1857 | WETH | Rk B B N RAHELR RARYE gl I 4 4 2112.0 2112.0
1858 | T | Bl B B 4 N RAHELR RIGL Al Bh=555h 1 1 806. 0 806. 0
1859 | W& [ Ryl & BT HH A BN 22 LAEAR R Aok 1 =578 71 5 5 2640. 0 2640. 0
1860 | ylJE T [ Flivr & BT A BN 22 LAELR RANE ok 1 HAh 3 3 1584. 0 1584. 0
1861 | JETH | Rl & B 4 &S RAHELR REM Al =53 5 5 2640. 0 2640. 0
1862 | T | Rk B B FH N RAHELR R el =553 4 4 2112.0 2112.0
1863 | WETH | Rk & B FH &S FAEAR 8 {0 3 Al BRZ 58 2 2 1056. 0 1056. 0
1864 | W& [ B & BT A b 2 RFHELR R E ok 1 =578 73 1 1 528. 0 528. 0
1865 | W& | Byl £ BT A b 2 LAEAR R ok S 5 1 528.0 528. 0
1866 | T | Fivil B B FH Jei 2 AL AR IR Al BRZ 581 1 1 528. 0 528. 0
1867 | WETH | Rk B B JeiiNZE 2 LATEAR MR g I 1 1 528. 0 528. 0
1868 | yilET | Flivl B B FH B ES RAHELR MR Al Bh=555h 3 3 1584. 0 1584. 0




1869 | il | Fi B B FH Jehi &2 RAHELR WEFH Al i BRZ 581 4 4 2112.0 2112.0
1870 | JETH | Rk B B FH b2 LAEAR TR gl a W= 1 1 528. 0 528. 0
1871 | AR | Bl B B FH e 22 RAHELR X iE ol A TR 5 5 2640. 0 2640. 0
1872 | & [ Rl & BT HH A b 2 LAEAR X ok =578 71 1 1 528.0 528. 0
1873 | )& [ B & BT A b 2 LAELR X ok 1 =578 73 5 5 2640. 0 2640. 0
1874 | WETH | Bk & B FH b2 RAHELR IR ST ol R 6 6 3168. 0 3168. 0
1875 | AT | Rl B B FH Jei 22 RAHELR X 5R Al =553 4 4 2112.0 2112.0
1876 | WETH | Rk & B FH JeiiNZE S FAEAR X135 2, Al BRZ 58N 9 9 4752. 0 4752. 0
1877 | )& [ B & BT A b 2 RFHLLR S ok 1 =558 73 6 6 3168. 0 3168. 0
1878 | ylJE T [ Byl £ BT A b 2 LAEAR PN ok 1 S 1 1 528.0 528. 0
1879 | AR | R B B FH Jei 2 AL AR XE = Al TR 1 1 528. 0 528. 0
1880 | iR | Rl B B JeiiNZE 2 LATEAR XFKEE g BRI 1 1 528. 0 528. 0
1881 | T | Rl B B FH B ES RAHELR XA 4T ol HAth 6 6 3168. 0 3168. 0
1882 | ylJE T | Flivr & BT A b 2 LAEAR X ok S 7 7 3696. 0 3696. 0
1883 | W& [ Flivr & BT A b 2 LAELR W7k ok 1 =578 73 3 1 528. 0 528. 0
1884 | W& [ Byl £ BT A b 2 LAELR B ok S 4 4 2112.0 2112.0
1885 | T | Fiil B B FH Jei N ZE 2 RATEAR EES Al =557 1 1 528. 0 528. 0
1886 | IR | Rk B B FH JeiiNZE S RAEAR 220 gl [A 2 6 6 3168. 0 3168. 0
1887 | ylJETh [ Ryl £ BT A b 2 LAELR K gk 1 TR 4 4 2112.0 2112.0
1888 | W& | iyl BT A b 2 LAELR M ok 1 S 4 4 2112.0 2112.0
1889 [ T | i & B 4 JelidZe RIHELR LI ol a P 1 1 528.0 528.0
1890 | IR | Fkil B B JeiNZE 2 LAEAR Uil ol 0 W=l 3 3 1584.0 1584. 0
1891 | iy | Bk & 3B F 4 ek e RAHELR P 3 ol A Atk 2 2 1056. 0 1056. 0
1892 | W& [ byl £ B H b 2 LAELR U ok 1 BhR= 57871 6 6 3168.0 3168. 0
1893 | W& [ Fliver & BT A b 2 REHELR kg ok 1 S 8 8 4224. 0 4224. 0
1894 | W& [ Byl £ BT A b ZE 2 LAEAR EES ok S 1 1 528.0 528. 0
1895 | T | Rl B B FH Jehi &2 RAHELR LB Al TR 1 1 528. 0 528. 0
1896 | WETH | R B B FH e ZE 2 LATEAR AR gl BRI 1 1 528. 0 528. 0
1897 | AT | Bl B B FH e Z 2 RAHELR i3 ol A Bk 1 1 528.0 528.0
1898 | W& [ Fliver & BT HH A b 2 LAEAR H3ESF Aok 1 S 7 7 3696. 0 3696. 0
1899 | W& [ Flivr & BT A b 2 LAELR AR H ok 1 S 6 6 3168. 0 3168. 0
1900 | AETH | Rl B B FH b2 RAHELR IR ol R 1 1 528.0 528.0
1901 | AR | Rk B B FH Jei 2 RAHELR N el =553 1 1 528. 0 528. 0
1902 | AR | Rk & B FH JeiiNZE S FAEAR H8E Al BRZ 58 5 3 1584. 0 1584.0
1903 | )2 | b £ BT A b 2 RFHELR TRAKE ok 1 S 5 5 2640. 0 2640. 0
1904 | )& | B £ BT A b 2 LAEAR KK R ok =578 71 1 1 528.0 528. 0
1905 | R | Rl B B FH Jei 2 AL AR B Al IR 6 6 3168. 0 3168. 0
1906 | qliET | Bl & B ek e RAHEAR B2 gl 0 P 2 2 1612.0 1612. 0
1907 | AT | Rl B B FH B ES RAHELR FIER Al Bh=555h 1 1 528.0 528.0




1908 | T | Fi B B FH Jehi &2 RAHELR KNG Al TR 4 4 3224. 0 3224. 0
1909 | AR | Rk B B FH PO &2 LAEAR TERE g I 3 3 2418.0 2418. 0
1910 | AbETH | Bl B B 4 RS RAHELR [N Al =555 1 1 528.0 528.0
1911 | W2 | R & B AR NS LAEAR WE ok =578 71 4 4 2112.0 2112.0
1912 | W2 | B & B A PO 22 LAELR R ok 1 S 4 4 2112.0 2112.0
1913 | AETH | Bl & B 4 HHES RAHELR Stk ol Gy 1 1 806. 0 806. 0
1914 | AR | Rk B B FH HH B RAHELR A Al =553 1 1 528. 0 528. 0
1915 | AR | Rk & B FH PO &2 FAEAR KL gl I 7 7 3696. 0 3696. 0
1916 | )2 | B & BT A PO 2 RFHLLR HB ok 1 =558 73 3 3 1584. 0 1584. 0
1917 | )2 | B & BT A OB 22 LAEAR Bk ok 1 =578 71 3 3 1584. 0 1584. 0
1918 | AR | Rk B B FH HH RS AL AR B Al BRZ 58 1 1 528. 0 528. 0
1919 | AR | Rk & B HHES LATEAR (R gl 0 W= 5 5 2640. 0 2640. 0
1920 | AT | Rl B B 4 H RS RAHELR TR ol Bk 1 1 528.0 528.0
1921 | )2 | b & BT A g 22 LAEAR WAk ok oAt 2 1 806. 0 806. 0
1922 | W2 | B & B A PO 252 LAELR [EELEAN ok 1 g 1 1 806. 0 806. 0
1923 | )& | B £ B NS LAELR B ik ok =578 71 5 5 2640. 0 2640. 0
1924 | AR | Rk B B FH HHES RAHELR EE 3 ol A TR 1 1 528. 0 528. 0
1925 | AR | Rk B B FH PO 2 RAEAR ELERY Al W= 5 5 2640. 0 2640. 0
1926 | yl)ET | B £ B H OB 22 LAELR EEES gk 1 TR 1 1 806. 0 806. 0
1927 | W& | R £ B AR BopM 22 LAELR NGRS ok 1 =578 71 4 4 2112.0 2112.0
1928 | W2 | B & B A BN 22 LAELR Tk Ak ok 1 =578 73 2 2 1056. 0 1056. 0
1929 [ T | Bl & B HHES RAHEAR KRE Kl a =55 5 5 2640. 0 2640. 0
1930 | AT | Rl B B 4 T RAHELR B Al Bh=553h 6 6 3168. 0 3168. 0
1931 | )2 | B & B AR BRENZE LAELR A ok 1 oAt 1 1 528.0 528. 0
1932 | W2 | B & B A S REHELR FIRE ok 1 S 5 5 2640. 0 2640. 0
1933 | )2 | B £ B A BREN B LAEAR ZEIRER ok =578 71 4 4 2112.0 2112.0
1934 | AR | Rk B B FH MBS LATE AR 22 Al [ 2 6 6 3168. 0 3168. 0
1935 | AR | Rk B B RN B LATEAR D gl I 6 6 3168. 0 3168. 0
1936 | AT | Bl B B 4 MBS RAHELR FRE Al Bh=555h 1 1 528.0 528.0
1937 | JE T | Rl & B HE BREN B LAEAR ZERERH Aok 1 =578 71 6 6 3168.0 3168. 0
1938 | )& | Fivr £ B A S LAELR ES S ok 1 =578 73 3 3 1584. 0 1584. 0
1939 | AETH | Rk & B 4 MBS RAHELR B ol Bk 1 1 528.0 528.0
1940 | AR | Rk B B FH MBS RAHELR X755 el =553 1 1 528. 0 528. 0
1941 | JbETH | Rk & B RN TS FAEAR ETs gl a By 4 4 2112.0 2112.0
1942 | W2 | B & BT A BN B RFHELR XIS EE ok 1 =578 73 5 5 2640. 0 2640. 0
1943 | )2 | B £ B A BREN B LAEAR Fe/ME ok S 1 1 528.0 528. 0
1944 | AR | Rk B B FH T AL AR RT5 Al BRZ 581 3 3 1584. 0 1584. 0
1945 | AR | Rkl B B MBS LATEAR B gl 0 W= 5 5 2640. 0 2640. 0
1946 | AR | Rl B B 4 MBS RAHELR [ZE S Al Bh=555h 6 2 1056. 0 1056. 0




1947 | AT | Rk B B FH MBS RAHELR [ Al i BRZ 581 1 1 528. 0 528. 0
1948 | AR | Rk & B FH RN T LAEAR kA gl a W= 2 2 1056. 0 1056. 0
1949 | AR | Bl & B 4 MBS RAHELR AR ol A TR 6 6 3168. 0 3168. 0
1950 | ylJET | Rl £ B AR NS LAEAR KBRS ok =578 71 1 1 806. 0 806. 0
1951 | )T | B & BT A BREN B LAELR kK H ok 1 =578 73 6 6 3168. 0 3168. 0
1952 | JETH | Bl B B 4 MBS RAHELR Tk ol i 1 1 528.0 528.0
1953 | AR | Rk B B FH MBS RATEAR K Al =553 2 2 1056. 0 1056. 0
1954 | AR | Rk & B RN TS FAEAR TR MR Al BRZ 58N 5 5 2640. 0 2640. 0
1955 | )2 | B & BT A BN B RFHLLR kAT ok 1 S 5 5 2640. 0 2640. 0
1956 | W& | Bl B B AR BREMN B LAEAR Tk ok 1 S 2 2 1612.0 1612.0
1957 | AR | Rkl B B FH T AL AR HER Al TR 8 8 4224. 0 4224. 0
1958 | AT | Rkl B B MBS LATEAR K EM gl 0 W= 1 1 528. 0 528. 0
1959 | AT | Rl B [ a! BERENES RAHELR AR B ol i 1 1 528.0 528.0
1960 | yl)ET | Fhivr £ i BEMNES LAEAR A ok HAth 1 1 528.0 528. 0
1961 | )2 | B & i BENES LAELR etk ok 1 =578 73 1 1 528. 0 528. 0
1962 | )& | B £ i BEMNES LAELR B ok =578 71 1 1 528.0 528. 0
1963 | i | B & ! BERENES RATEAR T HER Al =557 1 1 528. 0 528. 0
1964 | T | B & ot BERENES RAEAR B gl Bk 1 1 528. 0 528. 0
1965 | yl)ET | B £ A BENES LAELR EZAbi gk 1 B 2 2 1056. 0 1056. 0
1966 | yl)E T | Fhivr £ i BEMNES LAELR AL ok 1 =578 71 8 8 4224.0 4224. 0
1967 | 2T | b £ i BENES LAELR DY ok 1 =578 73 1 1 528. 0 528. 0
1968 | i | B & otk BEMNES LAEAR LA g HAh 1 1 528. 0 528.0
1969 | il | B & F 3 BERENES RAHELR B KK Al Bh=553h 2 2 1612.0 1612.0
1970 | )2 | B £ i BEMNES LAELR g ok 1 BhR= 57871 1 1 528.0 528. 0
1971 | W)= | B & i BENES REHELR ) ] 231 gk H =555 73 6 6 3168. 0 3168. 0
1972 | W2 | B £ s/l BEMNES LAEAR TR ok =578 71 4 4 2112.0 2112.0
1973 | i | ] & ot BERENES RAHELR TR IR Al i 2 2 1056. 0 1056. 0
1974 [ aET | B ot HBERENES LATEAR TR gl a =N 1 1 528. 0 528. 0
1975 | AT | Bl B ! BERENES RAHELR FISEAYE] ol A R 3 3 1584. 0 1584. 0
1976 | 2T | R i BEMNES LAEAR EISE Aok 1 =578 71 4 4 2112.0 2112.0
1977 | 2T | B & i BENES LAELR TR ok 1 =578 73 7 7 3696. 0 3696. 0
1978 | AT | Rl & [k HERENES RAHELR TRAR R ol R 3 3 1584. 0 1584. 0
1979 | i | i & F3 BEREMNES RAHELR Qi el =553 1 1 528. 0 528. 0
1980 | i | il & ot BERENES FAEAR Tki% Al BRZ 58 1 1 806. 0 806. 0
1981 | yl)E T | B & i BENES RFHELR kEs ok 1 =578 73 3 3 2418.0 2418. 0
1982 | ylJE T | Byl £ e/l BENES LAEAR FKBHEH ok =578 71 1 1 528.0 528. 0
1983 | il | Bk & ot BERENES AL AR kA Al BRZ 581 5 5 2640. 0 2640. 0
1984 | i | Bl & ot BEMNES LATEAR Tkl gl 0 W= 1 1 528. 0 528. 0
1985 | T | Rl B [ BERENES RAHELR kol e Al Bh=555h 1 1 528.0 528.0




1986 | qiliE T | B & ot PAMNES RAHELR X7 Al i 6 6 3168. 0 3168. 0
1987 [ i | il & ot PANES LAEAR % ik g i 6 6 3168. 0 3168. 0
1988 | T | Bl B [ a! PAMNES RAHELR B Al =555 3 3 1584. 0 1584. 0
1989 | W& | Ryl & i PAHENZES LAEAR it ok =578 71 6 6 3168.0 3168. 0
1990 | )= | R & i PAENZES LAELR o ok 1 HAh 5 4 2112.0 2112.0
1991 | AR | Rl B [k PANES RAHELR - E ol HAh 3 3 1584. 0 1584. 0
1992 | i | B & F3r PARAMNES RATEAR Sz Al =553 1 1 528. 0 528. 0
1993 [ i | B & ot PANES FAEAR LY gl i 3 3 1584. 0 1584. 0
1994 | vy | By £ Raiak:! PARNZES RAHELR =P Rl P 3 3 1584. 0 1584. 0
1995 | )& | B £ s/l PHENZES LAEAR RN ok 1 =578 71 3 3 1584. 0 1584. 0
1996 | AR | Fi B Stak! PAMNES RAHELR X SE Al BRZ 58 5 5 2640. 0 2640. 0
1997 [ T | Bl & ot PANES LATEAR TR gl 0 W= 1 1 528. 0 528. 0
1998 | AT | Rl B 3 PANES RATEAR A ALEE ol i 4 4 2112.0 2112.0
1999 | )2 | b £ i PAENZES LAEAR A HAE ok oAt 4 4 2112.0 2112.0
2000 | i | Bl £ i PAENZES LAELR A ok 1 HAh 5 5 2640. 0 2640. 0
2001 | T | Bl £ i PHENZES LAELR A 4 ok S 5 5 2640. 0 2640. 0
2002 | AR | B B ! PANES RATEAR SRS ol A i 6 6 3168. 0 3168. 0
2003 | AR | B B ot PANES RAHELR R gl i 1 1 528. 0 528. 0
2004 | T | Bl £ A PAENZES LAELR 75 = gk 1 IR 1 1 528. 0 528. 0
2005 | T | B £ i PAENZES LAELR X FR ok 1 HAth 2 2 1056. 0 1056. 0
2006 | T | Rl £ i PAENZES LAELR A ok 1 =578 73 1 1 528. 0 528. 0
2007 | AR | B B otk PANES LAEAR X ol 0 W=l 1 1 528. 0 528.0
2008 | alE T | B B F 3 PARAMNES RAHELR Rk el 1 Bh=553h 1 1 528. 0 528.0
2009 | T | B £ i PAENZES LAELR B EA ok 1 B 6 6 3168.0 3168. 0
2010 | T | Bl £ i PAENZES REHELR A ok 1 =555 73 2 1 528. 0 528. 0
2011 | T | Bl £ s/l PHENZES LAEAR AT ok =578 71 11 11 5808. 0 5808. 0
2012 | AR | B B ot Pl &S RAHELR B Al i BRZ 581 1 1 806. 0 806. 0
2013 | AR | B B ot Pl ES LATEAR 57 gl a =N 1 1 528. 0 528. 0
2014 | R | B B ! Pl &S RAHELR f ol A HAh 3 3 1584. 0 1584. 0
2015 | T | Bl £ i AN Z 2 LAEAR EEEY; Aok 1 =578 71 4 4 2112.0 2112.0
2016 | T | Rl £ i PNz LAELR HENE ok 1 HAh 3 3 1584. 0 1584. 0
2017 [ R | i B [k Pl ES RAHELR FRT ol R 4 4 2112.0 2112.0
2018 | lE T | Bl B F3 Pl ES FATEAR FEFFIA ol A i 3 3 1584. 0 1584.0
2019 | AR | B B ot Pl ES FAEAR KA gl a b 2 2 1056. 0 1056. 0
2020 | T | Bl £ i PN %2 RFHELR AR ok 1 B 7 7 3696. 0 3696. 0
2021 | T | Bl £ e/l AN Z 2 LAEAR gy ok =578 71 1 1 528.0 528. 0
2022 | AR | B B ot Pl &S RAHELR # bR Al BRZ 581 1 1 528. 0 528. 0
2023 | AR | B B ot Pl ES LATEAR A g HAh 2 2 1056. 0 1056. 0
2024 | R | B B [ Pl ES RAHELR B ol A Bk 1 1 528.0 528.0




2025 | AR | B B ot Pl ES RAHELR PR Al i BRZ 581 1 1 528. 0 528. 0
2026 | AR | B B ot Pl ES LAEAR 155 3k g I 1 1 528. 0 528. 0
2027 | iR | B B [ a! Pl ES RAHELR I Al =555 3 3 1584. 0 1584. 0
2028 | T | B £ i AN %2 LAEAR A ok HAth 3 3 1584. 0 1584. 0
2029 | AT | B £ ik Pl ZEE RAHELR AR ol a =550 1 1 528.0 528.0
2030 [ iR | B B [k Pl ES RAHELR LA Al =530 5 5 2640. 0 2640. 0
2031 | AR | Bl B F3r Pl ES RATEAR N E Al =553 1 1 528. 0 528. 0
2032 | AR | B B ot Pl ES FAEAR e gl I 1 1 528. 0 528. 0
2033 | T | Bl £ i AN &2 RFHLLR i ok 1 HAh 2 2 1056. 0 1056. 0
2034 | T | Bl £ s/l AN Z 2 LAEAR I ok 1 =578 71 1 1 528.0 528. 0
2035 | AR | B B o Pl ES RAHELR I Al BRZ 58 2 2 1056. 0 1056. 0
2036 | AR | B B ot AN ZES LATEAR KT g By 7 7 3696. 0 3696. 0
2037 | iR | B B [ a! Pl ES RAHELR HSCE Al Bh=555h 1 1 528.0 528.0
2038 | i | Bl £ i RKENZES LAEAR e ok Bh= 57571 1 1 528.0 528. 0
2039 | T | Bl £ i KENZES LAELR T pE A ok 1 (K% 5 5 2640. 0 2640. 0
2040 | T | Bl £ i RKENZES LAELR Ak ok =578 71 1 1 528.0 528. 0
2041 | AR | B B ! KEMES RAHELR TR Al =557 4 4 2112.0 2112.0
2042 | AR | B B ot KEMNES RAHELR Tl Al W= 4 4 2112.0 2112.0
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2563 | MR | i B WRR LGRS RAHELR i ol R 2 2 1056. 0 1056. 0
2564 | AR | B B BRI AN T2 FATEAR R ol A i 1 1 528. 0 528. 0
2565 | AR | B B IR AN FAEAR A gl a b 2 2 1056. 0 1056. 0
2566 | 2T | Rl £ IRIR A TUNES RFHELR PR ok 1 HAh 4 4 2112.0 2112.0
2567 | iR | R E IR TUMNES LAEAR AR BE ok =578 71 1 1 528.0 528. 0
2568 | R | B B MR HKUNES RAHELR B 5k Al BRZ 581 5 4 2112.0 2112.0
2569 | AR | B B WRIR BT LATEAR EURS g P 4 4 2112.0 2112.0
2570 | AR | B B WRIR FREMNES RAHELR P ER ol A TRy 5 5 2640. 0 2640. 0




2571 | AR | B B WRR FREMNEE RAHELR I 2E K Al i 8 8 4224. 0 4224. 0
2572 | MR | B B IR BUNES LAEAR ) g FRIR 5 5 2640. 0 2640. 0
2573 | WET | B & WRR FREMNES RAHELR I Eh Al =555 1 1 806. 0 806. 0
2574 | iR | R B IR AR TUMNES LAEAR i HHE ok =578 71 1 1 528.0 528. 0
2575 | T | Bl £ IRIR A TUNES LAELR 3L ok 1 g5 4 4 2112.0 2112.0
2576 | R | B B IR FRENES RAHELR LREE ol R 3 3 1584. 0 1584. 0
2577 | AR | B B WRR FREMNEE RAHELR AR ol A PR 1 1 528. 0 528. 0
2578 | MR | B B IR BN ES FAEAR A gl By 1 1 528. 0 528. 0
2579 | Wi | Bl E IRIR A TUNES RFHLLR iR ok 1 S 1 1 528. 0 528. 0
2580 | T | B B IR TUMNES LAEAR ot ok 1 =578 71 3 3 1584. 0 1584. 0
2581 | R | B B WRIR HKUNES AL AR /g€ Al TR 3 3 1584. 0 1584. 0
2582 | MR | B B IRIR BUNES LATEAR UREEA g BRI 1 1 528. 0 528. 0
2583 | R | B B MR FREMNES RAHELR MR E ol i 1 1 528.0 528.0
2584 | T | R £ IR A TUMNES LAEAR R ok S 8 7 3696. 0 3696. 0
2585 | T | Bl £ IR A TUNES LAELR A Bk ok 1 S 1 1 528. 0 528. 0
2586 | T | Bl £ IR TUMNES LAELR Al ok S 4 4 2112.0 2112.0
2587 | alE T | B B WRIR HEMNEE RATEAR JEA 4K ol A TR 6 6 3168. 0 3168. 0
2588 | R | B B IR PWENES RAEAR W gl Bk 1 1 528. 0 528. 0
2589 | T | Bl £ IRIR WENZES LAELR ARG gk 1 TR 1 1 806. 0 806. 0
2590 [ iR | R E IR A WENZES LAELR ImET ok 1 S 4 4 2112.0 2112.0
2591 | T | Bl £ IR A WENZES LAELR LNES ok 1 oAt 5 4 2112.0 2112.0
2592 | AR | B B WRIR PMENES LAEAR e g P 1 1 528. 0 528.0
2593 | alE T | B B WRR WENES RAHELR i[5 ol A TR 2 2 1056. 0 1056. 0
2594 | T | Bl £ IR WENZES LAELR PSS ok 1 S 5 1 528.0 528. 0
2595 | T | Bl £ IRIR A WENZES REHELR AR ok 1 S 6 6 3168. 0 3168. 0
2596 | MR | BB IR A WENZES LAEAR R IR ok S 1 1 528.0 528. 0
2597 | nlE T | B B WRIR PWENES RAHELR R Y Al TR 6 6 3168. 0 3168. 0
2598 | MR | B B IR PMENES RAHELR -3 gl a =N 2 1 528. 0 528. 0
2599 | iR | B B WRR WENES RAHELR 3 ol A R 5 5 2640. 0 2640. 0
2600 | iR | R B IR A WENZES LAEAR R B Aok 1 HAth 2 2 1056. 0 1056. 0
2601 | T | Bl £ IRIR AR WENZES LAELR R ok 1 S 1 1 528. 0 528. 0
2602 | iR | i B WRR PMENES RAHELR LGRS ol Bk 1 1 528.0 528.0
2603 | alE T | B B BRI PWEMNES RAHELR L RERE] ol A PR 2 2 1056. 0 1056. 0
2604 | AR | B B IR PR ES RAHELR B gl a By 1 1 528. 0 528. 0
2605 | 2T | Bl £ IRIR A RN RFHELR EREES ok 1 S 4 4 2112.0 2112.0
2606 | il | R E IR P 2 LAEAR 1 )58 ok =578 71 2 2 1056. 0 1056. 0
2607 | nlE T | B B MR PR ES RAHELR Ak g Al i 1 1 528. 0 528. 0
2608 | AR | B B WRIR PR ES LATEAR A g BRI 1 1 528. 0 528. 0
2609 | iR | B B WRIR G ESS RAHELR - = ol A R 1 1 528.0 528.0




2610 | lE T | B B WRR PR ES RAHELR - A Al TR 5 5 2640. 0 2640. 0
2611 | AR | B B IR PR ES LAEAR i K gl a W= 6 6 3168. 0 3168. 0
2612 | R | B B WRR G ESS RAHELR L ol A R 1 1 528.0 528.0
2613 | iR | R B IR AR P 2 LAEAR - [ Ak S 3 3 1584. 0 1584. 0
2614 | T | Bl £ IRIR A PR ZES LAELR I ok 1 g5 1 1 528. 0 528. 0
2615 | R | B & IR PR ES RAHELR I ol BRI 3 3 1584. 0 1584. 0
2616 | alE T | B B WRR G ESS RATEAR L Al =553 5 5 2640. 0 2640. 0
2617 | MR | B B IR PR ES FAEAR LEs] gl By 3 3 1584. 0 1584. 0
2618 | i | Rl & IRIR A RN RFHLLR R ok 1 =558 73 7 7 3696. 0 3696. 0
2619 | iR | R E IR P 2 LAEAR NTESS ok 1 3] 4 4 2112.0 2112.0
2620 | R | B B WRIR G ETS RAHELR I 2% Al IR 5 5 2640. 0 2640. 0
2621 | AR | B B IRIR PR ES LATEAR - RAf g BRI 1 1 528. 0 528. 0
2622 | R | B B MR G ERS RAHELR R = ol R 5 5 2640. 0 2640. 0
2623 | T | Bl £ IR A PN LAEAR Tk ok S 1 1 528.0 528. 0
2624 | T | Bl E IR A PR ZES LAELR i e ok 1 g 5 5 2640. 0 2640. 0
2625 | T | Bl £ IR P T2 LAELR IR ok S 1 1 528.0 528. 0
2626 | AR | B B WRIR PR ES RAHELR XU 5 Al =557 2 2 1056. 0 1056. 0
2627 | MR | B B IR PR ES RAHELR B gl Bk 6 6 3168. 0 3168. 0
2628 | T | Bl £ IRIR P 2 LAELR R gk 1 IR 2 2 1056. 0 1056. 0
2629 | iR | R IR A P 2 LAELR RN ok 1 S 1 1 528.0 528. 0
2630 | T | Rl £ IR A PR ZES LAELR R ok 1 g5 3 3 1584. 0 1584. 0
2631 | AR | B B WRIR PR ES LAEAR =1 g (K2 3 3 1584.0 1584. 0
2632 | MR | B B WRR G ESS RAHELR - < ol A TR 2 2 1056. 0 1056. 0
2633 | T | Rl £ IR PR ES LAELR e ok 1 S 4 4 2112.0 2112.0
2634 | T | Bl E IRIR A PR ZES REHELR A ok 1 S 1 1 528. 0 528. 0
2635 | MR | BB IR PR 2 LAEAR e ok S 2 2 1056. 0 1056. 0
2636 | NlE T | B B WRIR PR ES RAHELR H7E 5 Al PR 5 4 2112.0 2112.0
2637 | MR | B B IR PR ES LATEAR M 7E 5t gl I 6 6 3168. 0 3168. 0
2638 | IR | B B WA G ERS RAHELR -7 Al Bh=555h 5 5 2640. 0 2640. 0
2639 | iR | R IR A PRI T2 LAEAR 7 R Aok 1 B 2 2 1056. 0 1056. 0
2640 | T | Bl £ IRIR AR PR ZES LAELR % ok 1 S 1 1 528. 0 528. 0
2641 | R | BB WRR PR ES RAHELR LRERGS ol Bk 1 1 528.0 528.0
2642 | MR | B B BRI G ESS RAHELR A ol A TR 2 2 1056. 0 1056. 0
2643 | MR | B B IR PR ES RAHELR A7 i Al BRZ 58 5 5 2640. 0 2640. 0
2644 | T | Bl E IRIR A RN RFHELR s ok 1 S 6 6 3168. 0 3168. 0
2645 | R | BB IR P 2 LAEAR R ok B 5 5 2640. 0 2640. 0
2646 | MR | B B MR PR ES AL AR AR Al IR 8 8 4224. 0 4224. 0
2647 | MR | B B WRIR A S LATEAR LN g I 1 1 528. 0 528. 0
2648 | IR | B B WRIR A S RAHELR B AI ol A R 1 1 528.0 528.0




2649 | MR | B B WRR A S RAHELR [ i Al TR 4 4 2112.0 2112.0
2650 | R | B B IR A S LAEAR LNEES g i 1 1 528. 0 528. 0
2651 | T | B B WRR HNZES RAHELR HRA ol A R 4 4 2112.0 2112.0
2652 | R | R B IR AR HNZES LAEAR i ok ok S 2 2 1056. 0 1056. 0
2653 | T | Rl £ IRIR A TN ZE LAELR i ok 1 S 7 7 3696. 0 3696. 0
2654 | R | i B IR A S RAHELR kR ol R 4 1 528.0 528.0
2655 | AR | B B WRR A S RAHELR A ol A PR 6 6 3168. 0 3168. 0
2656 | MR | B B IR JTHENES RAHELR 2 Es ol P 4 4 2112.0 2112.0
2657 | T | Bl & IRIR A SN Z 2 RFHLLR - A ok 1 S 3 3 1584. 0 1584. 0
2658 | T | Bl £ IR JTHENZES LAEAR [ ok 1 HAth 2 2 1056. 0 1056. 0
2659 | MR | B B WRIR TN ES RAHELR P AE Al TR 1 1 528. 0 528. 0
2660 | AR | B B IRIR JTHENES LATEAR LN g BRI 3 1 528. 0 528. 0
2661 | R | B B MR R eSS RAHELR A ol Bk 1 1 528.0 528.0
2662 | T | Bl £ IR A JTENZES LAEAR AR AN ok S 4 3 1584. 0 1584. 0
2663 | T | Bl £ IR A SN Z S LAELR Y ok 1 S 1 1 528. 0 528. 0
2664 | T | Bl £ IR JTHENZES LAELR RGEE ok HoAth 1 1 528.0 528. 0
2665 | AR | B B WRIR TN RS RAHELR AT ol A TR 5 5 4030. 0 4030. 0
2666 | AR | B B IR JTHENES RAEAR EisGaLiil Al W= 2 2 1056. 0 1056. 0
2667 | T | Rl £ IRIR NS LAELR AR gk 1 TR 2 2 1056. 0 1056. 0
2668 | liE I | R E IR A EHNES LAELR FHE ok 1 S 4 4 2112.0 2112.0
2669 | T | Rl £ IR A EHINES LAELR R ok 1 S 6 6 3168. 0 3168. 0
2670 | AR | B B IR EhinES LAEAR - [E A ol i 2 2 1056. 0 1056. 0
2671 | alE T | B B WRR EhiMNES AT AR - [E AR ol A Bk 1 1 528.0 528.0
2672 | R | BB IR EHNES LAELR G ok 1 BhR= 57871 5 5 2640. 0 2640. 0
2673 | Wi | Rl E IRIR A EINES REHELR A ok 1 S 2 2 1056. 0 1056. 0
2674 | T | Bl £ IR EHNES LAEAR N ok HAh 1 1 528.0 528. 0
2675 | AR | B B WRIR EhinES RAHELR ikJhE Al =555 3 3 1584. 0 1584. 0
2676 | iR | R B Ry HHAMNES LATEAR 2R gl a =N 4 2 1056. 0 1056. 0
2677 | R | BB ERIR:! HHAMES RAHELR 2] ol A BRI 3 1 806. 0 806. 0
2678 | T | Rl £ YU N TS LAEAR Wi Aok 1 S 2 1 528.0 528. 0
2679 | T | Bl E ARIUH N TS LAELR w2 Eih ok 1 S 3 3 1584. 0 1584. 0
2680 | iR | B B ERIR:! HHAMES RAHELR L] Al =53 1 1 806. 0 806. 0
2681 | iR | B B ARYUH HHAMES RAHELR 2 A ol A TR 6 1 806. 0 806. 0
2682 | iR | i & Ry HHAMNES FAEAR WM gl a I 2 1 806. 0 806. 0
2683 | T | Bl £ ARIUH LN TS RFHELR ERe ok 1 =578 73 6 6 3168. 0 3168. 0
2684 | MR | B B ARIUE N TS LAEAR wiltE ok =578 71 4 2 1056. 0 1056. 0
2685 | iR | B B ZRYUEH HHAMES RAHELR WA Al IR 1 1 806. 0 806. 0
2686 | iR | B B ARy HHAMNES LATEAR EZS2) g P 3 3 1584. 0 1584. 0
2687 | iR | B B ARy HHAMES RAHELR LS Al Bh=555h 1 1 528.0 528.0




2688 | iR | B B ZRYUH HHAMES AL AR N Al TR 2 2 1612.0 1612.0
2689 | iR | i B Ry HHAMES LAEAR WY g FRIR 2 1 528. 0 528. 0
2690 | iR | B B ERIR:! HHAMES RAHELR WK Al =555 1 1 806. 0 806. 0
2691 | T | Rl £ ARIUH N TS LAEAR 7K 1E ok =578 71 3 3 1584. 0 1584. 0
2692 | T | Bl £ YU N TS LAELR EEE ok 1 =578 73 2 2 1056. 0 1056. 0
2693 | MR | i B ERIR:! IEGESS RAHELR HHR Al =530 5 5 2640. 0 2640. 0
2694 | iR | B B ARYUH TG ESS RATEAR Wik Al =553 4 4 2112.0 2112.0
2695 | MR | R & Ry TGS FAEAR o2 EDE gl By 1 1 528. 0 528. 0
2696 | 2T | Bl £ ARIUH N 22 RFHLLR WAER ok 1 =558 73 3 3 1584. 0 1584. 0
2697 | R | BB ARIUE N 22 LAEAR 261W) ok 1 S 1 1 528.0 528. 0
2698 | iR | B B Ry ITGESS AL AR W Al 52 3 3 1584. 0 1584. 0
2699 | niET | B B ERIR: TN ZES LATEAR WG g BRI 1 1 528. 0 528. 0
2700 | iR | B B ARy IEGRESS RAHELR WEE Al Bh=555h 2 2 1056. 0 1056. 0
2701 | T | Bl £ ARIUE RS LAEAR AR ok S 5 5 2640. 0 2640. 0
2702 | T | Bl £ ARIUEH T 22 LAELR ERURs ok 1 =578 73 1 1 806. 0 806. 0
2703 | T | Bl £ ARIUE TN 22 LAELR Wit o ok =578 71 3 3 2418.0 2418. 0
2704 | R | B B ARYUH ITGESS RATEAR wilkE Al =557 4 4 2112.0 2112.0
2705 | iR | i B RYUH TGS RAEAR UE Al W= 1 1 528. 0 528. 0
2706 | T | Bl £ ARIUH T 22 LAELR A gk H TR 1 1 528. 0 528. 0
2707 | T | Bl £ ARIUE RS LAELR EZ ok 1 S 1 1 806. 0 806. 0
2708 | T | Rl £ ARIUH s 22 LAELR WD oR ok 1 =578 73 1 1 528. 0 528. 0
2709 [ iR | i B ARy TN ZES LAEAR EASY g Bk 1 1 806. 0 806. 0
2710 | R | B B ARy IEGESS AT AR EI ol A I 7 7 3696. 0 3696. 0
2711 | T | B B ARy RS LAELR EoE ok 1 S 2 2 1056. 0 1056. 0
2712 | T | Bl £ ARIUH N 22 REHELR KL ok 1 S 1 1 528. 0 528. 0
2713 | R | B B ARIUE RS LAEAR Wi ok S 3 1 528.0 528. 0
2714 | iR | B B ZRYUH ITGESS LATE AR B Al TR 3 3 1584. 0 1584. 0
2715 | iR | R B Ry TGS LATEAR LRERS gl a =N 1 1 528. 0 528. 0
2716 | R | i B ERIR:! WANES RAHELR LRI ol A R 5 5 2640. 0 2640. 0
2717 | R | Bl £ YU AN LAEAR AR Aok 1 S 8 8 4224.0 4224. 0
2718 | T | Bl £ YU AN LAELR 2T ok 1 S 6 6 3168. 0 3168. 0
2719 [ R | B B ERIR:! WANES RAHELR EADY ol BRI 5 5 2640. 0 2640. 0
2720 | iR | B B ARYUH AN ES FATEAR AR el =553 1 1 528. 0 528. 0
2721 | R | R B Ry WANES RAHELR PER gl a By 1 1 806. 0 806. 0
2722 | iR | Bl E JRYUE AN RFHELR o2 ok 1 =578 73 5 5 2640. 0 2640. 0
2723 | WE | BB ARIUE AN LAEAR W HEE ok =578 71 1 1 528.0 528. 0
2724 | iR | B B ZRYUEH AN ES AL AR W R Al TR 1 1 806. 0 806. 0
2725 | MR | B B ARy WANES RAHEAR B gl 0 =55 1 1 806. 0 806. 0
2726 | R | B B ARy WANES RAHELR Nk Al Bh=555h 3 1 806. 0 806. 0




2727 | iR | B B ZRYUH AN ES AL AR R Al i BRZ 581 1 1 528. 0 528. 0
2728 | iR | i B Ry WANES LAEAR W gl a W= 1 1 528. 0 528. 0
2729 | R | i B ERIR:! AN ES RAHELR W Al =555 1 1 528.0 528.0
2730 | T | Bl £ ZRYUE AN LAEAR BRI Ak =578 71 4 4 2112.0 2112.0
2731 | T | Bl £ YU AN LAELR AN ok 1 S 4 4 2112.0 2112.0
2732 | iR | B B ERIR:! WANES RAHELR R ol Bk 2 2 1056. 0 1056. 0
2733 | iR | B B ARYUH AN ES RAHELR 2 H% Al =553 1 1 528. 0 528. 0
2734 [ Wi | R B Ry WANES FAEAR WA gl By 5 5 2640. 0 2640. 0
2735 | T | Bl £ JRYUE AN RFHLLR EZ A ok 1 =558 73 1 1 528. 0 528. 0
2736 | R | BB ARIUE AN LAEAR EgEN ok 1 =578 71 7 7 3696. 0 3696. 0
2737 | iR | i B Ry AN ES AL AR EZNN gl BRZ 58 3 3 1584. 0 1584. 0
2738 | iR | R B ERIR: WANES LATEAR WHIEE gl 0 W= 5 5 2640. 0 2640. 0
2739 | iR | B B ARYUH AN ES RATEAR 27K [ ol R 4 4 2112.0 2112.0
2740 | T | Bl £ ZRYUEER AN LAEAR wEEG ok Bh= 57571 3 3 2418.0 2418. 0
2741 | iR | Bl E JRYUE AN ZES LAELR WARHE ok 1 =578 73 2 2 1056. 0 1056. 0
2742 | R | Bl £ ARIUE AN LAELR Eras ok =578 71 5 5 2640. 0 2640. 0
2743 | iR | R B ARYUH WANES RATEAR =L Al =557 3 2 1612.0 1612.0
2744 | MR | R B RYUH WANES RAEAR WA Al W= 2 2 1056. 0 1056. 0
2745 | R | Bl E ARIUH AN LAELR TiE2 gk 1 TR 1 1 528. 0 528. 0
2746 | T | Bl £ ARIUE AN LAELR JAK ok 1 =578 71 1 1 806. 0 806. 0
2747 | iR | Bl E ARIUH AN LAELR 5 ok 1 S 4 4 2112.0 2112.0
2748 | MR | B B ARy KM ZES RAHELR B Kl a =55 3 3 2418.0 2418.0
2749 | R | B B ARy KM ZES RAHELR EE:! ol A R 6 5 2640. 0 2640. 0
2750 | T | BB ARy KM ZES LAELR WS ok 1 S 1 1 806. 0 806. 0
2751 | T | Bl £ ARIUH LRI REHELR EPN] ok 1 S 7 7 3696. 0 3696. 0
2752 | iR | B B ARIUE KM ZES LAEAR A ok =578 71 8 8 4224.0 4224. 0
2753 | iR | i B ZRYUH KM ZES RAHELR IR IR Al i BRZ 581 1 1 806. 0 806. 0
2754 | MR | B B ARy KM ES RAHELR W E R gl a =550 3 3 1584. 0 1584. 0
2755 | T | B B ERIR:! KM ZES RAHELR ERS Al Bh=555h 1 1 806. 0 806. 0
2756 | T | Bl £ YU KM ZES LAEAR WK Aok 1 =578 71 4 4 2112.0 2112.0
2757 | T | Bl £ ARIUH LRI LAELR R ok 1 =578 73 4 4 2112.0 2112.0
2758 | IR | B B ERIR:! KM ZES RAHELR EZ Al =53 1 1 806. 0 806. 0
2759 | MR | B B ARy KM ZES RAHELR R ol A Gy 3 3 1584. 0 1584. 0
2760 | iR | R B Ry KM ES FAEAR WY Al BRZ 58 4 4 3224.0 3224. 0
2761 | T | Bl E ARIUH LRI RFHELR AR ok 1 =578 73 5 5 2640. 0 2640. 0
2762 | R | BB ARIUE KM ZES LAEAR W% ok S 4 4 3224.0 3224. 0
2763 | R | i B ZRYUEH KM ZES AL AR EZijiE Al IR 2 1 806. 0 806. 0
2764 | iR | B B ARy KM ES LATEAR KR g BRI 5 5 2640. 0 2640. 0
2765 | R | B B ARy KM ZES RAHELR ¥ EiE Al Bh=555h 1 1 806. 0 806. 0




2766 | R | B ZRYUH KM ZES AL AR ERsS Al i BRZ 581 1 1 528. 0 528. 0
2767 | iR | R B Ry KM ZES LAEAR TR gl a W= 3 3 1584.0 1584.0
2768 | R | B B ERIR:! RN RS RAHELR AN ol A R 3 3 1584. 0 1584. 0
2769 | iR | R B ARIUH KM ZES LAEAR WERE ok =578 71 1 1 528.0 528. 0
2770 | T | Bl E ARIUH wONZES LAELR B2 RE ok 1 =578 73 3 3 1584. 0 1584. 0
2771 | iR | i B ERIR:! BONES RAHELR 2 H ol Bk 1 1 528.0 528.0
2772 | iR | B B ARy & OMNES RAHELR FZAR/S Al =553 1 1 528. 0 528. 0
2773 | Wi | B B Ry BONES FAEAR W REE gl By 1 1 528. 0 528. 0
2774 | Wi | Bl E JRYUE CIELESS RFHLLR SAKHT ok 1 S 5 1 528. 0 528. 0
2775 | iR | R ARIUE CIELESS LAEAR WIRR ok 1 =578 71 2 1 806. 0 806. 0
2776 | iR | B B Ry B ONES AL AR EALE] Al BRZ 58 1 1 528. 0 528. 0
2777 | Wi | B B ERIR: BOMNES LATEAR 2RI gl 0 W= 1 1 528. 0 528. 0
2778 | iR | B B ARy BONES RAHELR il Al Bh=555h 1 1 528.0 528.0
2779 | T | Bl £ ZRYUEER CIELESS LAEAR PRE ok Bh= 57571 3 3 2418.0 2418. 0
2780 | T | Bl £ JRYUE CIELESS LAELR E i ok 1 g 7 7 3696. 0 3696. 0
2781 | iR | R E ARIUE BOMNES LAELR EEIL ok S 9 9 4752.0 4752.0
2782 | MR | B B ARy & OMNES RATEAR EZe ol A IR 1 1 528. 0 528. 0
2783 | MR | i B ARy BOMNES RAEAR VT gl Bk 3 1 806. 0 806. 0
2784 | i | i E ARIUH BONZES LAELR WK gk 1 =578 73 3 3 1584. 0 1584. 0
2785 | T | Bl £ ZRYUEE CIELESS LAELR 827K ok 1 S 6 6 3168.0 3168. 0
2786 | T | Rl £ YU Gl ESS LAELR ER ok 1 =578 73 1 1 528. 0 528. 0
2787 | MR | B B ARy B HONES RAHELR BifEe Kl a =55 1 1 528.0 528.0
2788 | R | B B ARy & OMNES AT AR fSVEG] Al Bh=553h 7 7 3696. 0 3696. 0
2789 | T | Bl £ ARy CIELESS LAELR TRBEYE ok 1 BhR= 57871 4 4 2112.0 2112.0
2790 | T | Bl £ JRYUE WM ZS REHELR RS ok 1 =555 73 1 1 528. 0 528. 0
2791 | iR | R B ARIUE WM B S LAEAR LA ok S 9 6 3168.0 3168. 0
2792 | iR | B B ARy WA T2 RAHELR FERIL Al TR 2 2 1056. 0 1056. 0
2793 [ MR | R B ARy WINZES LATEAR AR gl a =N 1 1 528. 0 528. 0
2794 | R | B B ERIR:! NS RAHELR 52tk Al Bh=555h 3 3 1584. 0 1584. 0
2795 | T | Bl £ ZRYUEE WM B S LAEAR Ec Aok 1 S 4 4 2112.0 2112.0
2796 | T | Bl £ YU WM ZES LAELR EneS ok 1 =578 73 8 7 3696. 0 3696. 0
2797 [ iR | R B ERIR:! N RAHELR 52 R4 ol BRI 3 3 1584. 0 1584. 0
2798 | iR | B B ARy W2 FATEAR AR ol A TR 1 1 528. 0 528. 0
2799 [ MR | R B ARy WINZES FAEAR W gl a By 1 1 528. 0 528. 0
2800 | i | Bl & JRYUE WM ZS RFHELR IR ok 1 =578 73 1 1 528. 0 528. 0
2801 | iR | R B ARIUE WM Z S LAEAR EATE ok =578 71 2 2 1612.0 1612.0
2802 | iR | B B ARy WIS AL AR WATIR Al BRZ 581 8 8 4224. 0 4224. 0
2803 | MR | Bl B ARy WM ES LATEAR WK i Kl a =55 6 6 3168. 0 3168. 0
2804 | iR | B B ARy S RAHELR WEV Al Bh=555h 7 7 3696. 0 3696. 0




2805 | iR | B B ARy WA T2 RAHELR EAcEin Al i BRZ 581 4 4 2112.0 2112.0
2806 | iR | B B ARy WINZES LAEAR i gl a W= 1 1 528. 0 528. 0
2807 | iR | B B ERIR:! S RAHELR WER Al =555 7 7 3696. 0 3696. 0
2808 | Ui | Bl £ ZRYUE WM B S LAEAR WA ok =578 71 3 3 1584. 0 1584. 0
2809 | i | Bl £ YU WM ZES LAELR REM ok 1 =578 73 3 3 1584. 0 1584. 0
2810 | iR | B B ERIR:! i N RAHELR N Al =530 3 3 1584. 0 1584. 0
2811 | iR | B B ARYUH i TS RATEAR T HEM Al =553 3 3 1584. 0 1584.0
2812 | iR | B B Ry RS FAEAR EAES Al BRZ 58N 2 2 1056. 0 1056. 0
2813 | i | Bl & ARIUH N 2 RFHLLR AL ok 1 =558 73 1 1 806. 0 806. 0
2814 | R | B B ARIUE PNz LAEAR ESEN ok 1 =578 71 1 1 528.0 528. 0
2815 | iR | B B Ry TS AL AR Eis Al IR 1 1 806. 0 806. 0
2816 | iR | i & ERIR: L R LATEAR WHLR g BRI 1 1 528. 0 528. 0
2817 | nlE T | Bl B ARy L N RAHELR AR ol =552 3 3 2418. 0 2418. 0
2818 | i | Bl £ ARIUE N LAEAR WA ok Bh= 57571 6 6 3168.0 3168. 0
2819 | i | Bl £ ARIUEH RN 22 LAELR WG ok 1 =578 73 4 4 2112.0 2112.0
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3068 | Al | B B i PHUNZES | RAMEAR Bl il a =580 5 5 2640. 0 2640. 0
3069 | T | Rl £ M PRI ZS | RAEER B ok 1 =578 73 6 6 3168. 0 3168. 0
3070 | bR | B & I THENZES | RAMEAR GRS Al =53 1 1 528.0 528.0
3071 | iR | B B I KHNZES RAHELR eSS ol A TR 4 4 2112.0 2112.0
3072 | iR | B B I KHMNES FAEAR B i A Al BRZ 58 1 1 528. 0 528. 0
3073 | T | Bl & Fg ST KHNZES RFHELR Pt ok 1 =578 73 7 7 3696. 0 3696. 0
3074 [ iR | R E M KHNZES LAEAR AN ok =578 71 5 1 528.0 528. 0
3075 | iR | B B I MEMNES RAHELR [ AU Al BRZ 581 1 1 528. 0 528. 0
3076 | iR | i B i MENES LATEAR B gl 0 W= 3 3 1584. 0 1584. 0
3077 | iR | B B I MENES RATEAR B Al Bh=555h 4 4 2112.0 2112.0




3078 | iR | B B I MENES RAHELR T HMN Al TR 1 1 528. 0 528. 0
3079 [ iR | B B I MENES LAEAR B g FRIR 1 1 528. 0 528. 0
3080 | iR | By B I MEMNES RAHELR kit Al =555 8 8 4224. 0 4224. 0
3081 | T | R £ M MENZES LAEAR i ok S 1 1 528.0 528. 0
3082 | T | Rl £ M MENZES LAELR 2t ok 1 g5 6 6 4836. 0 4836. 0
3083 | @ | B & I MENES RAHELR T LR Al =530 1 1 528.0 528.0
3084 | iR | B B I MEMNES RAHELR Fyt= Al =553 4 4 2112.0 2112.0
3085 [ iR | B B I MENES FAEAR Tyt Al BRZ 58N 3 3 1584. 0 1584. 0
3086 | i | Rl £ rg I B RFHLLR Pt ok 1 S 2 2 1056. 0 1056. 0
3087 | i | B £ M MENZES LAEAR B ok 1 =578 71 3 3 1584. 0 1584. 0
3088 | iR | B B I MEMNES RAHELR P& Al BRZ 58 5 5 2640. 0 2640. 0
3089 [ iR | B B I MEMNES LATEAR BRI gl 0 W= 3 3 1584. 0 1584. 0
3090 | lE T | B & I MENES RAHELR B 5k Al Bh=555h 7 7 3696. 0 3696. 0
3091 | T | Bl £ M MENES LAEAR DR ok Bh= 57571 3 3 1584. 0 1584. 0
3092 | T | Bl £ I MENZES LAELR B ok 1 =578 73 5 5 2640. 0 2640. 0
3093 | T | B £ M JE MENZES LAELR B2 ok S 1 1 528.0 528. 0
3094 | iR | B B I MENES RATEAR T ROB Al =557 1 1 528. 0 528. 0
3095 [ iR | B B I MEMNES RAEAR Tk gl IR 6 6 3168. 0 3168. 0
3096 | T | Bl £ M MENZES LAELR B gk 1 =578 73 3 3 1584. 0 1584. 0
3097 | T | Bl £ I MENZES LAELR SZES ok 1 S 3 3 1584. 0 1584. 0
3098 [ i | B E M FERIN 2 LAELR MR TG ok 1 =578 73 3 3 1584. 0 1584. 0
3099 | iR | B B T RN ZES AR AR AP FLL el HAh 4 4 2112.0 2112.0
3100 | alE T | Bl B L RN ES RAHELR X T+ ol A =552 2 2 1056. 0 1056. 0
3101 | Al | R & i RN ZES RIHEAR Bl BRI ol B 1 1 528.0 528.0
3102 | T | Bl & JA] FH 4R BEARNES REHELR E ok 1 S 1 1 528. 0 528. 0
3103 [ iR | R B JA] FH 4 BEANES LAEAR % ok =578 71 1 1 528.0 528. 0
3104 | R | BB I FH RN ES RAHELR ek Al TR 5 1 528. 0 528. 0
3105 |yl | B B I FH WA ES LATEAR el gl BRI 5 5 2640. 0 2640. 0
3106 | iR | B B I FH ENES RAHELR TR Al Bh=555h 3 3 1584. 0 1584. 0
3107 [ iR | R B 7] P A AN 2 LAEAR B Aok 1 HAth 2 1 528.0 528. 0
3108 | il | B 7] FH 4R NS LAELR kit ok 1 S 1 1 528. 0 528. 0
3109 [ iR | B B I H 4 KBS RAHELR [t ol Bk 1 1 528.0 528.0
3110 | iR | B B I 4 HIPM TS RAHELR [ ol A i 1 1 806. 0 806. 0
3111 | R | B B T 4 HIMES FAEAR Mrti Al BRZ 58 2 2 1612.0 1612.0
3112 | T | Rl & JA] [ 4 YIOMNZES RFHELR iR ok 1 S 1 1 528. 0 528. 0
3113 [ i | R B 7] [ A4 KENZES LAEAR S ok S 8 1 528.0 528. 0
3114 | iR | B B 7] 4 LTS AL AR B *id Al 52 1 1 528. 0 528. 0
3115 | R | B B I 4 W Es LATEAR Bk g b 1 1 528. 0 528. 0
3116 | R | B B 7] 4 W Es RAHELR BFT ol A R 1 1 528.0 528.0




3117 | AR | B B KB MRS RAHELR A Al i BRZ 581 4 4 2112.0 2112.0
3118 | nlE T | B B KIEH PierEs LAEAR JkI g FRIR 2 2 1056. 0 1056. 0
3119 | R | B B KB P ES RAHELR J*E ol A R 1 1 528.0 528.0
3120 [ iR | R B KIEH PN ZEs LAEAR % ok S 1 1 528.0 528. 0
3121 | T | Bl £ KB BN LAELR e ok 1 g5 5 5 2640. 0 2640. 0
3122 | MR | & KB BN ES RAHELR Rk Al =530 3 2 1056. 0 1056. 0
3123 | alE T | B B KB KEMES RATEAR Bl Al =553 1 1 528. 0 528. 0
3124 | AR | B B KIEH KEMNES FAEAR Bk gl I 2 2 1612.0 1612.0
3125 | T | Bl & S MENZS RFHLLR FExI ok 1 S 4 2 1056. 0 1056. 0
3126 | T | Bl £ IR B MRS LAEAR Wit ok 1 S 1 1 528.0 528. 0
3127 | R | B B KIS HANES AL AR @x Al TR 2 2 1056. 0 1056. 0
3128 | MR | B B KIEH HANES LATEAR WrE Kl a =55 3 2 1056. 0 1056. 0
3129 | iR | B B KB HHANES RAHELR Bt Al Bh=555h 1 1 806. 0 806. 0
3130 | T | Bl £ I 114 SIINZES LAEAR B ok oAt 2 2 1056. 0 1056. 0
3131 | i | B I 4 XN ZE 2 LAELR el ok 1 S 3 3 1584. 0 1584. 0
3132 | T | Bl £ g KN ZE2 LAELR S ok HoAth 1 1 528.0 528. 0
3133 | T | B B I RN RAHELR gt Al =557 1 1 528. 0 528. 0
3134 | iR | B B I 48 A RS RAEAR Jex Bt gl i 1 1 528. 0 528. 0
3135 | T | Bl £ g RN RS LAELR ek gk 1 HAh 3 2 1056. 0 1056. 0
3136 [ i | R I 114 RN ZE 2 LAELR K B Ak H HAth 3 3 1584. 0 1584. 0
3137 [l | i I 14 LENES LAELR ForE ok 1 S 2 2 1056. 0 1056. 0
3138 | MR | B B ] 14 ZEMNES LAEAR bR Kl a i 2 2 1056. 0 1056. 0
3139 | nlE T | Bl B ] 14 ZEMNES RAHELR ekl ol A i 2 2 1056. 0 1056. 0
3140 | R | B B b mEs WONZES LAELR WK B IK ok 1 S 1 1 528.0 528. 0
3141 | AR | Bl B ] 148 =M ZES RAHELR ity Rl At 2 2 1056. 0 1056. 0
3142 | iR | R I 14 By S LAEAR e E ok =578 71 3 3 1584. 0 1584.0
3143 | iR | B B I 14 B RAHELR ki Al TR 5 1 528. 0 528. 0
3144 | iR | BB I 14 e &S LATEAR IR gl a =N 1 1 528. 0 528. 0
3145 | iR | B B ] 14 LSS RAHELR ESaii Al Bh=555h 1 1 528.0 528.0
3146 | iR | R B I 114 I Z 2 LAEAR e BE Aok 1 S 1 1 528.0 528. 0
3147 [ i | R I 40 b 22 LAELR P ok 1 HAh 3 3 1584. 0 1584. 0
3148 [ iR | i B B 4 MRS RAHELR [HIESES ol R 1 1 528.0 528.0
3149 | iR | B B B FH Jk A Z o RAHELR X ol A PR 1 1 528. 0 528. 0
3150 [ iR | B B B FH I 25 2 FAEAR Xijx 5 gl a By 1 1 528. 0 528. 0
3151 | T | Bl & BT A TENES RFHELR el ok 1 =578 73 2 2 1612. 0 1612.0
3152 | T | Bl £ B A HOb 22 LAEAR FEx%R ok S 1 1 528.0 528. 0
3153 | iR | B B B FH DA 22 RAHELR I g BRZ 581 2 2 1056. 0 1056. 0
3154 [ iR | i B B ZHMNES LATEAR x g I 1 1 528. 0 528. 0
3155 | iR | B B B 4 eSS RAHELR I ol A R 3 3 1584. 0 1584. 0




3156 | iR | B & B FH N RAHELR X[ Al TR 1 1 528. 0 528. 0
3157 [ iR | B B B FH N LAEAR FAIEDYN gl a W= 1 1 528. 0 528. 0
3158 | IR | B B B 4 N RAHELR BB ol A Bk 1 1 528.0 528.0
3159 | E T | Rl £ BT HH A b 2 LAEAR 4% ok S 1 1 528.0 528. 0
3160 | T | Rl £ BT A PO 22 LAELR SRS ok 1 g5 1 1 528. 0 528. 0
3161 | b | & B 4 MBS RAHELR AR ol Bk 1 1 528.0 528.0
3162 | R | B B F3r BEREMNES RAHELR i ol A TR 1 1 528. 0 528. 0
3163 | AR | B B ot BENES FAEAR Tk #x gl By 1 1 528. 0 528. 0
3164 | T | Bl & i PENZES RFHLLR I ok 1 =558 73 1 1 528. 0 528. 0
3165 | T | Bl £ i WA %2 LAEAR s ok 1 =578 71 1 1 528.0 528. 0
3166 | alE T | B B o YN ES RAHELR Liksis Al TR 1 1 528. 0 528. 0
3167 | AR | B B ot SN ES LATEAR FexF g BRI 1 1 528. 0 528. 0
3168 | iR | B B [ a! RoMNES RAHELR XIJ{5 ol R 1 1 528. 0 528.0
3169 | T | Rl £ i BN ZES LAEAR Lk ok S 1 1 528.0 528. 0
3170 | T | Bl £ IR A RRPER 22 LAELR Px ok 1 =578 73 1 1 528. 0 528. 0
3171 | iR | R B IR RRHF 22 LAELR il el HoAth 3 3 1584. 0 1584. 0
3172 | AR | B B WRIR HEMN B RAHELR Ik ol A IR 2 2 1056. 0 1056. 0
3173 | MR | B B IR HEMNES RAEAR I gl IR 1 1 528. 0 528. 0
3174 [ iR | R E IRIR IERNZES LAELR ki gk 1 =578 73 1 1 528. 0 528. 0
3175 [ iR | R B IR A NS LAELR ke ok 1 S 1 1 528.0 528. 0
3176 | i | i IR A EHINES LAELR A ok 1 g5 1 1 528. 0 528. 0
3177 [ iR | B B ARy KM ZES LAEAR Y g P 1 1 528. 0 528.0
3178 | iR | B B ARy KM ZES RAHELR L Al Bh=553h 1 1 528. 0 528.0
3179 | MR | B B ARy wOMNZES LAELR ok ok 1 BhR= 57871 3 3 1584. 0 1584.0
3180 | i | Rl & JRYUE WM ZS REHELR Hs i ok 1 S 1 1 528. 0 528. 0
3181 | Ml | B B ARIUE KM ZE2 LAEAR ] ok =578 71 2 2 1056. 0 1056. 0
3182 | iR | B B ZRYUH S RAHELR Ho Al Gy 1 1 528. 0 528.0
3183 [ iR | B B ARy FHNES LATEAR i gl BRI 1 1 528. 0 528. 0
3184 | iR | B B I U ESS RAHELR B+ Al Bh=555h 3 3 1584. 0 1584. 0
3185 | T | Rl £ T HEN TS LAEAR it Aok 1 S 4 4 2112.0 2112.0
3186 | T | Rl £ LAk AN Zs LAELR [ty ok 1 S 1 1 528. 0 528. 0
3187 [ iR | B B I KHNZES RAHELR Tt Al =53 1 1 528.0 528.0
3188 | iR | B B I MEMNES FATEAR LSS ol A PR 4 2 1056. 0 1056. 0




